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» Please check that this question paper contains 10 printed pages + 1 map.

* Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

 Please check that this question paper contains 26 questions.
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The question paper is divided into four sections. Section A,
Section B, Section C and Section D.

The question paper has 26 questions in all.

All questions are compulsory.
Marks are indicated against each question.

Questions from serial number 1 to 7 are very short answer type
questions. Each question carries 1 mark. Answers to these
should not exceed 30 words.




(vi) Questions from serial number 8 to 18 are 3 marks questions.
Answers of these questions should not exceed 80 words
each.

(vii) Questions from serial number 19 to 25 are 5 marks questions.
Answers of these questions should not exceed 100 words
each.

(viii) Question number 26 is a map question of 5 marks with two
parts — 26 A from History (2 marks) and 26 B from Geography
(3 marks). After completion, attach the map inside your answer-

book.
WUE-h
SECTION-A
1. 199 yramset & IR JAT | feleh &3 H IgRaTe 'q?rwwrﬁ%m
YT

A Tear & e frerra § HIARE! 3 dvrerm 6 e S

Interpret the concept of ‘liberalisation’ in the field of economic
sphere during the nineteenth century in Europe.

OR
Interpret the contribution of French in the economic development
of Mekong delta region. |

2. O H ETY ¥ DU h qhATR hd TR TS 7
HYar
gt wwiedl # SfgaTe WishA A Iu=IE il AR B AgH H FE
eI i 7
How had hand printing technology introduced in Japan?

OR
How had translation process of novels into regional languages
helped to spread their popularity?
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3. oS H atfa g - fefiet & fow 358 soert 87
HAYAT
Hite 3Em - et & forg S8 saer 27
How is over irrigation responsible for land degradation in Punjab?

OR
How is cement industry responsible for land degradation?

4. TSHifes &9 @ gET TR S AR GUR Hat R 511 Tehd 27

How can democratic reforms be carried out by political conscious
citizens ?

5. e grfior werEdl o foTe It o o wey # foehra s wied /)
el 27
JraT
TSITel o B SR o1 foemme o1 e a2 gehar 27

What may be a goal of landless rural labourers regarding their
income?

OR
What may be a goal of prosperous farmer of Punjab?

6. ‘WUt g ‘facdiaes &meni § far ey R

Distinguish between ‘primary’ and ‘secondary’ sectors.

7. S 31T IYTETAT 0T & side) 2o UL =t T 91 o 87

Why do banks or lenders demand collateral against loans?

Q|us-d"
SECTION-B

8. Hdiferyd i fedr i wiEfElt fre & sref &t 3 for wepr @ fomam
17 IETEN Hied AT i

HAAT
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o &t anféfer wmifq & oo Romdier i smenett < Seewl aftg
=TT hifsg|

How had Napoleonic code exported to the regions under French
control ? Explain with examples.

OR
Explain with examples the three barriers that are responsible to
economic growth in Vietnam.

9. It TSt ford YRR o1l § e fsd Tl 1 we el Icares o
817 3R Afed =are Hifve| 3x1=3
FraT
9 ° IeAgell @t % SR 3w R R @il % foe gear @
3ueTed &l T8 A7 ISTEWN Afed saredT hifvg)

How had the Imperial State in China been the major producer of
printed material for a long time? Explain with examples.

OR
How had novels been easily available to the masses in Europe
during nineteenth century? Explain with examples.

10. ‘&t e =g’ A foredl oy ferwanati s oot iR 3x1=3
HYAT
“wlie v g i el i g femensti =1 aofa i)
Describe any three main features of ‘Rabi crop season.’

OR
Describe any three main features of ‘Kharif crop season.’

11. “rd # foemer R wedt sEe e ) gelsar w1 afomm & wwdt
21" 59 %y w1 faveryw Aifs Ix1=3

“Water scarcity may be an outcome of large and growing
population in India.” Analyse the statement.

12. ‘Tl Sremaifer <wr o wmiires fafimanatt v stk 31 v gy o1a @

3R Ty ot 71 wadt 217 i Afed 39 e 1 gy Aifv) 3
rerar
E5E
&
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gt foTe TeHifa Y g e 8177 T e Y v iR

“The assertion of social diversities in a democratic country is very

normal and can be healthy.” Justify the statement with arguments.
OR .

“Social divisions affect politics.” Examine the statement.

13. “'9Rd H AW % 91 @ Afensit f fufy § $o guw gan 2, wy
3eft oft qgeui @ Hrhl S 817 39 e 1 fawdive Hifvw | 3x1=3

“Women still lag much behind men in India despite some
improvements since independence.” Analyse the statement.

14. 9 H THifoes el 1 5w wor e @ e o & w9 § aea
forereht 87 Iemewon witq =amen fifvm| 1+1%=3

How are political parties recognized as regional and national
parties in India? Explain with examples.

15. “‘waierw § firree % ufom wwie oft e dmnett @ e e w1
$9 HY I ~ATAET SeT | 3

“Consequences of environmental degradation do not respect
national or state boundaries.”’ Justify the statement.

16. WA # ‘qeliae &% Wecaqul 941 81 @1 87 Rl i ron i sqre
it 3
HAAT
feret @91 % Heoher wteg 3ee (SLEdh.) J w F R fifdre ageil
3T AT 1 T 5 Y R &7 Sereor wfia T i
Why is the ‘tertiary sector’ becoming important in India? Explain
any three reasons.
‘ OR
How do we count various goods and services for calculating Gross
Domestic Product (G.D.P.) of a country? Explain with example.

32/1/1 6



17. felen e & =eor 3 o=l Gdl & weea &1 aui i) 3x1=3
HYAn
ST 0 % Bl T FSERI T IS ATt L THE] 1 Jui FIRf)
Describe the importance of formal sources of credit in the
economic development.
OR
Describe the bad effects of informal sources of credit on borrowers.

18. I9wieht o ‘afogfd framor’ o srfererr 1 3w R TR 9 A
7 JaTeTr Higd samen Hif| 3

How can consumers use their ‘Right to Seek Redressal’? Explain
with example.

@Ue-T
SECTION-C
19. 1930 ¥ fren 2fordi = efia o vy’ & anfeq frar? sgh
Iuafedrt s guiq fifsm| 1+4=5
7T

“afe Ira e’ vee o qftfta Sifvte) ‘afimw g sieeH’
H i o e foRam e it wrwfirar &1 gl Sifsm|

Who had  organized the dalits into the ‘Depressed Classes
Association’ in 1930? Describe his achievements.

OR
Define the term ‘Civil Disobedience Movement.” Describe the
participation of rich and poor peasant communities in the ‘Civil
Disobedience Movement.’

20. ‘Iegell sraredt st o sreleTaen &1 ®9 74 FA § WRAT SR 3 U
W&ﬁmwﬁsﬁ[’wmmﬁsﬁwﬁﬁm 5x1=5
Jrerat
‘sfielf sraTedt o TEe qTeh e W H SR F1 WEY E geamal
1 =Ue H 311 gt o119 HUA A1 frgervor i

= EEE
O £iim
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HAAT

“smregfie et B STEeRT 3 Sl % TET T e Y9 STl 1
e o T dedf & 39 e ot foretwor shifsg|
“Indian trade had played a crucial role in the late nineteenth
century world economy.” Analyze the statement.

OR
“Series of changes affected the pattern of industrialization in India
by the early twentieth century.” Analyze the statement.

OR
“Industrialization had changed the form of urbanization in the
modern period.” Analyze the statement with special reference of
London.

21. wTE § 3an gaterer e ¥ fae frg yer R 27 3eEw
gfed Tz Shifse| 5x1=5

How are industries responsible for environmental degradation in
India? Explain with examples.

22. “‘qra § geF uiEed, Yo aiEed o e stfes glaasee 817 s
=t 3erE afed gie i) S5x1=5

“Roadways still have an edge over railways in India.” Support the
statement with examples.

23. feufd, sTehm afit wiefae deqell  SMuR W afesad 3 At i
fesrfe =t gemm shifsil 1+143=5
Jrora
Frrer =1 R 0 T STET? W €9 Yeford T sl g &
fafira eyt i =men FHiNg|

‘Compare the situation of Belgium and Sri Lanka considering their
location, size and cultural aspects.

OR
How is the idea of power sharing emerged? Explain different forms
that have common arrangements of power sharing.

32/1/1 8
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24. Rrdawr ok 39 EF & &9 § Aldite o9aedT & Hec $1 avid
Fifsr| 5x1=5

Describe the importance of democratic government as an
accountable and legitimate government.

25. SEUSH SulAT 3cated % o e SR FR@™! i e fofere &
o & ot Tenfira et 87 forrel oife skl <ht s hifs| T8x1=5

Why do multinational corporations (MNCs) set up their offices and
factories in certain areas only? Explain any five reasons.

Qug-g (AHH 99)
SECTION-D (Map Question)
26. (A) 2 9T A 3R B T MU 9y & TeHifow Tar-wEtes # i
foru T ¥ | 39 @ A Feferfaa SEeRt i wEEar @ 9=
PR 3T Tt A AR i s Y w fiia- 1x2=2
(a) 9% T el AT T kg 1 Ay gl
(b) d€ TR &l SAfrataret s i 9T g5 |
(B) 7&ft fow Tu Wi o TsHifae Yar-amtes # Frafafed § @ fe
i = 3uges gl & aisy ofit 3k m forfaw: 1x3=3
() TFHAYFRH — AT el GIF
(i) TR - <frg ofit seuTd 993
(iii) ST - WAL TFATATSI qTeh
(iv) IREM - GH&l 9=
(v) GER G - 919
Me:  FrefaRaa we Feer giEarfem whenfeat & fog w7 @@ 26
© oA 1 fREl ater st I i - 1x5=5
(@) 38 Usa o A fafan stEt sfertaren an i we g
(i) 3@ Tsg 1 AW foafaw st st 3 T g drsl
(iif) 39 T 1 AW forftee st SR -= g wied gE |
(iv) 38 Tsg o1 am forfae st arrdi wE oo e 2|

= ELE
O #iim
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(A)

(B)

Note :

32/1/1

(v) 39 TsF 1 A fafau swf fsmam e o s g
fea Rl

(vi) 38 Ts¥ o1 9 fafaw s e diweam Siaist aeh
fem 2

(vii) EER U= &g forg 7t o s 27

Two features A and B are marked on the given political outline

map of India. Identify these features with the help of the

following information and write their correct names on the

lines marked near them.

(a) The place where the Indian National Congress Session
was held.

(b) The city where Jallianwalla Bagh incident took place.

Locate and label any three of the following with appropriate
symbols on the same given outline political map of India.
(i) Kalpakkam - Nuclear Power Plant

(ii) Vijayanagar - Iron and Steel Plant
(iii) Noida - Software Technology Park
(iv) Paradeep - Sea Port

(v) Sardar Sarovar - Dam

The following questions are for the Visually Impaired

Candidates only, in lieu of Q. No. 26. Attempt any five

questions.

(i)  Name the state where Jallianwalla Bagh incident took
place.

(i)  Name the state where Gandhiji violated the Salt Law.

(iii) Name the state where ‘Chauri-Chaura’ incident took
place.

‘(iv)  Name the state where Paradeep Sea Port is located.

y(v)  Name the state where Vijayanagar Iron and Steel Plant
is located.

(vi) Name the state where Noida Software Technology Park
is located.

(vii) On which river is Sardar Sarovar Dam constructed?

10
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* Please check that this question paper contains 10 printed pages + 1 map.

* Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

* Please check that this question paper contains 26 questions.

* Please write down the Serial Number of the question before attempting it.

* 15 minute time has been allotted to read this question paper. The question paper
will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will
read the question paper only and will not write any answer on the answer-book
during this period.
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I 80 F1531 @ 37ferF 7 TEl &7 AT |

(vii) F¥7 G&IT 19 3 25 7% JOF T 5 3 F1 8| 379 @ JA%F F57 HT
I 100 Y1551 8 37fer %7 781 811 T8 |

(viii) v G 26 FAIE S 5 3% FT 81 3qF & 9 & 26(4) R
26(B)1 26(A) 2 3% % 3fAerT & a9 26 (B) 3 37 &1 YT &
2/ mr7fr %7 5 qUf 81 T 38 379} JeR-YIeaHT & S e

General Instructions :

(i) The question paper is divided into four sections. Section A,
Section B, Section C and Section D.

(ii) The question paper has 26 questions in all.
(iii) All questions are compulsory.
(iv) Marks are indicated against each question.

(v). Questions from serial number 1 to 7 are very short answer type
questions. Each question carries 1 mark. Answers to these
should not exceed 30 words.

EI%EI
=
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(vi) Questions from serial number 8 to 18 are 3 marks questions.
Answers of these questions should not exceed 80 words
each.

(vii) Questions from serial number 19 to 25 are 5 marks questions.
Answers of these questions should not exceed 100 words
each.

(viii) Question number 26 is a mdp question of 5 marks with two
parts—26A from History (2 marks) and 26 B from Geography
(3 marks). After completion, attach the maps inside your
answer-book.
Qug—-<h
SECTION-A

1. ufrEe oo el ¥ R S e 3 e 3 R @ aE A
a8’ 1
HUAT
TSATel o TG e o forerTd o1 @18 oI 21 Tkl 27

What may be a goal of landless rural labourers regarding their
income?

OR

What may be a goal of prosperous farmer of Punjab?

2. ot ® afa g - ffientor % forg Fa seert 27 1
HAYAT
itz T v Fefreron 35 e 3 S 27
How is b\}er irrigation responsiblg for land degradation in Punjab?.

OR
How is cement industry responsible for land degradation?

= EEE
O £
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3. SO H g ¥ DU h A T §S 7
' T |
&g wwietl § argare wfwn 3 IuRmg fit drElEd H TaeH J
TR hl 7
How had hand printing technology introduced ih Japan?

OR

How had translation process of novels into regional languages
helped to spread their popularity?

4. AR g SeRa-Ie gar fohe weR foh s Hed 87

How can democratic reforms be carried out by movements?

5. 194 yaredl & SR U | N1iefe & H IeRaTe sl SATEAT shifeg|
JroraT |
Wepit Sear & o filen e 8§ wiEffet & Fnem i samen Hifsm)

Interpret the concept of ‘liberalisation” in the field of economic
sphere during the nineteenth century in Europe.

OR

Interpret the contribution of French in the economic development
of Mekong delta region.

6. ‘fidfas’ oft ‘qeftas’ &t o dira st ww AR

Distinguish between ‘secondary’ and ‘tertiary’ sectors.

{
7. ‘guds RUMYR o Hed T8 Hhifeu)

Explain the importance of ‘collateral.’

32/1/2 4
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T ue-g
SECTION-B

8. < TSTad foRE YRR @9 WU e Gfsd Rt 1 ged 981 IcdTesh S|l
@17 IaTET Hfgd AT Hifely| 3x1=3
AT
7y o Seheel ot & dRm v fRe weR @ o foe gerar @
Iuersy B R A7 I "itd Amen i)

How had the Imperial State in China been the major producer of
printed material for a long time? Explain with examples.

OR
How had novels been easily available to the masses in Europe
during nineteenth century? Explain with examples.

9. ‘Toit yrem g’ o el ofi7 g fasaTeti &1 aviE shife 3x1=3
HAAT
‘Gl ve kg < TR o g femianedi o1 i ehifs)
Describe any three main features of ‘Rabi crop season.’

OR
Describe any three main features of ‘Kharif crop season.’

10. “ferE ) fear s wied Fremor & eefi &= § fore v o feman
TT? IETEI Wied SATEAT ity | 3x1=3
: SPC
forream &t onifdfer ynifa & forg fSier i ameneti it e fed
T iU

How had Napoleonic code exported to the regions under French
control ? Explain with examples.

OR
Explain with examples the three barriers that are responsible to
economic growth in Vietnam.

= EEE
O LidE
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11. ‘Jui-STe1 GUEY o Hecd o fagaiwor Hifsw | 3

Analyse the importance of ‘rainwater harvesting.’

12. 39Al o9 ‘afayfd famor & sfter 1 3w frg yor = T
&7 IeTe wigd s A 3

How can consumers use their ‘Right to Seek Redressal’? Explain
with example.

13. riefen foenma o sor o Mol Hidl & Weed 1 9l HiR| 3x1=3
- HUAT
HAITTIE 0T o I o1 heiaRl W U aTel 9t Tt %1 guid Hifsa
Describe the importance of formal sources of credit in the
economic development.

OR
Describe the bad effects of informal sources of credit on borrowers.

14. ‘TSHIfah g’ & o et (seent) i sqmen $ifvm| 3x1=3

Explain the three components of ‘political party.’

15. WA ¥ ‘qel1ah & Teeaqul 1 8 1 87 Fordl ot st ht s
it 3
AT
forelt 2w o wohet W] Ieare (SR.A W) I FA & forg Rfg awgei
I el 31 U1 89 HA i & 7 It afd wE IR

Why is the ‘tertiary sector’ becoming important in India? Explain
-any three reasons.

: OR

How do we count various goods and services for calculating Gross
Domestic Product (G.D.P.) of a country? Explain with example.

32/1/2 6



16. “‘wafeor # fiae & uftm g ot usy dmredt @1 e 98w |
3 A ! —ATTET ST | 3

“Consequences of environmental degradation do not respect
national or state boundaries.’’ Justify the statement.

17. “‘forelt Snepaifres w1 # graTforen fafsmarett o St &1 weh wm= o@rd 2
3R Ty oft € werdll 81 deh |igd 38 S s gfY i) 3
37T
“grarfsres forvrem Terifa s wTfad od €177 39 e R gwE i

“The assertion of social diversities in a democratic country is very

normal and can be healthy.” Justify the statement with arguments.
OR

“Social divisions affect politics.” Examine the statement.

18. “‘9Rd H el o W1E @ "fieenedi i fufa § Fw guw gen B, W
¥t +ft geui © w1kl S 817 38 e o fovermor hifs | 3x1=3 "

“Women . still lag much behind men in India despite some
improvements since independence.” Analyse the statement.

Qug-1
SECTION-C
19. Tl varsel it fava qefereen o 9 99 i H AT SF9R 3 T
areH vifive a1e1 ) oft | 38 e farvero Hifvg) 5x1=5
Tt
‘Seet yraTedt % UES 3T d%h WRA | SR o1 W& 3 SecmEl
61 =Ue § 71 Foh! 911’ §9 YA o1 faveror hifs|
Jrorar
‘e e § ST Y YR % R T e N St 21
e o foeiy gy # 39 sed = favemor Hifs

“Indian trade had played a crucial role in the late nineteenth
century world economy.” Analyze the statement.

OR
“Series of changes affected the pattern of industrialization in India
by the early twentieth century.” Analyze the statement.

—EEE
O £
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OR
“Industrialization had changed the form of urbanization in the
modern period.” Analyze the statement with special reference of
London.

20. 1930 § frmy =fordt =t ‘g ot wafoaea’ & wnfea frn? 3R
- IufeREl hT Ui ShifeT| 1+4=5
ST
“GfyTg S7aS iEeH YTeE w1 g ISy ‘afema stam iEe
§ o7 off e foRaT wgerEt it wrwifitar & aviF Hifsm)

Who had organized the dalits into the ‘Depressed Classes
Association’ in 1930? Describe his achievements.
OR
Define the term ‘Civil Disobedience Movement.” Describe the
participation of rich and poor peasant communities in the ‘Civil
* Disobedience Movement.’

21. ieiifie aftafy & fou weErh el ufe e it Semwn afed
e i | S5x1=5

Explain with examples any five factors that are responsible for

industrial location.

22. oufa, oem ofit witepiae Teqel & MUR W fcsad 3R et Al
ferfa Y qen hifs| 1+1+3=5
e
e o e e STET? g &Y 8 eiod S st JEien]
fafirs weal it e i)

Compare the situation of Belgium and Sri Lanka considering their
location, size and cultural aspects.

OR
How is the idea of power sharing emerged? Explain different forms
that have common arrangements of power sharing.

32/1/2 8



23. “‘9rd ¥ gew ufEE, iamﬁaﬁmwﬁmgﬁm%l” HYA
! 3TN Fled grE hik| 5x1=5

“Roadways still have an edge over railways in India.” Support the
statement with examples.

24. WA o foheal gie qiOTTHET A1 g s | S5x1=5
Describe any five outcomes of democracy.
25. SFelteRT o Tehegl e SuTal ot Ta hifTe | Sx1=5

Explain any five effects of globalization.

Qug-u (FH 99)
SECTION-D (Map Question)

26. (A) & @& A 3R B R MU yra F vl ar-amtm § sifed
fore U §1 3 @eon ol Fefefad S B wrEda @ ggEntie :
3R 37 Tt T wfs Wi 78 et w fafa- 1x2=2
(a) o8 TN ST WRATE UL HE 1 ARy gem|
(b) =€ TR SET SHferaterer ST i Tl gl
(B) i fw mq wRa % T Yar-wm # frafafea § & R
19 =l 3wk gl & quTiey 3 39 m fafgu: 1x3=3
(i) eTIeRyT ~ 3TfUeeh Soll GO
(ii) fasR - <ie IR swra g9
(iii) ST - HIFAR T ok
(iv) IRIEY - et g9
(v) ¥ER T - iy
Ae:  Frefefed e e gtetia wheffat % foe s de 26 %
T R foheelf witer a1 ST ST - IX5=S
() 39T % T ot sret sifersfaren m st e g6
(i) 38 TF 1 AW foaRau sEf miefsht 3 Twe S’ dren
(ili) 39 TF =1 AW forfaw siEt =-=’ we afea gl
(iv) 39 U7 o1 A fofae sret unrdt T ue fea R
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(A)

(B)

Note :

32/1/2

(v) 38TsT % T fafae sl faspmm der ofit 3o @97 fea

2

(vi) 39 TS %1 aW fafae ST Aver diwedat it 9
fera 21

(vii) TR U sy forg 7t e 87

Two features A and B are marked on the given political outline

map of India. Identify these features with the help of the

following information and write their correct names on the

lines marked near them.

(a) The place where the Indian National Congress Session
was held.

(b) The city where Jallianwalla Bagh incident took place.

Locate and label any three of the following with appropriate
symbols on the same given outline political map of India.
(i) Kalpakkam - Nuclear Power Plant

(ii) Vijayanagar - Iron and Steel Plant
(iii) Noida - Software Technology Park
(iv) Paradeep - Sea Port

(v) Sardar Sarovar - Dam

The following questions are for the Visually Impaired
Candidates only, in lieu of Q. No. 26. Attempt any five
questions.

(i) Name the state where Jallianwalla Bagh incident took
place.
(il) Name the state where Gandhiji violated the Salt Law.

(ili) Name the state where ‘Chauri-Chaura’ incident took
place.

(iv) Name the state where Paradeep Sea Port is located.

(v) Name the state where Vijayanagar Iron and Steel Plant
is located.

(vi) Name the state where Noida Software Technology Park
is located.

(vii) On which river is Sardar Sarovar Dam constructed?

10
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qraT=y [3397:

(i) 39 ¥7-97 ¥ aR @Sl 7 favifsra 13371 797 8; @ve &, @vs @,
GvE T 3R GUE q/
(ii) 39 J¥7-Y7 5 37 26 T8 |
(iii) Gt 3¥7 arfAard 8/
(iv) Fed% Y97 & 37 3G% G 130 71T &)
(v) Y97 G&I7 1 8 7 T 3 TG-I707 97 &) I J97 1 3% F 8|
§74 @ gl 39 1 IR 30 F155) & 374 F1 78] 817 <o |
(vi) 59 G&IT 8 @ 18 TF I9F Y97 3 3% #1 8| 377 @ Y% Fv7 F1
I 80 1551 @ e F1 Tg1 &I AT/
(vii) 97 G&IT 19 T 25 T J9F J97 5 3 #1 & | 379 & Fedah 7 &
IR 100 Y1551 @ 3ifere: 7 78 &1 =3Y |
(viii) Y7 G&IT 26 AT F97 5 3% F1 8| 39% @ 91T & 26(A) 3K
26(B)1 26(A) 2 37% F7 glaera & a=7 26 (B) 3 3% & YT &
81 T 7 397 QUf 517 T 38 3771 IT-YIKAFHT & 37aT e F
General Instructions :

(i) The question paper is divided into four sections; Section A,
Section B, Section C and Section D.

(ii) The question paper has 26 questions in all.

(iii) All questions are compulsory.
(iv) Marks are indicated against each question.

(v) Questions from serial number 1 to 7 are very short answer type
uestions. Each question carries 1 mark. Answers to these
should not exceed 30 words.

(vi) Questions from serial number 8 to 18 are 3 marks questions.

32/1/3

Answers of these questions should not exceed 80 words
each.



(vii) Questions from serial number 19 to 25 are 5 marks questions.
Answers of these questions should not exceed 100 words

each.

(viii) Question number 26 is a map question of 5 marks with tw

o

parts— 26A from History (2 marks) and 26 B from Geography
(3 marks). After completion, attach the maps inside your

answer-book.

WUE-&
SECTION-A

ST & §1 & SIS ol qohei1eh il TR G357
HAAAT
- &l srwredl # ergae ufshan 3 SuE Al AwE F SR #
Gl i ¢
How had hand printing technology introduced in Japan?

OR
How had translation process of novels into regional languages
helped to spread their popularity?

194t SrefTed o 0 A9 & S & | “Ianare’ shi e i
atera
WeRNT Seal & & TTeien forehmd § Siefeal & AT h STea hifs|

Interpret the concept of ‘liberalisation’ in the field of economic
sphere during the nineteenth century in Europe.

OR
Interpret the contribution of French in the economic development
of Mekong delta region.

wfirEia arefior HeTgll % fore IRt o1y o wee # foehta 1 T @e 8
C A

T
USTTs o TG fereT o1 fershmer ot w1t o B Teha 7

32/1/3 3
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What may be a goal of landless rural labourers regarding their
income?

' OR
What may be a goal of prosperous farmer of Punjab?

4. TSHITG 391 G SAeheifeh GHR fhe YR e ST e €7 1

How can democratic reforms be carried out by political parties?

5. uste | 3f s y-frefieor & foe S soerh 27 1
HYAT
Hitie 3am - frefieor & foe @ swerh 27
How is over irrigation responsible for land degradation in Punjab?

OR
How is cement industry responsible for land degradation?

6. ‘Wufe R ‘Fefiuen’ @l # v ww v 1

Distinguish between ‘primary’ and ‘tertiary” sectors.

7. WA | ST &5k ST 1 e T8 I | 1

Explain the importance of formal sector loans in India.

Qus-"
SECTION-B

8. ‘et v g i ot i vy fosiaradt @ aviy i) 3x1=3
HAAT
Tl v g i ol i g farsened s gt i
Describe any three main features of ‘Rabi crop season.’
; OR :
Describe any three main features of ‘Kharif crop season.’
|

9. Afer i e i wrefteft e % srefia i & for wopm oy foeat

Y TR Ffga sqTEd i) 3x1=3
3Tt
10
o]
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foraam Y anffss v 3 fore Rmer 9 srared 6 serwm gfig
RS HISU

How had Napoleonic code exported to the regions under French

control ? Explain with examples.
' OR

Explain with examples the three barriers that are responsible to

economic growth in Vietnam.

10. =it TSI fohe TR 9 99 % gisd Tl 1 Geld 92 Icq1Eeh o
@17 ISR Hied e shifsu | 3x1=3
arora
79 Fefe Tt & AN ST R e |t % foae gesr @
IqsY Bl T A7 IaTewn wfed sHmen A

How had the Imperial State in China been the major producer of
printed material for a long time? Explain with examples.

OR
How had novels been easily available to the masses in Europe
during nineteenth century? Explain with examples.

11. ‘S gAwan % 9T a1 fergersor ifsg : 3x1=3

Analyse the impact of ‘water scarcity.’

12. “‘“waferer ¥ fimee & gitom e ok a5 danett #1 wae w2 v @
3G Y I ATIETT SEULT | 3

“Consequences of environmental degradation do not respect
national or state boundaries.”” Justify the statement.

13. 9Rd # ‘qeliash & weaqul w1 8 Wi 87 et o ot Y s
hife | 3

ot <w1 o weoher e 3eng (SRLEf) I w0 & o fafy agatt
SR HaTedt it TUHT B HH a8 7 IS Fied T IR

32/1/3 | 5 [P.T.O.




Why is the ‘tertiary sector’ becoming important in India? Explain
any three reasons.

OR
How do we count various goods and services for calculating Gross
Domestic Product (G.D.P.) of a country? Explain with example.

14. Mﬁmﬁ%%mWﬁmﬁml 3x1=3

Explain any three functions of opposition political parties.

15. S ST ‘afufd Fam’ % s w5 e R S
&7 JaTet wfed smen Hifv 3

How can consumers use their ‘Right to Seek Redressal’? Explain
with example.

16. “ﬁmﬁhwﬁm%mﬁmmﬁﬁmaﬁwaﬁémwmm%
aﬂtwnﬁﬁrm%l”aﬁa%ﬂwmmaﬁgﬁzﬁﬁm 3
T
“mﬁmﬁwmﬂﬁfaﬁwmﬁam%l”wm?ﬁwﬁﬁm

“The assertion of social diversities in a democratic country is very

normal and can be healthy.” Justify the statement with arguments.
OR

“Social divisions affect politics.” Examine the statement.

17. "o # STt % e @ Aivensit R § g guw gen 2, T
it st geul & Hrh oD ¥ v o v e i | 3x1=3

“Women still lag much behind men in India despite some
improvements since independence.” Analyse the statement.

18. Jnrfsier forhrer # o1 3 it Bl 3 He it avh A 3x1=3
| arera
Wm%@ﬁwmﬁm@mﬁﬁmwaﬁﬁﬁql

S

32/1/3 6



Describe the importance of formal sources of credit in the

economic development. :
OR

Describe the bad effects of informal sources of credit on borrowers.

TUE-T
SECTION-C
19. ““9Ra # TS ied, Tol YiEed s 3TUar Ao Glaersis 81’ e
= Ierewn wfga giE FHifw) 5x1=5

“Roadways still have an edge over railways in India.” Support the
statement with examples.

20. fefa, maﬂiwﬁﬁmq@aﬁ%mmméﬁwﬁmﬂmﬁ
fearfa it qen sl 1+1+3=5
T
TTRET o fora 8 A STET? g &9 9 Seford G Y areier
fafirm et &t samen i)

Compare the situation of Belgium and Sri Lanka considering their
location, size and cultural aspects.

OR
How is the idea of power sharing emerged? Explain different forms
that have common arrangements of power sharing.

21. ‘TR SGEU o Uid YeRI shi SATEAT hIf| 5x1=5

Explain five types of ‘industrial pollution.’

22. 1930 ¥ frua efedi = ‘< ot weifrem’ @ onfsa fran? 3eht
IUGSRIAT T Ui hifeTT| 1+4=5
AT
‘gfea srag HeeH’ wse i afenfyg fifsw| afemg e e’
T ot o i foram et St wrwifirar 1 avia i)

= EEE
O £iim

32/1/3 7 [P




Who had organized the dalits into the ‘Depressed Classes
Association’ in 19302 Describe his achievements.

OR
Define the term ‘Civil Disobedience Movement.” Describe the
participation of rich and poor peasant communities in the ‘Civil
Disobedience Movement.’

23. ‘et yraredt Y favy anfwawwwaamﬁwmﬁuwﬁ@
HEH {Heh 3FeT 1 oft|” 9 o w5t Fverr Hifdr) Sxi=5

‘Wm%mmﬁmﬁmmwﬁm
1 =92 § 311 g o011’ 36 e it Rvew Dy
HYAT

‘afygfe et § SRR 3 Eehon 3 T 0 e Yo wre )
e o o waed & 5@ s ot fweo Hif|
“Indian trade had played a crucial role in the late nineteenth
century world economy.” Analyze the statement.

OR
“Series of changes affected the pattern of industrialization in India
by the early twentieth century.” Analyze the statement.

OR
“Industrialization had changed the form of urbanization in the
modern period.” Analyze the statement with special reference of
London.

24. mwmﬁmﬁmammmwmﬁ
HTeh T FU HIffT| 5x1=5

Describe any five factors that make democracy is a better form of
goviernment than other alternatives.

25..%&&%#%%#%@%@@8@%%%
%ﬁwaﬂfﬁfméﬁﬁmﬁﬁﬁﬁagﬁmﬁﬁmﬁﬁm 5x1=5

2
[=] st
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Explain any five facilities available in the special economic zones
developed by the Central and State Governments to attract foreign
investment.

Que-v (AHRE 991)
SECTION-D (Map Question)

26. (A) @ @& A 3R B fiu mu wwd & veHifas er-nmf J sifed
for T ¥ 37 @Eit o fefeiad ST i gEE ¥ qEehy
3R 3% Tt A wEfE ) e 78 et W fafae- 1x2=2
(2) 9% T el WIS THT H1E HT A g
(b) € TR STEl Steratarer ST shi =eT g3
(B) zeft fou o v % v Yar-amte § frefafea & @ el
o =Y Sus forgl @ guTien 3t 3 A fafa: 1x3=3
(i) heraesh — U el 997 6
(i) fosrmm - <ig 3R 39T 9=
(iii) T ~ WFAT SHATATSIT Teh
(iv) I - EE '
(v) GER TR - 91y
Me: el yo haer givamfim udenfeat & fog se wen 26 %
T X foredl uter a1 3 4T - 1x5=5
(i) 39 T o A fafae sEt stiermtaren sw s we g |
(i) 38 Ty o1 W fafgn st niefsh 3 Swe e’ are
(i) 39 T w1 A fafge sl -’ ge afea g
(iv) 38 T o1 A forRae st ardty wE v ferd 2|
v) 3 Uy o1 AW foifae st foser der-sea gas ferd

. H
(vi) 39 ST w1 9 foaflaw Sl Aiver dfesst Sarrs aweh
fedra 21
(vii) TER TR sty foher Tt e 87
EFE
o)
32/1/3 9 - [P.T
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(A) Two features A and B are marked on the given political outline

(B)

Note :

32/1/3

map of India. Identify these features with the help of the

following information and write their correct names on the

lines marked near them.

(a) The place where the Indian National Congress Session
was held.

(b) The city where Jallianwalla Bagh incident took place.

Locate and label any three of the following with appropriate
symbols on the same given outline political map of India.
(i) Kalpakkam - Nuclear Power Plant

(i) Vijayanagar - Iron and Steel Plant
(iii) Noida - Software Technology Park
(iv) Paradeep - Sea Port

(v) Sardar Sarovar - Dam

The following questions are for the Visually Impaired

Candidates only, in lieu of Q. No. 26. Attempt any five

questions.

(1)  Name the state where Jallianwalla Bagh incident took
place.

(i) Name the state where Gandhiji violated the Salt Law.

(i) Name the state where ‘Chauri-Chaura’ incident took
place. ;

(iv) Name the state where Paradeep Sea Port is located.

(v)  Name the state where Vijayanagar Iron and Steel Plant
is located.

(vi) Name the state where Noida Software Technology Park
is located.

(vii) On which river is Sardar Sarovar Dam constructed?

10

=14
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title page of the answer-book.

o YA FE H A foh 38 Y97 § Gigd I8 10 + 1 THH 3 |
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forg |

o FYA E WA 70 I H 26 T 1 |

o  THUAT U T I TIGHT I[& e W Uget, T 1 ShHTHh Havd o |
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e Please check that this question paper contains 10 printed pages + 1 Map.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 26 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on
the answer-book during this period.
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855
TTHT=T 3397 :
() 39 J97-97 H IR GUSI 7 [F9I5a 1397 797 8 | @ &, @U8 &, @S T 3K

Gug & |/
(i) 39 J99-99 4 $T26 FH & |
(i) G 37 S & |
(iv) % J97 3 3 39 A7 T T & |
(v) T IEIT1 7 T%F 3T TY-IFTIT Fo7 & | JAF Fo7 1 37 F & |

(vi) Y97 G&IT 8 & 18 % Ycd%h Y97 8 3% F & | 378 & b Jo7 H IH

80 og] @ 37feres @7 781 &7 FfT |

(vii) 97 G&IT 19 T 25 TF Jcd% o7 5 37 71 & | 597 & Tcdb 97 &7 I

100 sG] @ 37 &7 787 &1 ey |

(viii) Yo7 G&IT 26 HAEGT J97 5 37 HT & | 399 3 YT & — 26 (A) 3K 26 (B) /
26 (A) 2 37% T A5G @ 7T 26 (B) 3 37 &7 YT & & | TlGT T 97
7O &4 T 3G 91 FR-GIaHT & 3K 7791 BT |

General Instructions :

(i) The question paper is divided into four sections — Section A, Section B,
Section C and Section D.

(it)  The question paper has 26 questions in all.
(iii)  All questions are compulsory.
(iv) Marks are indicated against each question.

(v) Questions from serial number 1 to 7 are Very Short Answer Type
Questions. Each question carries 1 mark.

(vi) Questions from serial number 8 to 18 are 3 marks questions.
Answers to these questions should not exceed 80 words each.

(vii) Questions from serial number 19 to 25 are 5 marks questions.
Answers to these questions should not exceed 100 words each.

(viit) Question number 26 is a map question of 5 marks with two parts 26 (A)
and 26 (B) — 26 (A) from History (2 marks) and 26 (B) from Geography
(3 marks). After completion, attach the map inside your answer-book.
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Qusg h
SECTION A

1. 1834 T St § Yook €Y SAas TATMU T 3L <hl AT HINT |
arera

1926 § foo@ ™ H WS Afd Tod ¥ha H 9 ARG & g 8H % [oT
STRER T&F RV sh STEAT HITT | 1

~

Explain the aim to form “Zollverein’, a Customs Union, in 1834 in
Germany.

OR

Explain the main reason responsible for the eruption of a major protest in
Saigon Native Girls School in Vietnam in 1926.

2. i Toaa g fekaral st I gigd s T 2 1
FAua

=g WA A SIS 3Tl 1 TOAAH H HIAG HH S o= I F AW
feam 2 1

Why was printing of textbooks sponsored by the Imperial State in
China ?

OR

Why did Chandu Menon give up the idea of translation of ‘English Novels’
in Malayalam ?

3. Teram 3 S <hl i <k i gHE 1 9 g TR 2 1
e

THATG < STcT ohl AT ohl THR THET I HE g TohAT ? 1

How has Shillong solved the problem of acute shortage of water ?
OR

How has Tamil Nadu solved the problem of acute shortage of water ?

4.  ficers AUl H STFTA (STATE) Sl WIeHT hd fohidd g3 2 1

How did the feeling of alienation develop among the Sri Lankan Tamils ?

132021 3 P.T.0.
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I ThE BEa ITH & Y shaet aut W AR & e fou fooee =1 S&w o=
Bl Gehl & ?

o

SrerET
vl SUSHTR Yaeh o T forehm@ 1 @& 1 81 Tehal1 B 2

What may be a developmental goal of farmers who depend only on rain for
growing crops ?
OR

What may be a developmental goal of urban unemployed youth ?

6.  3MYFe TI A g1 1 Th-Teh IgTelv faafau |

Give one example each of modern currency and older currency.

7. ¢ M9 T i foRrd 3Tt Gl 9med 8, i I8ehl UETl @i gHfTad
1 o g fopm vreq forg (<m)” =t ol 2

If you want to purchase an electrical valuable good, what logo would you
like to see to confirm its quality ?

Qs @
SECTION B

8. 1930 % guh § Y H T8 WY MYk wiergal 1 v Hifvw |
AYAT
1903 | BIE o SMYfeh 9T | 318 TR TS 1 Jui hifvT |

Describe the great economic hardship that prevailed in Europe during
the 1930s.

OR

Describe the serious problem faced by the modern part of Hanoi in 1903.

9. U H BUGH A ThE THR UG- ! Teh T HEId ! Toehfyd foham 2 3gmton
gigd =arean i |
AT
Fcd fsohd o AN o STad Td I W SRR o GSIwTEl 1 hdl o
foram 2 Seretont wfgd =ame HIfST |

| 32/2/1 4



How had the printing press created a new culture of reading in Europe ?
Explain with examples.

OR

How had Charles Dickens depicted the terrible effects of industrialisation
on peoples lives and characters ? Explain with examples.

10. UG H 9 W del Sdie qar i fhwl dF Y@ foRivarsti @1 v
SHIRTT | Ix3=3

atera
YR H 915 ST aTell ‘Shreft Jar i fopegl @1 Tq@ foRisarsti &1 auH e | 1x3=3

Describe any three main features of ‘Alluvial soil’ found in India.
OR

Describe any three main features of ‘Black soil’ found in India.

11.  “Si &ty =g o & fofw s9e @ 9 9 o1@ 3 1 R o9 914 8 17 39
FYT 1 fagaryor Hifu | 3

“The dams that were constructed to control floods have triggered floods.”

Analyse the statement.

12. 99adt g # aftifaa feedl @t fawai o 9w fafae | 371 fowsi W s A
§FTT JTd 8 ? SIS <hIfVT | 1+2=3

AT

MG | g 3 TST I o S T 1 SN b8 YRAE gGfga™ 6
FATE ara 3 2 T Fifu | 3

Name any two subjects that are included in Concurrent List. How are laws
made on these subjects ? Explain.

OR

How is sharing of power between the Union and the State Governments

basic to the structure of the Constitution of India ? Explain.

132021 5 P.T.0.
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13. ‘T gt fafvmar st fawsH @1 €9 6 ot 8 17 39 % @l
ARIETd 38UsT | 3
“Every social difference does not lead to social division.” Justify the
statement.

14. Sfd fp8 TR TSI | 3 &9 of Hehdl 8 ? 3SEWN HAled T8 T | 3

How can caste take several forms in politics ? Explain with examples.

15. “fava W d += 99 & YR Hiftg & | Ifg a1 adam @ & 35T g i R/,

I SR 35 — 40 98T § & FHT & e |7 39 guen ¥ fued o fhedl dF
3T <t ST hifr | 1x3=3
“Crude oil reserves are limited all over the world. If people continue to

extract it at the present rate, the reserves would last only 35 — 40 years
more.” Explain any three ways to solve this problem.

16. T&T €4 § UMWV &1 H okl S g€ § AfU® Jhg R TEwIR 7§ ? Y
HIFTT | 3

arraT
=T RO &5k shl TATd ST k0T &5k § dgdl 41 & ? T8 hifoT | 3

Why is it necessary to increase a large number of banks mainly in rural
areas ? Explain.

OR

Why are service conditions of formal sector loans better than informal
sector ? Explain.

17. 9Rd <l TR STl i AT =AETd 9914 § fohd TR J&F fHeht 31aT
T Hehdl 8 ? 3TN Higd AT hitg | 3
AT
AR F WA o AN o Siad @bl fohd TehR THTiad foham B 2 Sereton afgd
e HIfvT | 3

How can the Government of India play a major role to make globalisation
more fair ? Explain with examples.

OR

How has globalisation affected the life of Indians ? Explain with examples.

| 32/2/1 6



18. JUHRHT 39 ¢k S H GIAT 9 h UHR T ATH Sy 33T & ? ISTE
Higd s $ifve | 3

How are consumers enjoying the ‘right to be informed’ in their daily life ?

Explain with examples.

Qg
SECTION C

19. ‘vom fava g 4 9Ra § HA i wHENsTi @ Ygr foRn 2 gl dfeq

=T 6T | 5
AT

199 wrared) § fofay Hiehlaeh UfshaTeTi 4 WA H hE ATHEeh ST o WId

! Toerfaa foram 2 Iergwon wfgd samean v | 5

How had the ‘First World War’ created economic problems in India ?
Explain with examples.

OR

How had a variety of cultural processes developed a sense of collective
belongingness in India during the 19t century ? Explain with examples.

20. 3Gl vraTedt § fava # MW SeamEl H GehTehl Shi Y{HeRT ST FUM hifg | 5
AT

It srared) % S $Ivg § HIHTRI W Sfied 1 aui I | 5
arera

It vrared) § wie Sl 916 WA o fafay 3 o e Hifs | 5

Describe the role of ‘technology’ in transformation of the world in the
nineteenth century.

OR

Describe the life of workers during the nineteenth century in England.
OR
Describe various steps taken to clean up London in the nineteenth century.

132021 7 P.T.0.



o1. a ° IS TS 4 IHE YT BEe! % I fafgu | 39k ITH % S 1 o
i | 1+242=5

Name the two major beverage crops grown in India. Describe their growing

areas.

22. OO I HI AN TGV H H T=ERT S Fohal ¢ ? Taldm Iumi 1 =amen
I | 5

How can the industrial pollution of fresh water be reduced ? Explain

various ways.

23. “CArehdiieh SIIEATE ATk SHHMAIS ol HH A H SICT %A gl gl 9IS
21”99 AT I FAFETd 3 | 5

AYAT

“AThds ITEH STEAT 37 Yh <hl IME FIEA13T ¥ 98l & |” 39 hoA <hl
=ITIET 38T | 5

“Democracies do not appear to be very successful in reducing economic

inequalities.” Justify the statement.

OR

“Democracy is a better form of government than any other form of

government.” Justify the statement.

24. SIS A © T A 3 ? TSIk e hl Tohgl =R famadareti <1 samean
i | 5

What is a political party ? Explain any four characteristics of a political

party.

25. HrENe T fSht arent st onrfdfer fopameti it ga Shifs | 5

Compare the economic activities of the private sector with that of the

public sector.

| 32/2/1 8
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26.  (A)
(B)
(A)
(B)

132021

wus ¥
SECTION D

T AT ‘@’ 3N b’ fGu M0 wwa F qofas WWaEtE (T 11 W), |
Jferd foru T B | 39 Aqon ol Aefafga St Y wgrEar @ yg=nte
3R 3Tk Tl A 3 THIT Wit 78 Wreh w ffan

(a) 9§ T &l WA TG HiTd Hl YA §31T |
(b) 98 T W&l MlS 9 77 I arel |

Ix2=2

3H} feu U WRA % UoHifae WE-AHtes | Aefaiad 8 9 gt 77

I ITYH Toal | gWET 3 3k 1 fafen
() TR - e IR e EE
(i) MEHTR -  GFIIR TeTATS dTeh
(iii) YT —  TTfueen Sett B

(iv) g« — 99

v) Icﬂ@ﬁ_—[

gl T

Ix3=3

Two features ‘@’ and ‘b’ are marked on the given political outline
map of India (on page 11). Identify these features with the help of
the following information and write their correct names on the

lines marked near them :

(a) The place where the Indian National Congress Session was held.
(b) The place where Gandhiji violated the salt law.

Locate and label any three of the following with appropriate symbols
on the same given outline political map of India :

(1) Bokaro

(ii)) Gandhinagar

(iii) Tarapur
(iv) Salal

(v) Tuticorin

Iron and Steel Plant
Software Technology Park
Nuclear Power Plant
Dam

Sea Port

9
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Fig:  FHECTRET 397 @acl giRaTaa qhgntaer & o/ 397 61 26 & €& T/
g | fargt uier 391 & 3w forfem

Note: The following questions are for the Visually Impaired Candidates

only, in lieu of Q. No. 26. Attempt any five questions :

(26.1) 39 TS &1 AW fafgu, gl IR TS HEE 4 0T AfawH
femrs 1920 ® ST fomam |

(26.2) I8 TS 1 A fARGY, &l el FHUST WA AHGU + HARE FRAT |
(26.3) W T 1 A1 faRgu, S AN S i 99H o+ & H9(9d 2 |

(26.4) 3H USF &1 9 fafgu, &7 siprl Agr 3 se91d 997 fa § |

(26.5) 3 TSY 1 AW faIfgw, S&f aUIqE ATfodes ol 9o fedra 2 |
(26.6) WA @ fohE d¢ W eI T ao+ feora 8 2

(26.7) 3T TST &1 9W faagu, S8 gorter 1y feoa 2 | 1x5=5

(26.1) Name the State where the Indian National Congress held its
session in December 1920.

(26.2) Name the State where cotton mill workers organised Satyagraha.

(26.3) Name the place related to the calling-off of the Non-Cooperation
Movement.

(26.4) Name the State where Bokaro Iron and Steel plant is located.
(26.5) Name the State where Tarapur Nuclear Power plant is located.
(26.6) On which coast of India is Tuticorin sea port located ?

(26.7) Name the State where Salal Dam is located.

| 32/2/1 10
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I3 9. 26 & foiw For question no. 26
YA T {T-AHH (TS TR )
Outline Map of India (Political)
68° 72 76° 80° 84° 8g° 92° 96° 100°
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- L' .oy
1 Y
{ 4
i £
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20°

16°

12°
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24°
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16°
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km100 0 1i0Q 300 500 km
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SET-2
Series JMS/2 I .
Code No. 32/2/2
et 4.

wliemefi @ie 1 IW-YEdH & TE@-U8
Roll No. W 3ravd ford |

Candidates must write the Code on the
title page of the answer-book.

o YA FE H A foh 38 Y97 § Gigd I8 10 + 1 THH 3 |

o TH-UA H Fied FTU HI AR T T Shig TR Hl B IT-IEehl o JE@-I8 |
forg |

o FYA E WA 70 I H 26 T 1 |

o  THUAT U T I TIGHT I[& e W Uget, T 1 ShHTHh Havd o |

o T THUA HI UG o fo1C 15 fiFe o1 Tm fon mn @ | WeA-9F W foaw gatg
T 10.15 5 5T IT@W | 10.15 ST § 10.30 1 b B hadd IH-UF bl TeTl
3T 39 AT & GRA o IT-YIEdh! T g I &1 fore |

e Please check that this question paper contains 10 printed pages + 1 Map.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 26 questions.

¢ Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on
the answer-book during this period.

e SERCHIC]

SOCIAL SCIENCE

FEiRa 77 : 3 T2 S7feHTH 37 : 80

Time allowed : 3 hours Maximum Marks : 80

1320212 1 P.T.0.
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855
TTHT=T 3397 :
() 39 J97-97 H IR GUSI 7 [F9I5a 1397 797 8 | @ &, @U8 &, @S T 3K

Gug & |/
(i) 39 J99-99 4 $T26 FH & |
(i) G 37 S & |
(iv) % J97 3 3 39 A7 T T & |
(v) T IEIT1 7 T%F 3T TY-IFTIT Fo7 & | JAF Fo7 1 37 F & |

(vi) Y97 G&IT 8 & 18 % Ycd%h Y97 8 3% F & | 378 & b Jo7 H IH

80 og] @ 37feres @7 781 &7 FfT |

(vii) 97 G&IT 19 T 25 TF Jcd% o7 5 37 71 & | 597 & Tcdb 97 &7 I

100 sG] @ 37 &7 787 &1 ey |

(viii) Yo7 G&IT 26 HAEGT J97 5 37 HT & | 399 3 YT & — 26 (A) 3K 26 (B) /
26 (A) 2 37% T A5G @ 7T 26 (B) 3 37 &7 YT & & | TlGT T 97
7O &4 T 3G 91 FR-GIaHT & 3K 7791 BT |

General Instructions :

(i) The question paper is divided into four sections — Section A, Section B,
Section C and Section D.

(it)  The question paper has 26 questions in all.
(iii)  All questions are compulsory.
(iv) Marks are indicated against each question.

(v) Questions from serial number 1 to 7 are Very Short Answer Type
Questions. Each question carries 1 mark.

(vi) Questions from serial number 8 to 18 are 3 marks questions.
Answers to these questions should not exceed 80 words each.

(vii) Questions from serial number 19 to 25 are 5 marks questions.
Answers to these questions should not exceed 100 words each.

(viit) Question number 26 is a map question of 5 marks with two parts 26 (A)
and 26 (B) — 26 (A) from History (2 marks) and 26 (B) from Geography
(3 marks). After completion, attach the map inside your answer-book.

320212 2



Qusg h
SECTION A

1. S frEm wEa 3TH & o shae aut W s 8 e fou faee <@g =
R 1
sraT

&0 SUSTTR Jah o ToTC TrehTe 1 A& T §1 Tehel § 2 1

What may be a developmental goal of farmers who depend only on rain for
growing crops ?
OR

What may be a developmental goal of urban unemployed youth ?

2. Toram 3 5@ it et i MR wHEn w1 hy g foRa 2 1
HAAAT
THSATG = STct ohl AT hT THR THET I HE g Fohal 2 1
How has Shillong solved the problem of acute shortage of water ?
OR

How has Tamil Nadu solved the problem of acute shortage of water ?

3. < TS gra feRaret I giga sheam T ? 1
HAAT
=g WA A SIS 3Tl H1 TOATAH H HIAIG U S (o= Hl F A
feam 2 1
Why was printing of textbooks sponsored by the Imperial State in
China ?
OR

Why did Chandu Menon give up the idea of translation of ‘English Novels’
in Malayalam ?

4. fice | yafad ‘Tgeeasdrg w1 Hd T HINT | 1

Explain the meaning of ‘Majoritarianism’ as practised in Sri Lanka.

1320212 3 P.T.0.
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1834 § ST | 3[ooh H9 TATCToRIS TATTUA ST oh Ie¥d shl SATEAT I |
AT

1926 § foo@ ™ H WS Afd ol ¥ha § 98 ATGAH o @8 8H % [T
STRER TE&F RV sh STEAT HITT |

Explain the aim to form “Zollverein’, a Customs Union, in 1834 in
Germany.

OR

Explain the main reason responsible for the eruption of a major protest in
Saigon Native Girls School in Vietnam in 1926.

6.  TThe! 1 JAI foRT fomT A i & forelt T i o1 Igrewwr fofem |

Give any one example of the methods to make payment without using
cash.

7.  IYU % FAId DH-H1 T T 20 ARG % o gEl d FEI-Ud geheHl T

o wear 8 2
Which court deals with the cases involving claims upto ¥ 20 lakhs under
COPRA?
g is g
SECTION B

8. U H BNEH A fhd YR veH I T T TERid HI foewfea TR 2 3gewn
gigd st il |
YT
Ared fehd 4 AN o Sfia wa =fE W Hanfiehor o el 1 58 quH
fepaT 2 3eTETUN Tfgd suredT shif |

How had the printing press created a new culture of reading in Europe ?
Explain with examples.

OR

How had Charles Dickens depicted the terrible effects of industrialisation
on peoples lives and characters ? Explain with examples.

320212 1
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IR § 9§ IH ael Sdie qar i fhal dF Y@ foRwaret 1 avE

I | Ix3=3
YT

HRd H 18 I aTel il GaT ol foheal diF TH@ ToRISATSTl S 90 HIT | 1x3=3

Describe any three main features of ‘Alluvial soil’ found in India.

OR
Describe any three main features of ‘Black soil’ found in India.
10. 1930 % T H JUY H E WA 3TTiefeh ISl 1 qUH HIVT | 3
HAAAT
1903 | &Ig o MYfeh W H 318 TR THE 1 Jui hifvT | 3

Describe the great economic hardship that prevailed in Europe during
the 1930s.

OR

Describe the serious problem faced by the modern part of Hanoi in 1903.

11. 9g-3eRM qRESHIS! I ITAfe w1 foretyor Hiy | 3

Analyse the merits of multipurpose projects.

12. SUNIRH 319 ek Siad H GoAT 9T o ATUHR 1 ATH S 331d & ? IETEL0l
Tfgd =me HNT | 3

How are consumers enjoying the ‘right to be informed’ in their daily life ?
Explain with examples.

13. WRA ! FCHR Svellentu] ol fYeh =AEETd s § fohE TR g&a qfient o1a

T Hehdl & ? 3TN Higd AT hitg | 3
YT

ITARTOT 4 WA o AN o Saq bl foh8 YehR UHTfad fomam 8 2 Serswun |fed

ST é”\\_ﬂq | 3

How can the Government of India play a major role to make globalisation
more fair ? Explain with examples.

OR

How has globalisation affected the life of Indians ? Explain with examples.

1320212 5 P.T.0.



14. ‘TR wEN o Hft fUg YU S 8 |7 35N hl HEREAl § HAA hl TR

HIT | 3

“Our society is still a male dominated society.” Explain the statement with
the help of examples.

15. [&I ®9 § UMW &A1 § Sl I G@ # AU gig i eI 7 ? T
T | 3
U7
MI=Teh KU1 &9k <hl HATU FAHITNeh U1 &Fehl ¥ S8 I § ? T
HIfT | 3

Why is it necessary to increase a large number of banks mainly in rural
areas ? Explain.

OR

Why are service conditions of formal sector loans better than informal
sector ? Explain.

16. “fava W U %= 9 & WeR Hiftd 2 | I A7 IduE @ A 35T qET B T8,
I SR 35 — 40 99T § & THTA & G |7 39 guen ¥ fued o fhedl diF
U <t ST Hifr | 1x3=3
“Crude oil reserves are limited all over the world. If people continue to

extract it at the present rate, the reserves would last only 35 — 40 years
more.” Explain any three ways to solve this problem.

17. 9ot g #§ aftifaa feeel o1 fawai & 9w fafae | 37 fowsi W s A
FAC AT & ? SATEAT T | 1+42=3
YT
MG H g 3 TST TTHI o S AT 1 §eall 8 YR gfaam 6
FAAE ara 3 2 T Hifu | 3

Name any two subjects that are included in Concurrent List. How are laws
made on these subjects ? Explain.

OR

How is sharing of power between the Union and the State Governments
basic to the structure of the Constitution of India ? Explain.

320212 6
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18.  “geach wriforh feferen sl fowrem b w9 AE ot 7 17 56 FUH B
IIETd 38UV | 3
“Every social difference does not lead to social division.” Justify the
statement.
Qs 1
SECTION C
19. SHEl wramedl | fova H STC SeAtal § Tehriehl’ <hl fHeRT ST FUM T | 5
HAYAT
AT IS o G $IUE H BRI o S{ia ol FUH I | 5
HAAAT
Sl daTed! H oied sl 9% W & fafay Iur w1 9uia Fifvu | 5

Describe the role of ‘technology’ in transformation of the world in the
nineteenth century.

OR

Describe the life of workers during the nineteenth century in England.

OR

Describe various steps taken to clean up London in the nineteenth century.

20. ‘vom fova Ig' 3 9wa H hy oMU wmEmed &I Ugr TR 2 IgrEn Afgd
=T I | 5

arera
199 wared) § fafay Hiehlae ARATST 4 9RG H hH SWfesh I & W&
! farenféra fora ? 3aTewl |igd samean Sy | 5

How had the ‘First World War’ created economic problems in India ?
Explain with examples.

OR

How had a variety of cultural processes developed a sense of collective

belongingness in India during the 19t? century ? Explain with examples.

1320212 7 P.T.0.



21.

22.

23.

24.

25.

IR | IS 9 el fohegl @l &I WiER adi o AW fIfEu | 39 31 %wadi
! 3T o TTT ATaweh e3MAT T 9 iU | 1+2x2=5

Name any two major fibre crops grown in India. Describe the conditions

required to grow these two crops.

“ATehdieh sqaEITd Tfofeh STEHMAISTT hl HH hid U SN I%d gl gl Irs
21”39 AT I AFETd 3 | 5

AT

“TAehds M STGEAT 3T bR hl M AT § 98 & |7 39 A i
ATRIETd 38UsT | 5
“Democracies do not appear to be very successful in reducing economic

inequalities.” Justify the statement.

OR

“Democracy is a better form of government than any other form of

government.” Justify the statement.

Te® S i SIS YGU0T § H& == S Gehal 2 ? fafirm 3o 6 smean
SHIfTT | 5

How can the industrial pollution of fresh water be reduced ? Explain

various ways.

el Uit o feheal Ure Il shl SIREdT hifT | Ix5=5

Explain any five functions of the ruling party.

grfdd 3T ST &Aookl o S hig Gia 3Tl LI hIfT | Ix5=5

Explain any five differences between organised and unorganised sectors.

320212 8
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26. (A
(B)
(A)
(B)

1320212

wis ¥
SECTION D

T AT ‘@’ W b’ fGu MU wwa F qofas WWaEtE (T8 11 W), |
3ifera fopu T B | 37 weon o Frfefi St f geran @ g
3R 3T TE AW I T = T W@t W el

(a) 98 TAM & WA TSR HiE 1 AR g |
(b) 98 TIM W&l Mls 9 77 I arel |

Ix2=2

it feu U wRa & Uil Yeamta § Fefated 9 9§ T /T

I ITYH Faal | guiigy 3R Ik a1 faRew
() R - A AR T S
(i) TR - GiFdR At 9T
(iii) TR~ — 37Tk FA1 G

(iv) g — 99

(v) TARIE — T e

I1x3=3

Two features ‘@’ and ‘b’ are marked on the given political outline
map of India (on page 11). Identify these features with the help of
the following information and write their correct names on the

lines marked near them :

(a) The place where the Indian National Congress Session was held.
(b) The place where Gandhiji violated the salt law.

Locate and label any three of the following with appropriate symbols
on the same given outline political map of India :

(1) Bokaro

(i1)) Gandhinagar

(iii) Tarapur
(iv) Salal

(v) Tuticorin

Iron and Steel Plant
Software Technology Park
Nuclear Power Plant
Dam

Sea Port

9
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Fig:  FHECTRET 397 #acl giRaTaa qhgntaer & o/ 3o 61 26 & €& T/
g | fargt uier 391 & 3w forfem

Note: The following questions are for the Visually Impaired Candidates

only, in lieu of Q. No. 26. Attempt any five questions :

(26.1) 39 TS &1 AW fafgu, gl IR TS HOF 4 9T AT
femrs 1920 ® ST fomam |

(26.2) 39 T 1 A faaRay, &t It ot e worgl 4 weams fora |
(26.3) 38 T 1 A1 faRgu, S AN TSI i 99 o+ & H9i9d 2 |

(26.4) 3H USF &1 9 fafgu, &7 siprl Agr 3 se91d 997 fa § |

(26.5) 3 TSY 1 AW faIfgw, S&f aUIqE ATfodes ol 9o fedra 2 |
(26.6) WA @ fohE T W TAhINA TG a0+ oo 8 2

(26.7) 3T TST &1 9W faagu, S8 gorter 1y feoa 2 | 1x5=5

(26.1) Name the State where the Indian National Congress held its
session in December 1920.

(26.2) Name the State where cotton mill workers organised Satyagraha.

(26.3) Name the place related to the calling-off of the Non-Cooperation
Movement.

(26.4) Name the State where Bokaro Iron and Steel plant is located.
(26.5) Name the State where Tarapur Nuclear Power plant is located.
(26.6) On which coast of India is Tuticorin sea port located ?

(26.7) Name the State where Salal Dam is located.

320212 10
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I3 9. 26 & foiw For question no. 26
YA T {T-AHH (TS TR )
Outline Map of India (Political)
68° 72 76° 80° 84° 8g° 92° 96° 100°
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[=] A%
SET-3
Series JMS/2 I .
Code No. 32/2/3
et 4.

wliemefi @ie 1 IW-YEdH & TE@-U8
Roll No. W 3ravd ford |

Candidates must write the Code on the
title page of the answer-book.

o YA FE H A foh 38 Y97 § Gigd I8 10 + 1 THH 3 |

o TH-UA H Fied FTU HI AR T T Shig TR Hl B IT-IEehl o JE@-I8 |
g |

o FYA E WA 70 I H 26 T 1 |

o HUAT T 1 IW {TEHT & HIH ¥ UgeA, T T THuTeh 99 ford |

o T YHUA Hl UG o fo1U 15 fiFe 1 Tmy fon mn @ | WA W foa qatg
T 10.15 5 5T IT@W | 10.15 ST § 10.30 1 b B hadd IH-UF bl TeTl
3T 39 AT & GRA o IT-YIEdh! T g I &1 fore |

e Please check that this question paper contains 10 printed pages + 1 Map.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 26 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on
the answer-book during this period.

e SERCHIC]

SOCIAL SCIENCE

FEiRa 77 : 3 T2 S7feHTH 37 : 80

Time allowed : 3 hours Maximum Marks : 80

132023 1 P.T.0.
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855
TTHT=T 3397 :
() 39 J97-97 H IR GUSI 7 [F9I5a 1397 797 8 | @ &, @U8 &, @S T 3K

Gug & |/
(i) 39 J99-99 4 $T26 FH & |
(i) G 37 S & |
(iv) % J97 3 3 39 A7 T T & |
(v) T IEIT1 7 T%F 3T TY-IFTIT Fo7 & | JAF Fo7 1 37 F & |

(vi) Y97 G&IT 8 & 18 % Ycd%h Y97 8 3% F & | 378 & b Jo7 H IH

80 og] @ 37feres @7 781 &7 FfT |

(vii) 97 G&IT 19 T 25 TF Jcd% o7 5 37 71 & | 597 & Tcdb 97 &7 I

100 sG] @ 37 &7 787 &1 ey |

(viii) Yo7 G&IT 26 HAEGT J97 5 37 HT & | 399 3 YT & — 26 (A) 3K 26 (B) /
26 (A) 2 37% T A5G @ 7T 26 (B) 3 37 &7 YT & & | TlGT T 97
7O &4 T 3G 91 FR-GIaHT & 3K 7791 BT |

General Instructions :

(i) The question paper is divided into four sections — Section A, Section B,
Section C and Section D.

(it)  The question paper has 26 questions in all.
(iii)  All questions are compulsory.
(iv) Marks are indicated against each question.

(v) Questions from serial number 1 to 7 are Very Short Answer Type
Questions. Each question carries 1 mark.

(vi) Questions from serial number 8 to 18 are 3 marks questions.
Answers to these questions should not exceed 80 words each.

(vii) Questions from serial number 19 to 25 are 5 marks questions.
Answers to these questions should not exceed 100 words each.

(viit) Question number 26 is a map question of 5 marks with two parts 26 (A)
and 26 (B) — 26 (A) from History (2 marks) and 26 (B) from Geography
(3 marks). After completion, attach the map inside your answer-book.

| 32/2/3. 2
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SECTION A
1. < Ooiad g feRarelt <t @RI gfgd sham T 2 1
AAAT
=g W A SN IuTEl T AeRTem §SATG U o foEl W aEl om
foam 2 1
Why was printing of textbooks sponsored by the Imperial State in
China ?
OR
Why did Chandu Menon give up the idea of translation of ‘English Novels’
in Malayalam ?
2. 1834 S H Yook 99 TS TATUT i o 3T hl AT hIT | 1
AYAT
1926 § foo@ ™ ® WS Afd Tod o § 98 AGIAH o @S 8 o T
STHER T RV sh STEAT HITT | 1

Explain the aim to form ‘“ollverein’, a Customs Union, in 1834 in
Germany.

OR

Explain the main reason responsible for the eruption of a major protest in
Saigon Native Girls School in Vietnam in 1926.

3. SN fruM wHd ITH & U shad ani © fsft 8 396 fou faeema =1 e
R 1
e

&0 SUSTR Ik oh 1T fIeh1d 1 A& 91 81 Tohdl © ? 1

What may be a developmental goal of farmers who depend only on rain for
growing crops ?
OR

What may be a developmental goal of urban unemployed youth ?

4. G0 GEier] w 3TEvIs B 2 1

Why is power sharing desirable ?
320213 3 P.T.O.
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e 3 S <k T Sk T gHE v hE g TR 2 1
Fan

AfeTg 3 ST shl St <Al Tef T S R g foRam 2 1

How has Shillong solved the problem of acute shortage of water ?
OR

How has Tamil Nadu solved the problem of acute shortage of water ?

6.  TZT 1 Ush ITEWT ST St hidt (Fhdl) o 9§ T8 8 | 1

Give one example of money which is not in the form of currency (cash).

7. YU % A=A HIH-GT AR Tsh HUS ®IT § A 6l el ¥ graf-aq

geheHl T fo=m =TT g 2 1

o

Which court deals with the cases involving claims exceeding ¥ one crore
under COPRA ?

LG LERC
SECTION B
8. UG ¥ UE W deht Tellg Her I fohdl di ygw femwarstt w1 o
HfoT | 1x3=3
T
T | 915 T arel! et ga1 shi foheal @ sH@ fesmanett w1 aui i | 1x3=3

Describe any three main features of ‘Alluvial soil’ found in India.

OR

Describe any three main features of ‘Black soil’ found in India.

9. 1930 o BTk H JUT | 35 R 1Mok hicATgal i JUM HIT | 3
HAAAT
1903 T &S o MY AFT H T8 THR THE 1 90 HifT | 3
Describe the great economic hardship that prevailed in Europe during
the 1930s.
OR

Describe the serious problem faced by the modern part of Hanoi in 1903.

| 32/2/3. 1



10.' 9 | BUGH J hE THR Tg 61 T T G&pld ! fommfEa fora 2 Seewon
Hfgd =are S | 3
HAYAT
Tred fehd 7 QNN & Sfiad wa =i W Hanfiehur o el 1 58 quH
fepaT 2 IeTETUn Gfgd sumedT hif | 3

How had the printing press created a new culture of reading in Europe ?
Explain with examples.

OR

How had Charles Dickens depicted the terrible effects of industrialisation
on peoples lives and characters ? Explain with examples.

11.  “fGamE 3 YRd & 3 &9 § BHd IeY giafdd & fean 2 17 wed o1 fagamo
HIT | 3

“Irrigation has changed the cropping pattern of many regions in India.”

Analyse the statement.

12. “fova W O %= 9 & WeR Hiftd 8 | I A aduE @ 8 35T dE i T8,
q T WSR 35 — 40 91 H & gHTed & S |7 39 guen ¥ e o foedl =
3YHIT hl SATEAT il | 1x3=3

“Crude oil reserves are limited all over the world. If people continue to
extract it at the present rate, the reserves would last only 35 — 40 years
more.” Explain any three ways to solve this problem.

13. U&T &9 § U0 &A1 H Sehi ol G § AU Jhg T TETIH & ? T
e | 3

YT
SR T &5k <hl AT Tk 0T &kl § 98d 1 & 2 TI hitoe | 3

Why is it necessary to increase a large number of banks mainly in rural
areas ? Explain.

OR

Why are service conditions of formal sector loans better than informal
sector ? Explain.

132023 5 P.T.0.



14, “qnd § ah off whRens B wE G0R @ Vewrg B GE HE TS 2
3eTEN Gfgd samedn hifsu | 3

“Women in India still face discrimination in various ways.” Explain with

examples.

15. SUNIH 39 ¢feh e § GEAT 9T o ATURR 1 ATH Hd 331d 7 ? ISTEI
Tlgd SurE i | 3

How are consumers enjoying the ‘right to be informed’ in their daily life ?
Explain with examples.

16. THadl T # Fffcra foheal o1 fawi & W fafge | 39 faw=i ® &g w8

FAT ST 7 ? ST Hi | 1+42=3
ST

TAd H hrg M TST GTRIU o = AT k1 §edll s TR gfaae i

e 91a 7 2 Tse I | 3

Name any two subjects that are included in Concurrent List. How are laws
made on these subjects ? Explain.

OR

How is sharing of power between the Union and the State Governments

basic to the structure of the Constitution of India ? Explain.

17.  “Scde gires fafiear ammfses fausH & &9 98 adl 8 17 39 %9 &

~TIETd 38T | 3
“Every social difference does not lead to social division.” Justify the
statement.

18. UNd sl HTHR TR i AUk ARG 99 H FhE TR F&I qfHeh1 31T
T Tehdl B ? TR Tfgd SIReA il | 3

AYAT

YR 4 WA o AN & o @l b8 JehR THTad foham 8 2 3eTeion |fgd
SRS <hifou | 3

| 32/2/3. 6



How can the Government of India play a major role to make globalisation
more fair ? Explain with examples.

OR

How has globalisation affected the life of Indians ? Explain with examples.

Tug
SECTION C

19. s A i Ml TGV § HE S=E S Fhdl @ ? i Ui st samen
T | 5

How can the industrial pollution of fresh water be reduced ? Explain

various ways.

20. “Arndifes sFaEATd 3Tk FAFHHAIST hl HH A U TIET %o a1 &l uIs
2 1”99 AT I FAFETd 3 | 5

AT

“HATehds UTEH STIEAT 37T Yh <hl IMEA FIEA13T & 95l & |7 39 hoA <hl
=& 385N | 5

“Democracies do not appear to be very successful in reducing economic

inequalities.” Justify the statement.

OR

“Democracy is a better form of government than any other form of

government.” Justify the statement.

21. 9Nd H IS I It QA H99 TEqul @reE ®wadl & AW fafae | @ @
®EA! hl I o [T STEYIH ST T JUH FHIRT | 1+2x2=5

Name the two most important cereal crops grown in India. Describe the
conditions required to grow these two crops.

132023 7 P.T.0.



29. ‘v forwm gg 7 ARG H hy Afh FueneAl i Ugr fRAm ? 3gren Afgd
1 HIT | 5

AT
199 wrared] § ooy Hiehlaes AfRATST 4 9RA H 8 GHfgsh U9 & W&
! Toerfaa foram 2 Iergwon wfgd samean hifvu | 5

How had the ‘First World War’ created economic problems in India ?
Explain with examples.

OR

How had a variety of cultural processes developed a sense of collective
belongingness in India during the 19t century ? Explain with examples.

23. 3Gl vraredt § fava # 1T Seamal H GehRATehl shi Y{HeRT 1 FUM hifT | 5
AT

SHudl TaTed] o R FAvS T HTRIRT o e <1 9ui HIfT | 5
AYAT

Sl daTed! H oied sl 9% W & fafaey Iur w1 auia Fifvu | 5

Describe the role of ‘technology’ in transformation of the world in the
nineteenth century.

OR

Describe the life of workers during the nineteenth century in England.

OR

Describe various steps taken to clean up London in the nineteenth century.

24, Tl Alhdities <1 | TSHI(deh ol <hl ATAIAhdl o ohig UId R0 T
i | Ix5=5

Explain any five needs to have political parties in a democratic country.

25. IS 3T AaSIHeh &ehl o (= whis Uid 3TaT TS iU | Ix5=5

Explain any five differences between public and private sectors.

| 32/2/3. 8
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26.  (A)
(B)
(A)
(B)

132023

wus ¥
SECTION D

T AT ‘@’ 3N b’ fGu M0 wwa F qofas WWaEtE (T 11 W), |
Jferd foru T B | 39 Aqon ol Aefafga St Y wgrEar @ yg=nte
3R 3Tk Tl A 3 THIT Wit 78 Wreh w ffan

(a) 9§ TIM &l WA TS S 1 AEwH 5o |
(b) 98 T W&l MlS 9 77 I arel |

Ix2=2

3H} feu U WRA % UoHifae WE-AHtes | Aefaiad 8 9 gt 77

I ITYH Toal | gWET 3 3k 1 fafen
() TR - e IR e EE
(i) MEHTR -  GFIIR TeTATS dTeh
(iii) YT —  TTfueen Sett B

(iv) g« — 99

v) Icﬂ@ﬁ_—[

gl T

Ix3=3

Two features ‘@’ and ‘b’ are marked on the given political outline
map of India (on page 11). Identify these features with the help of
the following information and write their correct names on the

lines marked near them :

(a) The place where the Indian National Congress Session was held.
(b) The place where Gandhiji violated the salt law.

Locate and label any three of the following with appropriate symbols
on the same given outline political map of India :

(1) Bokaro

(ii)) Gandhinagar

(iii) Tarapur
(iv) Salal

(v) Tuticorin

Iron and Steel Plant
Software Technology Park
Nuclear Power Plant
Dam

Sea Port

9
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Fig:  FHECTRET 397 @acl giRaTaa qhgntaer & o/ 397 61 26 & €& T/
g | fargt uier 391 & 3w forfem

Note: The following questions are for the Visually Impaired Candidates

only, in lieu of Q. No. 26. Attempt any five questions :

(26.1) 39 TS &1 AW fafgu, gl IR TS HEE 4 0T AfawH
femrs 1920 ® ST fomam |

(26.2) 39 T 1 A faaRay, &t It ot e worgl 4 weams fora |
(26.3) W LI 1 A9 fARgu, S AN TSI bl a9 o+ & H9(9d 2 |

(26.4) 3H USF &1 9 fafgu, &7 siprl Agr 3 se91d 997 fa § |

(26.5) 3 TSY 1 AW faIfgw, S&f aUIqE ATfodes ol 9o fedra 2 |
(26.6) WA @ fohE d¢ W eI T aoH oo 8 2

(26.7) 3T TST &1 9W faagu, S8 gorter 1y feoa 2 | 1x5=5

(26.1) Name the State where the Indian National Congress held its
session in December 1920.

(26.2) Name the State where cotton mill workers organised Satyagraha.

(26.3) Name the place related to the calling-off of the Non-Cooperation
Movement.

(26.4) Name the State where Bokaro Iron and Steel plant is located.
(26.5) Name the State where Tarapur Nuclear Power plant is located.
(26.6) On which coast of India is Tuticorin sea port located ?

(26.7) Name the State where Salal Dam is located.

| 32/2/3. 10
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YA T {T-AHH (TS TR )
Outline Map of India (Political)
68° 72 76° 80° 84° 8g° 92° 96° 100°
36°} TN Be°
- L' .oy
1 Y
{ 4
i £
32| .

28°

A°

20°

16°

12°

28°

24°

20°

16°

12°

g g°
km100 0 1i0Q 300 500 km
40 B | | 1 | 1 1 [ 1 ] 40
i2° i6° 80° e 88° gz° 96°
132/2/3 11




[=][=l

[=] A%
SET-1
Series JMS/3 I .
Code No. 32/3/1
et 4.

wliemefi @ie a1 IW-YEdH & T@-U8
Roll No. W 3ravd ford |

Candidates must write the Code on the
title page of the answer-book.

o YA FE H A foh 38 Y97 § Gigd I8 10 + 1 THH 3 |

o TH-UA H Fied FTU HI AR T T Shig TR Hl B IT-IEehl o JE@-I8 |
g |

o FYA E WA 70 I H 26 T 1 |

o HUAT T 1 IW {TEHT & HIH ¥ UgeA, T T THuTeh 99 ford |

o T THUA HI UG o fo1C 15 fiFe o1 Tm fon mn @ | WeA-9F W foaw gatg
T 10.15 5 5T IT@W | 10.15 ST § 10.30 1 b B hadd IH-UF bl TeTl
3T 39 27afy o QA o ITR-Yfedept W ig I 81 fore |

e Please check that this question paper contains 10 printed pages + 1 Map.

e Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 26 questions.

¢ Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on
the answer-book during this period.

e SERCHIC]

SOCIAL SCIENCE

FEiRa 77 : 3 T2 S7feHTH 37 : 80

Time allowed : 3 hours Maximum Marks : 80

| 32/3/1 1 P.T.O.
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855
TTHT=T 3397 :
() 39 J97-97 H IR GUSI 7 [F9I5a 1397 797 8 | @ &, @U8 &, @S T 3K

Gug & |/
(i) 39 J99-99 4 $T26 FH & |
(i) G 37 S & |
(iv) HcI® J97 & 37H 3G% G 1T TT & |
(v) I 7 T A TG-FTIT I E | 9% To7 1 3% H1 5 |

(vi) Y97 G&IT 8 T 18 % Ycd%h Y97 3 3% F & | 378 & I Jo7 H IH

80 og] @ 37feres @7 781 &7 FfT |

(vii) ¥o7 G&IT 19 T 25 % Jcd% J97 5 b 7 8 | 378 & Id% J97 H I
100 3753 @ 37fere &7 987 &7 =eT |

(viii) Yo7 G&IT 26 HAEGT J97 5 37 HT & | 399 3 YT & — 26 (A) 3K 26 (B) |
26 (A) 2 37% T A5G @ 7T 26 (B) 3 37 &7 YT & & | TlGT T 97
7O &4 T 3G 91 FR-GIaHT & 3K 7791 BT |

General Instructions :

(1) The question paper is divided into four sections — Section A, Section B,
Section C and Section D.

(it)  The question paper has 26 questions in all.
(iti) All questions are compulsory.
(iv) Marks are indicated against each question.

(v) Questions from serial number 1 to 7 are Very Short Answer Type
Questions. Each question carries 1 mark.

(vi) Questions from serial number 8 to 18 are 3 marks questions.
Answers to these questions should not exceed 80 words each.

(vii) Questions from serial number 19 to 25 are 5 marks questions.
Answers to these questions should not exceed 100 words each.

(viii) Question number 26 is a map question of 5 marks with two parts 26 (A)
and 26 (B) — 26 (A) from History (2 marks) and 26 (B) from Geography
(3 marks). After completion, attach the map inside your answer-book.

| 32/3/1 5
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SECTION A

1. 1815 ¥ AfUehe Flgard I HaeATsli 3 Hretel shifd & S Jlgd qmft i

fafa # & foru defim & frm w=i s 2 1
arera
1907 ¥ forram ® “Ciferd Sh1 ®ha’ @It Qi TR 2 1

Why did most of ‘conservative regimes’ impose censorship laws to control
printed material associated with the French Revolution in 1815 ?

OR
Why was the ‘Tonkin Free School’ established in Vietnam in 1907 ?
2. HgU I H YE ARG | IUgfAfEt sk SuR § i el off 2 1
AT
TR | sEdl Te) & IR g9kl § AfE1st 3 s=ll i IU=ATEl ol U &
ITT: galcdTiga @it foham T 2 1

Why were manuscripts not widely used in India before the age of print ?

OR

Why were women and children often discouraged from reading novels in
the early decades of the twentieth century in India ?

3. unEes H @ fhamd form yehr y-fafiehtor & fotu IoRerft 8 2 1
HAAAT
Tora H 3f weEn -t o fofe S saterh 7 2 1
How are mining activities responsible for land degradation in Jharkhand ?
OR

How is overgrazing responsible for land degradation in Gujarat ?

4.  dfcoaw § ATEIRe SRR Sy IH S g ? 1

How is community government elected in Belgium ?

5. Y& % AR IRER hH Tk AdShl & o faemma 1 @& = 8 geha1 8 2 1
STt
Tk grad fora & fou foepme o1 e o g1 gehat B 2 1

| 32/3/1 3 P.T.O.



What may be a developmental goal of a girl who belongs to a rich urban
family ?

OR

What may be a developmental goal of a rich farmer ?

6. IS UF Ik IT(UHh &ehi b1 Teh-Ueh IQTEVI fAIRAT |

Give one example each of primary and tertiary economic sectors.

7. a9 ug fadeft fEw # @ o il |
Distinguish between investment and foreign investment.
Qs g
SECTION B

8.  fored o8 Use U9 & w9 T 3ifEded H M1 2 SRS i |
Jrera
forrae o e hH TSHITaeh 3R ATERideh TN & ST@IEl H 95 ¢ ? STE
s |

How did Britain come into existence as a nation-state ? Explain.

OR

How had schools in Vietnam become an important place for political and
cultural battles ? Explain.

9. ISl wAEE H YWd H fohE YRR o=, Afgenell 3TN IR oh €9 H &
&I § AU U3k 9¢ ? ITEWN Uigd AT shIfaT |
Jrera
sfufrafses aer @ 2oty Ssu=mEl # e Sfem o Gfafest @ g
SRR 1 T FIq il ToR 7T 2 3T Ffga samean Hif |

How had a large number of new readers among children, women and
workers increased in nineteenth century Europe ? Explain with examples.

OR

How were vernacular novels a valuable source of information on native life
and customs for colonial administration ? Explain with examples.

| 32/3/1 4



Ok
10. < o A1k fammm K g & w9 9 fafmior e & Agw o1 9uig I | 3
HAYAT
HN o fohrE H TN o ANTGH T JUH I | 3

Describe the importance of manufacturing industries as a backbone of
economic development of the country.

OR

Describe the role of industries in the development of agriculture.

11.  “gured faee wes Sfed afshan 2 17 denl Afgd 39 eF sl HETTd 38UsT | 3

“Resource planning is a complex process.” Justify the statement with
arguments.

12. ol ° Sfa ford TR 37 ®9 o Hehdl 8 2 3S8WN digd saredT hifve | 3

AT

AR X H ATSE) o oG § Algensti 6 feufd § 8 gan gsn ? el |ied
ST HIT | 3

How can caste take various forms in politics ? Explain with examples.

OR

How had the position of women improved in our country since
independence ? Explain with examples.

13. “TArepditieh qae i aEt Tbetal FAfhd 3R fsaer gmEt § 7 17 39 Hed &
fergerwor ShifST | 3

“Democracies have had greater success in setting regular free and fair
elections.” Analyse the statement.

14. “Thad I HeEd HE HI AN S AlhdIENh FGEAT oh HHA Tohell T fopelt
w9 T 7 |” 3TN Afgd YA A gfee Hifvw | 3

“The challenge of deepening of democracy is faced by every democracy in
one form or another.” Support the statement with examples.

| 32/3/1 5 P.T.O.
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15. TH WTehideh THIEHT 1 3fd R foeehyash &1 & ITANT T AT AT, ? 379
foam =1 T HIfvT | 3
Why should we use natural resources properly and judiciously ? Explain
your views.

16.  3Thal Y &F | Bl ATUH USHIR h¥l Icdd fohT ST Tehd & ? fohral oM IUTT <hl

ST HIY | 1x3=3
e

WRA H SUSATY shl |We 1 8 gL fohal ST Eehal & ? fohegl i Iumil o

T HINT | 3

How can more employment be created in agriculture sector alone ? Explain
any three ways.

OR

How can the problem of unemployment be eradicated in India ? Explain
any three ways.

17. “U GhRIcHS YR TG HL Ghal & |7 T HUA hl doh dlgd ~AFET
SIAER 3
rera

“FUT TRTICHS USRI IS H THhAT & |7 FH HUT I dh dlegd AP
3alley | 3

“Credit can play a positive role.” Justify the statement with arguments.

OR

“Credit can play a negative role.” Justify the statement with arguments.

18. ¥R H foesfi e =l 3hiva == & U g 9 TS9 TSN g0 33T 7T
forgl i shemi w1 avfa i | Ix3=3

Describe any three steps taken by the Central and State governments to
attract foreign investment in India.

| 32/3/1 5



19.

20.

Qs 1
SECTION C

TRTeHT el o ol 3R TS i Taenon % fow § e wegl ST

S T oft 2 sare i | 5
HAYAT

TRd o fafys vr 4 foraml ot srifeanfE= 3 ‘smagai sTeiad’ ° o IR

T forn 2 s hifST | 5

How did plantation workers have their own understanding of Mahatma
Gandhi and the notion of Swaraj ? Explain.

OR

How had peasants and tribals participated in the ‘Non-Cooperation
Movement’ in different parts of India ? Explain.

1920 % YR o H fohd yor sfieh! Srefeasen g: osft & awehl i

M 2 IS0 Gfgd SAredT hifau | 5
3AYAT

el IdTed! o SN Fis H SR H 2| hl SEdEd | wegl ol et ha

THTII 83 ? 3G Higd SATed] hifg | 5
AYAT

IAHE] WAl § TS & HU IR HREH H iAo g8 AW W AT °

8 it T 9er 7 S off 2 e wfgd e Fif | 5

How had the U.S. economy resumed its strong growth in the early 1920s ?
Explain with examples.

OR

How did the abundance of labour in the market affect the lives of workers
in England during the nineteenth century ? Explain with examples.

OR

How had widespread use of coal in homes and industries in nineteenth
century England raised serious problems ? Explain with examples.

7 P.T.O.



21. WA § IME T 2 TgE WeR BEet % T8 RRaT | 3 Gt BeEet B 3T 6
AT I o 1 ITeh 3T o &A1 bl Ui hIfST | 1+2+2=5

Name the two major fibre crops grown in India. Describe the conditions
required for growth of these two crops with their growing areas.

22, “fordll <91 & TSI IR i 3o ST a1 a1 2 |7 dehl dfgd e
] ~TEETd 38T | 5

“International trade is considered the economic barometer of a country.”
Justify the statement with arguments.

23. YA 39 fowmer < # H-wadla TWHR & ug *1 9l HIfu | Ix5=5
AAAT
Teare i fohedl ure faemansti o1 o i | Ix5=5
Describe the importance of a third-tier of government in a vast country like
India.
OR

Describe any five features of federalism.

24, Tr=fafea gl 1 U @ & 91d o 9 1 9gEH R PEEg hivT 5
(i)  -SMS Hihd
(i)  TRmeft sremreft gt
(i) ...

(iv) ~ Trgardl s uret
(v)  WRAE ST qréf
(vi) 3@ o

(vii) HRES scAih

(viii) SHdT & ()

(ix) TS ST g
(x) FHNETE! q1el

| 32/3/1 8
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Identify and list the following political parties as National and Regional
political parties :
) National Conference
(11) Shiromani Akali Dal
(ii1)) D.M.K.
(iv)  Nationalist Congress Party
(v)  Bharatiya Janata Party
(vi)  Shiv Sena
(viil) Forward Bloc
(viii) Janata Dal (U)
(ix) Rashtriya Janata Dal
(x)  Samajwadi Party
25. “STR § 9T g ®UI H A1 B |7 TS HINT | 5
“Exploitation takes place in the market in various ways.” Explain.
Qs v
SECTION D

26. (A) T AU ‘@’ I’ b U MU wRA &% eHIfIw W@r-AERE (I8 11 W), §
Sferd fopy U @ | 39 w1equn skl fAmferiad SRl shl wgrdr 8 gg=ne
3 3Tk Tl 9 3k FHIT Fi= 78 Warst W fafan 1x2=2

(a) & T ST&T WRATT TS HiTE 1 A= g3 |
(b) 98 T F&l § A hI Wt L A7 FREMI 1 IGIeH TR T |

B) = feu T wwa % oo W@amts § Gmfatad § 9 et @i

I I BT W RIS IR Ik A1 fIRaT 1x3=3
(i) dHS — oy

(i) it —  Yq@ 995 q°H

(iii) T —  rE 3R 3 g

(iv) BeUEle - TP TeTeArsil dTeh

(v) T N INEE IR

32031

9 P.T.O.



(A) Two features ‘@’ and ‘b’ are marked on the given political outline
map of India (on page 11). Identify these features with the help of
the following information and write their correct names on the
lines marked near them :

(a) The place where the Indian National Congress session was
held.
(b) The place from where the movement of Indigo planters was
started.
(B)  Locate and label any three of the following with appropriate symbols
on the same given political outline map of India :

(i) Hirakud — Dam

(i1)) Kochi —  Major sea port

(iii) Salem —  Iron and Steel Centre

(iv) Hyderabad -  Software Technology Park
(v) Naraura —  Nuclear Power Plant

qig:  HEIad Je7 #ac grRETad qagniaal & /g I 6T 26 F T T/
& | fa=gT aier 3991 & 3 71w -

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 26. Attempt any five questions :

(26.1) 39 TST I A (ARG, F&T Al eTe ST =T 85 |

(26.2) 3T TIM 1 9M fARgu, &l fid h Tt HH O fmEHET 3 T IwE
ferarm |

(26.3) TSHIG o 3 TN &1 91 foafgu, Sgf fhamt 4 aemrg o |

(26.4) 3T USF &1 W fifgu, @7 deart dig-3%h @ & § |

(26.5) 38 TS &1 AW feifgu, Sgt Sifa aqg o feom 2 |

(26.6) 3 TSY 1 AW faifgq, &l R 31fvaeh T fed 7 |

(26.7) 3 UsH 1 A foiflgy, &t giqe Aren aorn se9rd w3 feerd 2 | 1x5=5

(26.1) Name the State where Jallianwala Bagh incident took place.

(26.2) Name the place where the Indigo planters organised Satyagraha.

(26.3) Name the place where the peasants started Satyagraha in
Gujarat.

(26.4) Name the State where Bellary Iron-ore mines are located.

(26.5) Name the State where Kochchi Sea Port is located.

(26.6) Name the State where Naraura Nuclear Power Plant is located.
(26.7) Name the State where Durgapur Iron and Steel Plant is located.

| 32/3/1 10
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I E. 26 % fow For question no. 26

WA kT WET-HTA T (TR )
Outline Map of India (Political)
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[=] A%
SET-2
Series JMS/3 ke 32/3/2
Code No.
I 4.

wliemefi @ie 1 IW-YEdH & TE@-U8
Roll No. W 3ravd ford |

Candidates must write the Code on the
title page of the answer-book.

o FHUA JE H A foh 38 Y- § Gigd I8 10 + 1 A 3 |

o TH-UA H Fied FTU HI AR T T Shig TR Hl B IT-IEehl o JE@-I8 |
g |

o FYA E WA 70 I H 26 T 1 |

o FHUAT T T IW TGN I[E I ¥ UgeA, T T HuTeh a9 ford |

o T THUA HI UG o fo1C 15 fiFe o1 Tm fon mn @ | WeA-9F W foaw gatg
T 10.15 5 5T IT@W | 10.15 ST § 10.30 1 b B hadd IH-UF bl TeTl
3T 39 27afy o QA o ITR-Yfeqept W ig I Tal fora |

e Please check that this question paper contains 10 printed pages + 1 Map.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 26 questions.

¢ Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on
the answer-book during this period.
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Time allowed : 3 hours Maximum Marks : 80
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855
TTHT=T 3397 :
() 39 J97-97 H IR GUSI 7 [F9I5a 1397 797 8 | @ &, @U8 &, @S T 3K

Gug & |/
(i) 39 J99-99 4 $T26 FH & |
(i) G 37 S & |
(iv) HcI® J97 & 37H 3G% G 1T TT & |
(v) I 7 T A TG-FTIT I E | 9% To7 1 3% H1 5 |

(vi) Y97 G&IT 8 T 18 % Ycd%h Y97 3 3% F & | 378 & I Jo7 H IH

80 og] @ 37feres @7 781 &7 FfT |

(vii) ¥o7 G&IT 19 T 25 % Jcd% J97 5 b 7 8 | 378 & Id% J97 H I
100 3753 @ 37fere &7 987 &7 =eT |

(viii) Yo7 G&IT 26 HAEGT J97 5 37 HT & | 399 3 YT & — 26 (A) 3K 26 (B) |
26 (A) 2 37% T A5G @ 7T 26 (B) 3 37 &7 YT & & | TlGT T 97
7O &4 T 3G 91 FR-GIaHT & 3K 7791 BT |

General Instructions :

(1) The question paper is divided into four sections — Section A, Section B,
Section C and Section D.

(it)  The question paper has 26 questions in all.
(iti) All questions are compulsory.
(iv) Marks are indicated against each question.

(v) Questions from serial number 1 to 7 are Very Short Answer Type
Questions. Each question carries 1 mark.

(vi) Questions from serial number 8 to 18 are 3 marks questions.
Answers to these questions should not exceed 80 words each.

(vii) Questions from serial number 19 to 25 are 5 marks questions.
Answers to these questions should not exceed 100 words each.

(viii) Question number 26 is a map question of 5 marks with two parts 26 (A)
and 26 (B) — 26 (A) from History (2 marks) and 26 (B) from Geography
(3 marks). After completion, attach the map inside your answer-book.
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WUE &
SECTION A
1. W& o IR yiEar 6t dgh! o U foshm 1 w&w <= 81 ehat @ 2 1

AT
Toh T fopE™ o foTu foenmd =1 @& =1 &1 Hhal 8 2 1

What may be a developmental goal of a girl who belongs to a rich urban
family ?

OR

What may be a developmental goal of a rich farmer ?

2. @S H @ ThA form TR y-fAfiehtor & fofe ITRert 8 2 1
YT
TSI § AT TRENT Y-t & Tt e ITerRt 8 2 1

How are mining activities responsible for land degradation in Jharkhand ?
OR

How is overgrazing responsible for land degradation in Gujarat ?

3. HgU IT ¥ Y9 ARG | IUgfAftEt smaeh 39 § i Tl off ? 1
JrqaT
TR | sEdl Tel & IR g9kl § AfEe1st 3 sl i U@l ol e &
THI: BAlcHI®d o1 TohaT T ? 1

Why were manuscripts not widely used in India before the age of print ?

OR

Why were women and children often discouraged from reading novels in
the early decades of the twentieth century in India ?

4.  fice H g gg T TE 53T ? 1

Why did a civil war start in Sri Lanka ?

5. 1815 ifuspm ‘Eleardt vmen syagened’ 3 Wi swifd A <t giga ammft

et s & fofe deiRm o fem w5 2 1
arera
1907 ® fomraamm # Tiferd 1 TRpar oI Qiew T ? 1
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Why did most of ‘conservative regimes’ impose censorship laws to control
printed material associated with the French Revolution in 1815 ?

OR
Why was the “Tonkin Free School’ established in Vietnam in 1907 ?

6. Tids ams &1 e TRfaRE % @ e fafa | é%:z

Give two examples of economic activities of the secondary sector.

7. 9gUSHE HHAT fRE TR 3 HHIHE | e § 2 1
In what way are MNCs different from other companies ?

Qs 9
SECTION B

8. uRd # foceft faw =1 smefta 9 & fofw g 9 T=¥ TR gRT 33T MU
foredl 7 emt =1 avia AR | 1x3=3

Describe any three steps taken by the Central and State governments to
attract foreign investment in India.

9. “FU THNIHS HHT A R Thdl g |7 TH HIYT Pl qoh dlgd ~A—ETT

SIS 3
AYAT

“FUT THMICHS IERT 3T R Fhal & | 9 B hl b Algd TG
38T | 3

“Credit can play a positive role.” Justify the statement with arguments.

OR

“Credit can play a negative role.” Justify the statement with arguments.

10.  3Thol HiY & T & fUeh USHTR 8 Iq7 FohT ST Tehd & 2 Fohedl i 3umii <

ST T | 1x3=3
e

R H SRS <hl e 1 8 gU fohan ST ®ehel & ? fohedl oI Ul ht

ST HIT | 3
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How can more employment be created in agriculture sector alone ? Explain
any three ways.

OR

How can the problem of unemployment be eradicated in India ? Explain
any three ways.

11.  “9ra ¥ 4 W fafig yer 6t y-smhicar o8 St 8 17 @9 3 gt wed
! =AFETA 3gT | 1x3=3

“India has land under a variety of relief features.” Justify the statement

with three examples.

12. TH WThideh THIEHT 1 3 R foeehyash @1 & SWINT F&1 T =MMEY ? 379
foramt <t Tase Fifs | 3

Why should we use natural resources properly and judiciously ? Explain
your views.

13.  T5r0T 0 UseUsT o B9 H Afedcd # AT ? AR Hif | 3
arerat
o™ o T 8 TSI TR HIEhideh ToY o @ISl H 56 ¢ ? SRS
HIFTT | 3

How did Britain come into existence as a nation-state ? Explain.

OR

How had schools in Vietnam become an important place for political and
cultural battles ? Explain.

14.  “STferepTsT TTfUa ATl SAEATSHT o TTHA Alhdd o (IR i AT 8 |7
3eTEN Afgd sed i gfse Shifv | 3

“Most of the established democracies face the challenge of expansion.”

Support the statement with examples.

321312 5 P.T.O.



15. Sehgdt wared # [ § frE yeR a=, afeenst ot s % w9 § ad
AT | U U3 9¢ ? 3R Higd AT HIfT |
3AYUAT
JfAfees TR &l it awEg v # ¢eft Sfem @ ffa-famst @ el
SRR 1 SHed B1d H TS 311 ? IS8 Gfgd ST iy |

How had a large number of new readers among children, women and
workers increased in nineteenth century Europe ? Explain with examples.

OR

How were vernacular novels a valuable source of information on native life
and customs for colonial administration ? Explain with examples.

16. X & 11 T i T & w9 4 fafmior s & ggw o1 9viF i |
AT
HN o fohrE H TN o ANTGH T JUH hHIT |

Describe the importance of manufacturing industries as a backbone of
economic development of the country.

OR

Describe the role of industries in the development of agriculture.

17. ToHIfd | Sfd fop8 TohR 37 9 o Tehd! & ? 32180 Afgd s3I hifvu |

et
TR 3 WG F W ¥ wigenedi i feufy § F guw gen 2 3erewn wfga
T T |

How can caste take various forms in politics ? Explain with examples.
OR

How had the position of women improved in our country since
independence ? Explain with examples.

18. “Arhaiieh daeel shi 9t gohetal i ot fasuer AT # 3 17 39 A H
Ty hifs |

“Democracies have had greater success in setting regular free and fair
elections.” Analyse the statement.

3232 5



19.

20.

21.

Que T
SECTION C
TR 99 foeme oo § B=aty TR & 98 &1 9ui9 hIfSu | Ix5=5
YT
gydre <l forgl ai= fomiwansti <1 aui hifvu | Ix5=5

Describe the importance of a third-tier of government in a vast country like
India.

OR

Describe any five features of federalism.

TRTeHT et o TRl 3R TS i Taenon % fow § e wwgy ST

S T oft 2 sare i | 5
YT

TRd o fafys vrm 4 frami it siifeanfE=i 3 ‘staga st | ford IR

T T 2 s hifse | 5

How did plantation workers have their own understanding of Mahatma

Gandhi and the notion of Swaraj ? Explain.

OR

How had peasants and tribals participated in the ‘Non-Cooperation

Movement’ in different parts of India ? Explain.

AT %N § IR o 0 wRa ¥R gR1 T 7w foreel di=r drenfieha @
FEATTA R T GUMH I | Ix5=5

Describe any five technological and institutional reforms undertaken by
the Government of India to improve Indian agriculture.

7 P.T.O.
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22. 1920 % TR 39k H fohE TR STHIGHI STefedaeel IA: il | qah] i
it 2 gren wfed sATE HIT | 5
U7
el Trared] o NH gl H SR H | <l Igard 8 Hegy <l faah e
THTId 83 ? I8 Higd sAmed] hify | 5
YT
Sl FdTed H Sig o TR 3T hREHI H ShIAd o 98 U9HH W SEHTT 9
&8 TR gHETd 9e7 71 78 off 2 Serswn wfgd e hifvw | 5

How had the U.S. economy resumed its strong growth in the early 1920s ?
Explain with examples.

OR
How did the abundance of labour in the market affect the lives of workers
in England during the nineteenth century ? Explain with examples.

OR
How had widespread use of coal in homes and industries in nineteenth
century England raised serious problems ? Explain with examples.

23, “foret QU1 & AT SUR i i STfier a1 Jrar 8 |7 dehl Afgd e
&I I I8N | 5

“International trade is considered the economic barometer of a country.”
Justify the statement with arguments.

o o 0N o

24. TfaRaa ToHifas gal & g9 el T 399 Traf-aa TSl i Rt §918T : Ix56=5
i) Tl sremred g

(ii) GHTSETE! 9l
(i) U.3E.U.E.wH.%.
(iv)  qUFd "

(v)  USE SHar g
Identify and list the symbols of the following political parties with their

States :

(1) Shiromani Akali Dal
(il) Samajwadi Party

(iii)) A.ILAD.M.K.

(iv)  Trinamool Congress
(v)  Rashtriya Janata Dal
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25.. “SuviRTsTl I T HigaTslt IR SMwor o fagg @faqfd Famo &1 iR

2 1” sem it gfee hifsu |

“Consumers have the right to seek redressal against unfair trade practices

and exploitation.” Support the statement.

26. (A
(B)
(A)

32312

Qs ¥
SECTION D

T TG ‘@’ IR b’ U T wRE % TeHifoe W@AEkE (98 11 W), §
Jferd foru T B | 39 A&qon o1 FAefafga S Y wgEar @ yg=nte

IR Ik T AW Ik Trfig Tl 78 et w fafgu
(a) 9% TAM TE WA TSR HiE o1 AEYE g3 |

1x2=2

(b) 98 T S8l § A hl Wl S el ThEMI T IGIeH TR §3T |
3t feu MU wra & Ui At 8 Fefatea @ 9 et i

I ITYH FaEl | guigy 3R 3k a1 faRaw
(i) EWps - 99

(i) = - Y@ g5 9ad

(i) Tem ~ 8 3R T $g
(iv) BeUEle  —  GIFeaIR TeTeArsil dTeh

(v)

T

— e
SHTUeh il JAA

1x3=3

Two features ‘@’ and ‘b’ are marked on the given political outline
map of India (on page 11). Identify these features with the help of
the following information and write their correct names on the
lines marked near them :

(a)

(b)

The place where the Indian National Congress session was

held.

The place from where the movement of Indigo planters was

started.

P.T.O.



- (B) Locate and label any three of the following with appropriate symbols
on the same given political outline map of India :
(1) Hirakud —  Dam
(i1)) Kochi —  Major sea port
(iii) Salem —  Iron and Steel Centre
(iv) Hyderabad -  Software Technology Park
(v) Naraura —  Nuclear Power Plant
Fig:  FECTRET 397 @acl gIRanea qhgnteen & o/ 397 61 26 & €& T/
& | fabgt wier 3971 & I [o7ieT

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 26. Attempt any five questions :
(26.1) 38 ST 1 A faflgu, &1 Alcriaran s = 8 |
(26.2) 38 TAA 1 9w fafge, S fiad Hi @dt == 9 fram 3 aamE
feRarm |
(26.3) TSIA < 39 ¥IM 1 W foafgn, SaT fhami 3 geamrg foma |
(26.4) 3T USF &1 W fafge, &7 deart dig-37h T T § |
(26.5) 3 TSA 1 AW fafaw, S&T wifa Tl oo fea 7 |
(26.6) 39 U= &1 9W faRge, S@t 70w mfvees ga foorg 2 |
(26.7) I8 TS 1 AW fARgy, J&f gL ARl a1 $697q &7 @ 8 | 1x6=5
(26.1) Name the State where Jallianwala Bagh incident took place.
(26.2) Name the place where the Indigo planters organised Satyagraha.

(26.3) Name the place where the peasants started Satyagraha in
Gujarat.

(26.4) Name the State where Bellary Iron-ore mines are located.

(26.5) Name the State where Kochchi Sea Port is located.

(26.6) Name the State where Naraura Nuclear Power Plant is located.
(26.7) Name the State where Durgapur Iron and Steel Plant is located.
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[=] A%
SET-3
Series JMS/3 ke 32/3/3
Code No.
I 4.

wliemefi @ie 1 IW-YEdH & TE@-U8
Roll No. W 3ravd ford |

Candidates must write the Code on the
title page of the answer-book.

o YA FE H A foh 38 Y97 § Gigd I8 10 + 1 THH 3 |

o TWH-UA H Fied FTU HI AR T T Hig TFRK I BF ITL-IEehl o JE@-I8 |
g |

o FYA E WA 70 I H 26 T 1 |

o HUAT T 1 IW {TEHT & HIH ¥ UgeA, T T THuTeh 99 ford |

o T YHUA HI UG o fo1C 15 fire o1 Tm fon mn @ | WeA-9w W foaRo qatg
T 10.15 5 5T IT@W | 10.15 ST § 10.30 1 b B hadd IH-UF bl TeTl
3T 39 27afy o QA o ITR-Yfedept W ig I 81 fore |

e Please check that this question paper contains 10 printed pages + 1 Map.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 26 questions.

¢ Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on
the answer-book during this period.

e SERCHIC]

SOCIAL SCIENCE

FEiRa 77 : 3 T2 S7feHTH 37 : 80

Time allowed : 3 hours Maximum Marks : 80
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[=][=l

855
TTHT=T 3397 :
() 39 J97-97 H IR GUSI 7 [F9I5a 1397 797 8 | @ &, @U8 &, @S T 3K

Gug & |/
(i) 39 J99-99 4 $T26 FH & |
(i) G 37 S & |
(iv) HcI® J97 & 37H 3G% G 1T TT & |
(v) I 7 T A TG-FTIT I E | 9% To7 1 3% H1 5 |

(vi) Y97 G&IT 8 T 18 % Ycd%h Y97 3 3% F & | 378 & I Jo7 H IH

80 og] @ 37feres @7 781 &7 FfT |

(vii) ¥o7 G&IT 19 T 25 % Jcd% J97 5 b 7 8 | 378 & Id% J97 H I
100 3753 @ 37fere &7 987 &7 =eT |

(viii) Yo7 G&IT 26 HAEGT J97 5 37 HT & | 399 3 YT & — 26 (A) 3K 26 (B) |
26 (A) 2 37% T A5G @ 7T 26 (B) 3 37 &7 YT & & | TlGT T 97
7O &4 T 3G 91 FR-GIaHT & 3K 7791 BT |

General Instructions :

(1) The question paper is divided into four sections — Section A, Section B,
Section C and Section D.

(it)  The question paper has 26 questions in all.
(iti) All questions are compulsory.
(iv) Marks are indicated against each question.

(v) Questions from serial number 1 to 7 are Very Short Answer Type
Questions. Each question carries 1 mark.

(vi) Questions from serial number 8 to 18 are 3 marks questions.
Answers to these questions should not exceed 80 words each.

(vii) Questions from serial number 19 to 25 are 5 marks questions.
Answers to these questions should not exceed 100 words each.

(viii) Question number 26 is a map question of 5 marks with two parts 26 (A)
and 26 (B) — 26 (A) from History (2 marks) and 26 (B) from Geography
(3 marks). After completion, attach the map inside your answer-book.
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@vusg <h
SECTION A

1. 9R@E # @ Tt ford yepr y-frfientor 6 foe ARt & 2 1
YT
TSI § AT IRENT Y-Feehtr & ot e ITRErR 7 2 1

How are mining activities responsible for land degradation in Jharkhand ?
OR
How is overgrazing responsible for land degradation in Gujarat ?
2. W& % R ufEr FI v dgh! o T Tk =1 & =1 g1 Gehdl B ? 1
HAAAT
U T foRa % fote faemra o1 oter s &1 wehar 8 2 1

What may be a developmental goal of a girl who belongs to a rich urban
family ?

OR
What may be a developmental goal of a rich farmer ?

3. 1815 Afeehat ‘Efgard weA syaeensti’ 3 HiEtE sifd & L Yiga amf i

et s & fofe deiRe o fem @i s 2 1
aterdn
1907 ® foraam § Tiferd st &t AT @ier T 2 1

Why did most of ‘conservative regimes’ impose censorship laws to control
printed material associated with the French Revolution in 1815 ?
OR

Why was the ‘Tonkin Free School’ established in Vietnam in 1907 ?
4. 9 3R %9 dieH A ARl dfeaad H AR SR § qHRING e
[ERIRICIN 1

How were Dutch and French speaking people accommodated in the
‘Community’ Government in Belgium ?

5. HgU I Y qE NG H IIUIATT ek 39 H I Aal off ? 1
T
Rd # el adt < IR quehl | Afgatstl 3R S=il Sl I9=ATE i 9eH &
ITI: galcaTtga il foham T 2 1

321313 3 P.T.O.



Why were manuscripts not widely used in India before the age of print ?

OR

Why were women and children often discouraged from reading novels in
the early decades of the twentieth century in India ?

6. I S g g b S fRedl 3 Henyd Saneit % sqew fafaw | §+§:1

State any two examples of the basic services provided by the tertiary
sector.

7. Tl @ € Il wrafEl o qm faRae, S SgusEE SRl o ®9 H 3wl

: 1 1
g | Z4=1
2 2
Name any two large Indian companies that emerged as multinational
companies.
w|is g
SECTION B

8.  TH Wehlieh HETEHT 1 3fa IR fodehygs &1 & 3TN HT AT AMMGY ? 3T
foam &1 Tse T | 3

Why should we use natural resources properly and judiciously ? Explain
your views.

9.  IThal BN &F H F AR TTTR hH 39 fohu 571 &kl 7 2 ol fH 3umii
ST T | 1x3=3

atera
R H SRS <hl {9 1 8 gU fohal ST ®ehel & ? fohedl oI Ul h
ST HIT | 3

How can more employment be created in agriculture sector alone ? Explain
any three ways.

OR

How can the problem of unemployment be eradicated in India ? Explain
any three ways.

| 32/3/3 4



10.

11.

12.

13.

14.

“FuT AHRICHS HRT 3G HL Tehdl & |7 39 HAT Pl qoh dfgd ARG

38T | 3
HAYAT
“FRU1 THRICHS USRI G H Hehdl & |7 38 HIA hl deh Higd AFETA
CIUE 3
“Credit can play a positive role.” Justify the statement with arguments.
OR

“Credit can play a negative role.” Justify the statement with arguments.
“UTa Rkl 3 YW % TR § ged e FEE 7 17 @ 3T g
Y DI ARIET IUST | 1x3=3

“Human activities have contributed significantly in land degradation.”

Justify the statement with three examples.

ORd § foesft fFaw =1 smewftd @ & U &g 9 U9 9 [ grir 381U U
for-gl 19 shemt =1 auig HifT | 1x3=3

Describe any three steps taken by the Central and State governments to
attract foreign investment in India.

TSI | ST ford TohR 379k &9 o Tehdl g 2 SCTEUN Ffgd oAl <hIfaT | 3
AYAT

TR W H TG F 9g § wigenstt H Tufy # F gur gon 2 qwwn At

=TT i | 3

How can caste take various forms in politics ? Explain with examples.

OR

How had the position of women improved in our country since
independence ? Explain with examples.

“STI SR TSHITG 1 GEIA 1 HI9 T A T T 8 |7 HIA
gfee IeTETer gt T | 3

“Legal ways of reforming politics need to be resisted.” Support the

statement with examples.

5 P.T.O.



15. “AreRditeh SHeedT S 9! ghadl A R g IAmEi § 7 17 39 HAH H
fereetyor iR |

“Democracies have had greater success in setting regular free and fair
elections.” Analyse the statement.

16. 5o 8 Usg-Tsg & &9 | Aftdead T 31T 2 =4t iy |
srat
fora T o el hH TSHITaeh 3R HTER{de TN & @ISl H 95 ¢ ? SATE
HIRT |

How did Britain come into existence as a nation-state ? Explain.

OR

How had schools in Vietnam become an important place for political and
cultural battles ? Explain.

17. 3EEd vaed ® U9 § fohd YR s, mfgansti i i W ®9 § a9l
&I § AU U3k 9¢ ? ICTEWN Uigd AT shifay |
AT
fafafies @R w1 et W Su=mEl # 2ot Sfew 9 Ofq-fet @ g
SRR 1 TEHeH G hel AL AT ? ISR Algd AT FHIT |

How had a large number of new readers among children, women and
workers increased in nineteenth century Europe ? Explain with examples.

OR

How were vernacular novels a valuable source of information on native life
and customs for colonial administration ? Explain with examples.

18. <X o Mk forehre i g & w9 ° fafmior 3awm & 78w 1 aviF i |

HAAT
FN o fohrE H 3TN o ANTGH T JUH hITIT |

Describe the importance of manufacturing industries as a backbone of
economic development of the country.

OR

Describe the role of industries in the development of agriculture.

| 32/3/3 5



Qs 1
SECTION C

19. “forell <91 o TS AR o1 SATfeleh ST et STt ' |7 dehl |fgd sed
! IET 38UsT | 5

“International trade is considered the economic barometer of a country.”
Justify the statement with arguments.

20. YRGS foume gu # B-vala T % g w1 avia i | Ix5=5
HAAAT
goare <l forgl ura fawarstt &1 9uiq hifse | Ix5=5
Describe the importance of a third-tier of government in a vast country like
India.
OR

Describe any five features of federalism.

21. ISk iy i fehegl i formmanati w1 avi il | Ix5=5

Describe any five features of commercial farming.

22.  TgTe et % foemi o TUs i s@uren % fIww § SWH Awel i T

S T oft 2 sarE i | 5
Y

TG o ot vy § foraml ot stfearfimt 3 ‘stagam afeiad’ ° ford Tt

T ot 2 s hifv | 5

How did plantation workers have their own understanding of Mahatma

Gandhi and the notion of Swaraj ? Explain.
OR
How had peasants and tribals participated in the ‘Non-Cooperation

Movement’ in different parts of India ? Explain.

321313 7 P.T.O.



E5
23. 1920 % YR g H fhg TR STHTNGEH! refedawen GH: oSl ¥ auaeh! i
ot ? 3gEwn |fgd smE i | 5
HAYAT
JATEE] AR % G Fis H SR H o sl 9gdrEd 8 HegU i (Wel hH
T 83 ? 3GTe Higd SATed] iy | 5
HAYAT
Sl FdTedl H Sig o BRI 3T hREHI H ShIAd o g8 UHH W SEHTT 9
&8 TR gaETd Oe7 71 8 off 2 Serswn wfgd e hifvw | 5

How had the U.S. economy resumed its strong growth in the early 1920s ?
Explain with examples.

OR

How did the abundance of labour in the market affect the lives of workers
in England during the nineteenth century ? Explain with examples.

OR

How had widespread use of coal in homes and industries in nineteenth
century England raised serious problems ? Explain with examples.

24, U= USAl o AW A9 fGu U @ | 3 9 yAS UsH o el T & Ui

T I 38k gAa g dfea foafaw | Ix5=5
i) SRR

(i) ~ AeTg

(iii) HENISg

(iv) 9™

(v) S I

Names of five States are given below. Write the name of any one regional
political party of each State with election symbol.

(1) Jammu & Kashmir

(i1))  Tamil Nadu

(111) Maharashtra

(iv) Assam

(v)  Uttar Pradesh

| 32/3/3 8



25. “Swire F aege ¥ R o darei B wRe % R gl @
AR BT 7 |7 e i gfee HifT |

“Consumers have the right to be protected against the marketing of goods

and services.” Support the statement.

26. (A)
(B)
(A)

321313

Qs ¥
SECTION D

T AU ‘@’ IR b’ iU T wRE Wk Yoo W@I-AHEE (98 11 W), |
3ifera fope T € | 37 @aont A frefofaa e 6t Femar & gg=ie
3R 3Tk T A I g i 18 w@redi w el

(a) 9% TAM TET WRA TS HiE 1 AREYE g |

1x2=2

(b) % T &I § A I @l T ATl hHMI I QA TR G |

) feu U WRa & UoHifae W@-AERT |

I 3T BT A gRisy 3R Ik 919 fRaw
() BTWHE - 4

(i) = - Y@ g5 9ad

Gii) ¥~ el SR g g
(iv) BEUEIE  —  HIFCAIL SIS aTeh
(v) W —  nfuass ot WA

[ N NI o

(HHlAEd

H W faegt div
1x3=3

Two features ‘@’ and ‘b’ are marked on the given political outline

map of India (on page 11). Identify these features with the help of

the following information and write their correct names on the

lines marked near them :

(a) The place where the Indian National Congress session was

held.

(b) The place from where the movement of Indigo planters was

started.

P.T.O.



- (B) Locate and label any three of the following with appropriate symbols
on the same given political outline map of India :
(1) Hirakud —  Dam
(i1)) Kochi —  Major sea port
(iii) Salem —  Iron and Steel Centre
(iv) Hyderabad -  Software Technology Park
(v) Naraura —  Nuclear Power Plant
Fig:  FECTRET 397 @acl gIRanea qhgnteen & o/ 397 61 26 & €& T/
& | fabg wier 7971 & I [o7iET

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 26. Attempt any five questions :
(26.1) 38 ST 1 A faflgu, &1 Alcriaran s = 8 |
(26.2) 38 TAA 1 9 fafge, S fiad Hi @dt == 9 fram 3 aoamE
feRarm |
(26.3) TSIA < 39 ¥IH 1 W foafgn, SaT fhami 3 aemg fome |
(26.4) 3T USF &1 W fafge, &7 deart dig-37h T T § |
(26.5) 3 TSA 1 AW fafaw, ST wifa Tl oo+ foa 7 |
(26.6) 39 U= &1 9W faRge, S@t 70w mfvees ga foorg 2 |
(26.7) 39 USF 1 A fAfgy, J&T gL AreT aon $e97a J feorq 2 | 1x5=5
(26.1) Name the State where Jallianwala Bagh incident took place.
(26.2) Name the place where the Indigo planters organised Satyagraha.

(26.3) Name the place where the peasants started Satyagraha in
Gujarat.

(26.4) Name the State where Bellary Iron-ore mines are located.

(26.5) Name the State where Kochchi Sea Port is located.

(26.6) Name the State where Naraura Nuclear Power Plant is located.
(26.7) Name the State where Durgapur Iron and Steel Plant is located.

| 32/3/3 10



[=];[=]
[=] %
I E. 26 % fow For question no. 26

WA kT WET-HTA T (TR )
Outline Map of India (Political)

68° i 76° 80° 84° 88° 92° 96° 100°
] T T 1 1 I | I I

360 360

Rl 32°

28° 2g°

2° 24°

20° 20°

16° 16°

19¢ 12°

80 80

km100 0 10Q 300 500 km

1°F

1 1 1 1 1 1
r 76° 80° 84° 88° 92° 96°

11




[=][=l

[=] e
SET-1
Series JIMS/4 Eackl
Code No. 32/4/1
T 4.

wliemefi @ie 1 IW-YEdH & TE@-U8
Roll No. W 3ravd ford |

Candidates must write the Code on the
title page of the answer-book.

o YA FE H A foh 38 Y97 § Gigd I8 10 + 1 THH 3 |

o TH-UA H Fied FTU HI AR T T Shig TR Hl B IT-IEehl o JE@-I8 |
forg |

o FYA E WA 70 I H 26 T 1 |

o FHUAT T T IW TEHT I[E I ¥ UgeA, T T THuTeh a9 ford |

o T THUA HI UG o fo1C 15 fiFe o1 Tm fon mn @ | WeA-9F W foaw gatg
T 10.15 5 5T IT@W | 10.15 ST § 10.30 1 b B hadd IH-UF bl TeTl
3T 39 AT & G d IT-YfEdehl W hig ST g 1@ |

e Please check that this question paper contains 10 printed pages + 1 Map.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 26 questions.

¢ Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on
the answer-book during this period.

I NS CAERIC]

SOCIAL SCIENCE

FEiRa 77 : 3 T2 S7feHTH 37 : 80

Time allowed : 3 hours Maximum Marks : 80

32041 1 P.T.0.




[=][=l
[=] &%

Wﬁﬁw:

(i)
(ii)
(iit)
(iv)
(v)
(vi)

(vii)

(viii)

34 Y97-97 %1 TR GUS] H [G97f5id 137 77 & | @V %, @IS &, TUS T 3K
U8 7 |

3G Y97-97 H $He726 T 8 |

&%t o7 i & |

TP o7 @ b 3G G T T F |

Yo7 &1 @7 % 3ld TG-ITIT FeT 8 | F%F FoH 1 b BT 8 |

Y97 G&IT 8 & 18 % Yl Y97 8 3% #1 & | 594 & Y% Fo7 H FH

80 og] @ 37feres @7 781 &7 FfT |

J97 G&IT 19 T 25 T Y% G4 5 3% F & | 590 & J9b Y97 HT FH
100 3753 @ 37fere &7 987 &7 =eT |

J97 G&IT 26 HAIET Y97 5 3% H1 & | 399 31 917 & — 26 (A) 37K 26 (B) |
26 (A) 2 37% T A5G @ 7T 26 (B) 3 37 &7 YT & & | TlGT T 97
7O &4 T 3G 3T IR-GIabT B 3T 771 BT |

General Instructions :

(i)
(ii)
(iii)
(iv)
(v)
(vi)
(vii)

(viii)

The question paper is divided into four sections — Section A, Section B,
Section C and Section D.

The question paper has 26 questions in all.
All questions are compulsory.
Marks are indicated against each question.

Questions from serial number 1 to 7 are Very Short Answer Type
Questions. Each question carries 1 mark.

Questions from serial number 8 to 18 are 8 marks questions.
Answers to these questions should not exceed 80 words each.

Questions from serial number 19 to 25 are 5 marks questions.
Answers to these questions should not exceed 100 words each.

Question number 26 is a map question of 5§ marks with two parts 26 (A)
and 26 (B) — 26 (A) from History (2 marks) and 26 (B) from Geography
(3 marks). After completion, attach the map inside your answer-book.

| 32/4/1 2



@vusg <h
SECTION A

1. 1848 H Hfgsh @iy 7 oM i # woesff wegfa &I i 2 T R0 T
hifoTe | 1
AT
foRIa-™ § <ifehd Shl TR 1 WAl 71 ? Teh U TS HIT | 1

Why did Frédéric Sorrieu present utopian vision in his prints in 1848 ?
Explain one reason.

OR

Why was the Tonkin Free School started in Vietnam ? Explain one
reason.

2. 9RA H IEdl T % SNH $© ATG1-Un IURE 1 I Sl 6l Igd § e
i W 3 ? 1
AAgAT
et wt o e 3 Gft 39 R g B A = 2 1
Why had some parents kept novels away from their children’s reach during
19th century in India ?
OR

Why had Englishmen demanded a clamp down on the ‘Vernacular Press’ in
the 19tk century ?

8. IS hl HHA IJMH o TC qad AT ITYH 7T -1 7 2 1
HYAT
YR H H-H ga1 Faiiee foegd ®9 9 Hefl 3R ggwqu & ? 1
Which type of soil is most suitable for growing the crop of cashew nut ?
OR

Which type of soil in India is most widespread and important ?

32041 3 P.T.0.



4. 39 W w1 9W fafan, & 1956 % g I g 3w o g w1 w9
fomm | 1
Name the country where ethnic struggle led to violence and revolt after
1956.

5. ‘il 1 1Y T HINT | 1

HAYAT

TR o d a6 gy won & SNu=ies |idi o e hl SAravehdl ST Il
e HifT | 1
Explain the meaning of ‘Currency’.

OR

Explain the reason for necessity of supervision by the Reserve Bank of
India of formal sources of loans.

6. AU H HER Mefiehl o JeE 1 fovemor Sifs | 1

Analyse the contribution of communication technology in globalisation.

7. WM <ifoe f5 Ut faoiell &1 amE (SueRn) @leT 8, 9 39 WM W
TUTERT o T 379 -9 S 31 31eg fag g@nt ? 1

Suppose you have to buy electrical equipments, which logo or mark of
quality will you see on the equipments ?

Qs @
SECTION B

8.  IEEdl YA % GRH JUUSTERT & st= Usgarg WaHTsTi &l fasid & o
FHTHIETE <! ffieht T U HIT | 3
AYAT
BT F13T1 TGIa oI, To=raeTd shi TsCare! JEIgW o €9 § JUH HiT | 3

Describe the role of Romanticism in developing nationalist feelings among
Europeans during nineteenth century.

OR

Describe Hoa Hao movement as a mainstream nationalism of Vietnam.

| 32/4/1 4



9. “Yna ° AT wd & 7q H IIfd-Ag % TR § qlE-ats sl giga gieaehrsti 31
faeei # foran S o o |7 3| e o i & SuFh Serewl afga hifse | 3
HAYAT
“Urag % fOhE ITRTEl W 9 SHERl Jodl W STEId §HNS SEId feEd
& 1”7 38 e sl e 2 Iuh IS Hfgd I | 3

“Issues of caste discrimination began to be written about in many printed
tracts and essays in India in the late nineteenth century.” Support the
statement with two suitable examples.

OR

“Premchand’s characters in different novels create a community based on
democratic values.” Support the statement with two suitable examples.

10. “9g3M 9RESEN SR §g Y I AT HHINH IGIEH o HRU &4 T

2 1”7 U8 ITeiedl 9 grIf-ad FUI ol SIMR hifaY | 3
YT

“OrYTier aNT-ST TURY YOS STl TR0 3 Tl WUSRYT & forw Iwanf B |7

TG YUl <hl Tl bl &l 3| digd IR shifvw | 3

“Multi-purpose projects and large dams have been the cause of many new
social movements.” Highlight the concerns related to such movements.

OR

“Traditional harvesting system is a useful system to conserve and store
water.” Highlight the importance of this system with two examples.

11.  Tl% I g 3TN T I g o o9 foheal diF ST hl IAFR HIT | 1x3=3

Highlight any three differences between Kharif cropping season and Rabi
cropping season.

12. had H T TEemEl fer (T9-3meH) i wiei SR SISt 1 Yo
HIT | 3

3UAT
T H T ShT HISER Ugfa o1 Poolish iy | 3

Evaluate the strengths and limitations of local self-government in a
democracy.

OR
Evaluate the power sharing system in India.

32041 5 P.T.0.



13.

14.

15.

16.

17.

18.

“Griiies faveFl & S S 98 & folu dlehdd g9l 3 T=<a1 ali & |7
HUA hI RN IFUST | 3

“Democracy is the best way to accommodate social division.” Justify the
statement.

“Dreprardl 1 9 &1, AT sl HhaIdT ! TaTEl a1 & |7 3eTevil |fed e
i gfee shifvm | 3

“Complaints are treated as testimony to the success of democracy.”
Support the statement with examples.

“ad o qort & fore Iwerht ], 9t 98 StEWarsti i fodr wendt B 17
ST Tqehi Algd e hi Ifse T | 3

“Average income is useful for comparison but it may hide disparities.”
Support the statement with suitable arguments.

Sl MR Tt |iufet & Stot wur ¢ i Tfafaferi o wwer & § sem
o forrgl i sron <Al same IS | I1x3=3

Explain any three reasons for the banks and cooperative societies to
increase their lending facilities in rural areas.

Jvefientur o fehegl ofiF AT ST HeATeh SHIfSTT | 1x3=3
HAYAT
SRS HEA(T o feheg] dIF ATHT 1 JeATRA 1T | 1x3=3
Assess any three advantages of globalisation.
OR

Assess any three advantages of multinational corporations.

ITHIRIST o [T G I o SRR (JIME.3TE.)’ o 5w o1 aviF i | 3
HYAT

ITHAISTT o ToT “@faqfd famer s 1feshR’ & #gwa &1 aui i | 3

Describe the importance of the ‘Right to Information (RTI)’ for consumers.

OR

Describe the importance of the ‘Right to Seek Redressal’ for consumers.

| 32/4/1 6



G}
@UE T
SECTION C
19. Il 9t & SH WRa A sfYd yarEt sftent fY feufa @ avia Hifs 5
areran
IR o TRIYeh U] T I o6 s #§ fiest &1 avi hife | 5
areran
St wd % o # o el v F wow § g (qrad) § ftr R’
TshAT T U HIT | 5

Describe the condition of indentured labour that migrated from India
during the nineteenth century.

OR

Describe the role of early entrepreneurs of India in the development of
industries.

OR

Describe the ‘land reclamation’ process in Bombay during the late
nineteenth and the early twentieth centuries.

20. HgeHT et 3 Aoy Ta3m AR = IR foRAT 2 39 3Teied J oW I fhd

YR AT ? ST HIfTT | 5
reran

HETCHT et 7 ‘STEgAN MG F1 I[E fohaT ? 39 3TRIeH 4 ¥ ol fohd TR

SfreT ? S Hifre | 5

Why did Mahatma Gandhi start the ‘Civil Disobedience Movement’ ? How
did this movement unite the country ? Explain.

OR

Why did Mahatma Gandhi launch the ‘Non-Cooperation Movement’ ? How
did this movement unite the country ? Explain.

32041 7 P.T.0.



21. DIIATIR % &7 F 37t 359 TR 3R wiEr iR e Sewit % THET B
IO sl T HIfT |

Explain the reasons for concentration of iron and steel industries in and
around Chotanagpur region.

22. Torelt <@ o foom@ o foau, qd smfea & &9 § aiEgd o @19l o " ol
TS HITY |

Explain the importance of means of transport as a prerequisite for the
development of a country.

23. fafim el o1 avie HifSe, [ mesm 9 vra | afgast & @y dSewrg 31t

31 SHA BT 2 |

Describe the different ways through which women face discrimination and
oppression in India.

24, TIhad H TSHITGH ol ol YHERT i T HINT |
tuan
AR W TSI el <hl STTAYIRT hl SRS HIT |
Explain the role of Political Parties in a democracy.

OR

Explain the necessity of Political Parties in a democracy.

25. <3 o 3T IRt § HESI-eh &5k o JNTEH hl ITTR hIT |

Highlight the contribution of public sector in the economic development of

a country.

| 32/4/1 8



Ol

26. (A
(B)
(A)
(B)

32041

T AT ‘@’ I

IR Ik T AW 3ok Trfig Tl 78 e w fafge -
(a) 9% TN TET YR TS HiE H1 AREIE g |

wus ¥
SECTION D

b’ o U wRa & TeHiTae W@-AEEE (98 11 |), |
3ferd foru T B | 39 I 1 FAfafga St Y wgrEar @ yg=ne

1x2=2

(b) 98 AN Sl mefsh 9 fiad Al @dl v a1l fha il o 981 O 9camig

1x3=3

T fema |
34 feu U WwRa & ToHifaes W@aEtes § FeEfatad O 9 gt diT
I ITYH Faal | guiigy 3R Ik a1 fafaw
(i) dEge —  3TTiogeh el HIA
(i) g™Mg - 99
(iii) WAl —  GFRII TeTATSI dTeh
(iv) ®ieel - 9@ "G 9o

(v) §‘liEI

ATET 3TN 3T I

Two features ‘@’ and ‘b’ are marked on the given political outline
map of India (on page 11). Identify these features with the help of
the following information and write their correct names on the
lines marked near them :

(a) The place where the Indian National Congress Session was

held.

(b) The place from where Gandhiji organized Satyagraha in favour
of Indigo planters.

Locate and label any three of the following with appropriate symbols
on the same given political outline map of India :

(i) Tarapur

(ii) Tungabhadra —

(ii1) Mohali
(iv) Kandla
(v) Durgapur

Nuclear Power Plant

Dam

Software Technology Park
Major Sea Port

Iron and Steel Plant

P.T.O.



ofio

s

Fig:  FECTRET 397 @acl giRaTaa qhgntedel & o/ 3o7 61 26 & €& T/
& | fasegt uiwr ol & I forfa

Note: The following questions are for the Visually Impaired Candidates

only, in lieu of Q. No. 26. Attempt any five questions :
(26.1) TGN MGIe ! I T4 & Faferd T w1 9 foafen |

(26.2) WA TS HIE I TS Hal 3T AT ?

(26.3) Sifcrateren a1 w1 fohw Usa H wfed g8 ?

(26.4) TG (VR Hott w97 fohg Tsa # oo B 2

(26.5) 39 TS =1 A faRaw, S&T Mgl afved=r Taretis ureh oo 7 |

(26.6) I8 TS 1 AW [ARGY, &N YL ATET 3TN 89Tq T 6o 2 |

(26.7) HISAT TG I WRA o Toh8 q¢ W @ B 2 1x5=5

(26.1) Name the place related to the calling off of the Non-Cooperation
Movement.

(26.2) Where was the Indian National Congress formed ?
(26.3) In which State did Jallianwala Bagh incident happen ?
(26.4) In which State is Tarapur Nuclear Power Plant situated ?

(26.5) Name the State where Mohali Software Technology Park is
situated.

(26.6) Name the State where Durgapur Iron and Steel Plant is located.
(26.7) On which coast of India is Kandla Sea Port located ?

| 32/4/1 10
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[=] e
SET-2
Series JIMS/4 Eackl
Code No. 32/4/2
T 4.

wliemefi @ie 1 IW-YEdH & TE@-U8
Roll No. W 3ravd ford |

Candidates must write the Code on the
title page of the answer-book.

o YA FE H A foh 38 Y97 § Gigd I8 10 + 1 THH 3 |

o TH-UA H Fied FTU HI AR T T Shig TR Hl B IT-IEehl o JE@-I8 |
g |

o FYA E WA 70 I H 26 T 1 |

o HUAT U T I foI@HT I[& &t | Uget, U 1 shATSh Hayd o |

o 39 WU Wl UG o [T 15 e 1 w0 fean mn 8 | w9 1 faawn qahs
T 10.15 5 5T IT@W | 10.15 ST § 10.30 1 b B hadd IH-UF bl TeTl
3T 39 AT & GRA o IT-YIEdh! T g I &1 fore |

e Please check that this question paper contains 10 printed pages + 1 Map.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 26 questions.

¢ Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on
the answer-book during this period.

I NS CAERIC]

SOCIAL SCIENCE

FEiRa 77 : 3 T2 S7feHTH 37 : 80

Time allowed : 3 hours Maximum Marks : 80

320412 1 P.T.0.




[=][=l
[=] &%

Wﬁﬁw:

(i)
(ii)
(iit)
(iv)
(v)
(vi)

(vii)

(viii)

34 Y97-97 %1 TR GUS] H [G97f5id 137 77 & | @V %, @IS &, TUS T 3K
U8 7 |

3G Y97-97 H $He726 T 8 |

&%t o7 i & |

TP o7 @ b 3G G T T F |

Yo7 &1 @7 % 3ld TG-ITIT FeT 8 | F%F FoH 1 b BT 8 |

Y97 G&IT 8 & 18 % Yl Y97 8 3% #1 & | 594 & Y% Fo7 H FH

80 og] @ 37feres @7 781 &7 FfT |

J97 G&IT 19 T 25 T Y% G4 5 3% F & | 590 & J9b Y97 HT FH
100 3753 @ 37fere &7 987 &7 =eT |

J97 G&IT 26 HAIET Y97 5 3% H1 & | 399 31 917 & — 26 (A) 37K 26 (B) |
26 (A) 2 37% T A5G @ 7T 26 (B) 3 37 &7 YT & & | TlGT T 97
7O &4 T 3G 3T IR-GIabT B 3T 771 BT |

General Instructions :

(i)
(ii)
(iii)
(iv)
(v)
(vi)
(vii)

(viii)

The question paper is divided into four sections — Section A, Section B,
Section C and Section D.

The question paper has 26 questions in all.
All questions are compulsory.
Marks are indicated against each question.

Questions from serial number 1 to 7 are Very Short Answer Type
Questions. Each question carries 1 mark.

Questions from serial number 8 to 18 are 8 marks questions.
Answers to these questions should not exceed 80 words each.

Questions from serial number 19 to 25 are 5 marks questions.
Answers to these questions should not exceed 100 words each.

Question number 26 is a map question of 5§ marks with two parts 26 (A)
and 26 (B) — 26 (A) from History (2 marks) and 26 (B) from Geography
(3 marks). After completion, attach the map inside your answer-book.

| 32/412 2



@vusg <h
SECTION A

1. ‘S &1 31 Tose hifsru | 1
STt

TR o d de6 gra swon o Sfu=ies |idi o e fl SAreavEehdT s Il
e HifT | 1
Explain the meaning of ‘Currency’.

OR

Explain the reason for necessity of supervision by the Reserve Bank of
India of formal sources of loans.

2. IS hl HHA IMH h TTC qa9 AT IUYH 71 HiH-HT 7 2 1
HAAAT
IRd # HH-E g1 daifen foeqa w9 @ Sefl o mewqu 2 2 1
Which type of soil is most suitable for growing the crop of cashew nut ?

OR

Which type of soil in India is most widespread and important ?

3.  WRA H IAHEl T4l % SH $© AT IT=AET I I ST hl I5T H SqTE
i W@d o ? 1
AT
STl T § IS A <Rft I B 5 B hI [T R 2 1
Why had some parents kept novels away from their children’s reach during
19th century in India ?

OR

Why had Englishmen demanded a clamp down on the ‘Vernacular Press’ in
the 19th century ?

320412 3 P.T.0.



o

39 ¢9 o AW fafen, SEf d@foum § 9R R genee s e St S
Trehldeh fofoaerdrati st gt fomam |

Name the country where the Constitution was amended four times to
accommodate the regional differences and cultural diversities.

1848 H Hhigh A 7 394 oAl § w@oAcefl segfa &I hl ? T HRU T
HIT |

AT

forIaT # Zifehd ShT That SRIT I 7T ? Toh ShRUT TR HIT, |

Why did Frédéric Sorrieu present utopian vision in his prints in 1848 ?
Explain one reason.

OR

Why was the Tonkin Free School started in Vietnam ? Explain one
reason.

Aveltentor § iy gfiaga & Inre &1 fagawor hifse |

Analyse the contribution of fast transport in globalisation.

fersTefl o IUhIUT TR T[UTaTT < hiH-H1 316g g () Afchd grar & 2

Which logo of quality is marked on the electrical instruments ?

RCCRC]
SECTION B

“Sg-3e TRESHTY 3R S5 Sy 3 T WIS HAGEHI % HRUT &1 Y
21”7 U8 TeIaHl O graf-d gUehil sl ISR shifoy |

AT
“Orafies aNT-STd TURY YUITeA! STl TR0 3R A WUSRYT & fow 3wt 7 |7
Y YUTTAT <hl Hgdl bl @ 32N dfgd ITTR hifY |

“Multi-purpose projects and large dams have been the cause of many new
social movements.” Highlight the concerns related to such movements.

OR

“Traditional harvesting system is a useful system to conserve and store
water.” Highlight the importance of this system with two examples.

| 32/412 4



10.

11.

12.

13.

14.

JUATEIAT o fIT GEAT 9 o ATURR (MR, )’ & T Hl 9UH T | 3
HAYAT

9IRS o T “erfagfd famer s @1fehr’ & #ewa 1 aui i | 3

Describe the importance of the ‘Right to Information (RTI)’ for consumers.

OR

Describe the importance of the ‘Right to Seek Redressal’ for consumers.

Jeeftertur < foheal <fiF AT T o hIfT | 1x3=3
HAAAT
FEUSEA HHAAT o Tohea] A TTHI 1 Yoo HINT | 1x3=3
Assess any three advantages of globalisation.
OR

Assess any three advantages of multinational corporations.

TRIYeh Sfeeht HiY TR AIISHS FN H Hig qH T IATR HINT | 3

Highlight any three differences between primitive subsistence farming and

commercial farming.

“aa o ga & fofe w8, 9 98 srEmEdarett @ feur wehdt 7 17
U Rl Afgd HeH i gfse i | 3

“Average income is useful for comparison but it may hide disparities.”
Support the statement with suitable arguments.

“qra ° 3+t oft Sirfaera steEEan fommm g 17 e i @ Hifvu | 3

“Caste inequalities are still prevalent in India.” Examine the statement.

Senl 3R Tghr) |fufaal i 39 o7 <4 hi nidfafe=y st amor &= § dgn
o Tergl i sron <A1 sameat ISy | 1x3=3

Explain any three reasons for the banks and cooperative societies to
increase their lending facilities in rural areas.

320412 5 P.T.0.



16.

17.

18.

T waredl W G JUUETRET W S UsgaTd! WTEHTett i o s

FHTHIETE <t ftieht w1 Ui HIfT | 3
3AYUAT

BT g1 3TGIa o1, fo=raeTg shi Tscardl JEIgn o €9 § Ui i | 3

Describe the role of Romanticism in developing nationalist feelings among
Europeans during nineteenth century.

OR
Describe Hoa Hao movement as a mainstream nationalism of Vietnam.
“ar ® It T % o7 § Sf-AE % R H dg-ate I gl giedersti 3R
e # for@m I & o |7 38 %A 6l gfed 3 ITRh 3eTeN Hfgd hifg |
AYAT

“Teg % fafvm STl o UE SHEE godi WSy "W sAd femd
8 17 39 %o I IS < ST 3erewun afgd hifvT | 3

“Issues of caste discrimination began to be written about in many printed
tracts and essays in India in the late nineteenth century.” Support the
statement with two suitable examples.

OR

“Premchand’s characters in different novels create a community based on
democratic values.” Support the statement with two suitable examples.

Arehdd | T Tt e (Ta-3med) o kel TR st 1 qoarend
HIfTT | 3

arera
A | 91 1 ATHER TG ol e i | 3

Evaluate the strengths and limitations of local self-government in a
democracy.

L

OR
Evaluate the power sharing system in India.

“reprardl o1 99 &1, Alehdd hl THAdT Sl TETal <dl B |7 3STEl 9igd hed
<l gfee Shifv | 3

“Complaints are treated as testimony to the success of democracy.”
Support the statement with examples.

| 32/412 6



19.

20.

21.

Qs 1
SECTION C

TgTeAT el A GfeT 31T STeia F YR oA 2 39 e 3 < ol fohm

TehR JST ? SFREAT HITT | 5
HAYAT

HETeHT e 7 ‘STEgAn e F i IE fRAT 2 39 TGIeH 4 < i fhE TR

SeT 2 ST hifru | 5

Why did Mahatma Gandhi start the ‘Civil Disobedience Movement’ ? How

did this movement unite the country ? Explain.

OR

Why did Mahatma Gandhi launch the ‘Non-Cooperation Movement’ ? How

did this movement unite the country ? Explain.

BITATTR o & T 3T 3h IR 3R AT 3N LT I o Hobfrgd &
RN ! TIC FHINT | 5

Explain the reasons for concentration of iron and steel industries in and

around Chotanagpur region.

TAlehds H TSI el shi YfHehT hl TS HIT | 5
YT
Alehdd B TSHIdeh aell shl SATaeIehdT shl AT Il | 5

Explain the role of Political Parties in a democracy.

OR

Explain the necessity of Political Parties in a democracy.

320412 7 P.T.0.



22.

23.

24.

25.

UTEET & |99 % &9 H o7 o Hgwd hl T HiT |

Explain the importance of Railways as a means of transport.

IR § gufRuerar o fohedl 9ia Ao 1 quia I |

Describe any five features of secularism in India.

STl Tt % S YRa § aYa yaret Aftent 1 fedfa 1 aui il
Jreran
YT o TRk STl 6t T o faeshm # sifrent 1 aufa i |

HYAT

Ix5=5

5

et T < o1d § 7R el Tt <k Iy 4w (PEes) ° ffi fomee

gfshar =1 9oiF HIfST |

Describe the condition of indentured labour that migrated from India

during the nineteenth century.

OR

Describe the role of early entrepreneurs of India in the development of

industries.

OR

Describe the ‘land reclamation’ process in Bombay during the late

nineteenth and the early twentieth centuries.

YA A1 &5 o Hawd o fohral Uid SHRUN i IAFR I |

Highlight any five reasons for the importance of tertiary sector in India.

| 32/412 8
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Ol

26. (A
(B)
(A)
(B)

320412

T AT ‘@’ I

IR Ik T AW Ik Trfig Wil 78 @ren R fafge -
(a) 9% TN TET YR TS HiE H1 AREIE g |

wus ¥
SECTION D

b’ o U wRa & TeHiTae W@-AEEE (98 11 |), |
Jferd U U B | 39 Ao 1 Aefafgd Seerl B FgrEar 8 yg=nHe

1x2=2

(b) 98 AN Sl mefsh 9 fiad Al @dl v a1l fha il o 981 O 9camig

1x3=3

T fema |
34 feu U WRE & oo W@aEs 4 FeEfatad O 9 gt diT
I ITYH Faal | guiigy 3R Ik a1 fafaw
(i) dEge —  3TTiogeh el HIA
(i) g™Mg - 99
(iii) WAl —  GFRII TeTATSI dTeh
(iv) ®ieel - 9@ "G 9o

(v) §‘liEI

ATET 3TN 3T I

Two features ‘@’ and ‘b’ are marked on the given political outline
map of India (on page 11). Identify these features with the help of
the following information and write their correct names on the
lines marked near them :

(a) The place where the Indian National Congress Session was

held.

(b) The place from where Gandhiji organized Satyagraha in favour
of Indigo planters.

Locate and label any three of the following with appropriate symbols
on the same given political outline map of India :

(i) Tarapur

(ii) Tungabhadra —

(ii1) Mohali
(iv) Kandla
(v) Durgapur

Nuclear Power Plant

Dam

Software Technology Park
Major Sea Port

Iron and Steel Plant

P.T.O.



ofio

s

Fig:  FHECTRET 397 @acl gIRaTaa qagntden & o/ 397 61 26 & €& T/
& | fasegt uiwr ol & I forfa

Note: The following questions are for the Visually Impaired Candidates

only, in lieu of Q. No. 26. Attempt any five questions :
(26.1) STHEINT ITTeIaH bl a9 4 T Ha&d T 1 99 fRay |

(26.2) WA TS HIE I TS Hal 3T AT ?

(26.3) Sifcrateren a1 w1 fohw Usa H wfed g8 ?

(26.4) TG (VR Hott w97 fohg Tsa # oo B 2

(26.5) 38 TS &1 AW feiftgu, STet digrefl AfFea—R SaTatst qreh e g |

(26.6) I8 TS 1 AW [ARGY, &N YL ATET 3TN 89Tq T 6o 2 |

(26.7) HISAT TG I WRA o Toh8 q¢ W @ B 2 1x5=5

(26.1) Name the place related to the calling off of the Non-Cooperation
Movement.

(26.2) Where was the Indian National Congress formed ?
(26.3) In which State did Jallianwala Bagh incident happen ?
(26.4) In which State is Tarapur Nuclear Power Plant situated ?

(26.5) Name the State where Mohali Software Technology Park is
situated.

(26.6) Name the State where Durgapur Iron and Steel Plant is located.
(26.7) On which coast of India is Kandla Sea Port located ?

| 32/412. 10
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YA T {T-AHH (TS TR )
Outline Map of India (Political)
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[=] e
SET-3
Series JIMS/4 Eackl
Code No. 32/4/3
T 4.

wliemefi @ie 1 IW-YEdH & TE@-U8
Roll No. W 3ravd ford |

Candidates must write the Code on the
title page of the answer-book.

o YA FE H A foh 38 Y97 § Gigd I8 10 + 1 THH 3 |

o TH-UA H Fied FTU HI AR T T Shig TR Hl B IT-IEehl o JE@-I8 |
g |

o FYA E WA 70 I H 26 T 1 |

o HUAT U 1 I TAGHT & T W Uget, U3 1 shATHh Hayd o |

o T THUA HI UG o fo1C 15 fiFe o1 Tm fon mn @ | WeA-9F W foaw gatg
T 10.15 5 5T IT@W | 10.15 ST § 10.30 1 b B hadd IH-UF bl TeTl
3TN 39 AT & SR o IT-YfEdeh! W hig I &1 fora |

e Please check that this question paper contains 10 printed pages + 1 Map.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 26 questions.

¢ Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on
the answer-book during this period.

I NS CAERIC]

SOCIAL SCIENCE

FEiRa 77 : 3 T2 S7feHTH 37 : 80

Time allowed : 3 hours Maximum Marks : 80

32043 1 P.T.0.




[=][=l
[=] &%

Wﬁﬁw:

(i)
(ii)
(iit)
(iv)
(v)
(vi)

(vii)

(viii)

34 Y97-97 %1 TR GUS] H [G97f5id 137 77 & | @V %, @IS &, TUS T 3K
U8 7 |

3G Y97-97 H $He726 T 8 |

&%t o7 i & |

TP o7 @ b 3G G T T F |

Yo7 &1 @7 % 3ld TG-ITIT FeT 8 | F%F FoH 1 b BT 8 |

Y97 G&IT 8 & 18 % Yl Y97 8 3% #1 & | 594 & Y% Fo7 H FH

80 og] @ 37feres @7 781 &7 FfT |

J97 G&IT 19 T 25 T Y% G4 5 3% F & | 590 & J9b Y97 HT FH
100 3753 @ 37fere &7 987 &7 =eT |

J97 G&IT 26 HAIET Y97 5 3% H1 & | 399 31 917 & — 26 (A) 37K 26 (B) |
26 (A) 2 37% T A5G @ 7T 26 (B) 3 37 &7 YT & & | TlGT T 97
7O &4 T 3G 3T IR-GIabT B 3T 771 BT |

General Instructions :

(i)
(ii)
(iii)
(iv)
(v)
(vi)
(vii)

(viii)

The question paper is divided into four sections — Section A, Section B,
Section C and Section D.

The question paper has 26 questions in all.
All questions are compulsory.
Marks are indicated against each question.

Questions from serial number 1 to 7 are Very Short Answer Type
Questions. Each question carries 1 mark.

Questions from serial number 8 to 18 are 8 marks questions.
Answers to these questions should not exceed 80 words each.

Questions from serial number 19 to 25 are 5 marks questions.
Answers to these questions should not exceed 100 words each.

Question number 26 is a map question of 5§ marks with two parts 26 (A)
and 26 (B) — 26 (A) from History (2 marks) and 26 (B) from Geography
(3 marks). After completion, attach the map inside your answer-book.

| 32/4/3 2



@vusg <h
SECTION A

1. IS hl BE ITH o foTe Tedt 31fereh Wk gar -t 7 2 1
Tt

YA § -8 I Faiiaeh foqd &9 8 %efl 3 Agaqul § ? 1
Which type of soil is most suitable for growing the crop of cashew nut ?

OR

Which type of soil in India is most widespread and important ?

2. ‘S &1 31 Tose o | 1
STt

YA fFd ofeh g0 ROT o6 Sd=ieh didl o FRE Sl ATawaehar 1 HRu
g T | 1
Explain the meaning of ‘Currency’.

OR

Explain the reason for necessity of supervision by the Reserve Bank of
India of formal sources of loans.

3. 1848 § Wigsh AR A 10 Tooll # Toieell T&gfd o1 h ? Th HRU T
I | 1

AT

foRIqA™ H <ifehd Shl &R 1 WAl 71 ? Teh U TS HIT | 1

Why did Frédéric Sorrieu present utopian vision in his prints in 1848 ?
Explain one reason.

OR

Why was the Tonkin Free School started in Vietnam ? Explain one
reason.

4. i & < &I JdE ageEt % 9 fafew | 1

Name the two major ethnic communities of Sri Lanka.

32043 3 P.T.0.



0 EEE

IR § IeATEd] TG o QN HS AAI-TYAT STATHI I 319 =1 hl Tgd 8 F
i W@d o ?

AT
ST 9 § e 3 it 39 Rl g B A = ?
Why had some parents kept novels away from their children’s reach during
19th century in India ?

OR

Why had Englishmen demanded a clamp down on the ‘Vernacular Press’ in
the 19tk century ?

JeelteRtur | forgelt Mo & ArTeH w1 faeeyor SHifg |

Analyse the contribution of foreign investment in globalisation.

fesamae @@ ugrel W IUET #1 HF-A1 veg g (A 2Afhd BT 8 2
Which logo of quality is marked on the packaged food items ?

RCCRC]
SECTION B

“ara o e T & oFd § 1fd-9g b IR § dE-ag h giga gieasmret i

et o fo@an S o o | 39 A Y gfee gt IuRE 3gTen |fgd Hife |
AYAT

“Umag & Tl IT=TEl % U SHEKl gedl W SNdiid §HN s feEd

7 17 38 HAA h g 3 IR T8N Algd hit |

“Issues of caste discrimination began to be written about in many printed

tracts and essays in India in the late nineteenth century.” Support the

statement with two suitable examples.
OR

“Premchand’s characters in different novels create a community based on
democratic values.” Support the statement with two suitable examples.

| 32/4/3 4
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10.

11.

12.

13.

14.

JeefteRtur < fohmal <fiF AT ST o T | 1x3=3
HAYAT
SRS HE(AT o foheg] I ATHI 1 Yoo 1T | I1x3=3
Assess any three advantages of globalisation.
OR

Assess any three advantages of multinational corporations.

ITHIAISTT o TTT G 9 o TURR (ITR.E1.378. )’ o HEw o1 avF hie | 3
rerat

ITHIAISTT o ToT “@faqfd famer s 1feshR’ & Hgw &1 auiH I | 3
Describe the importance of the ‘Right to Information (RTI)’ for consumers.

OR
Describe the importance of the ‘Right to Seek Redressal’ for consumers.

TRIYeR Sfaeht HiY TR Ta Sifaeht HY H§ HIE TH TR IR HINT | 3

Highlight any three differences between primitive subsistence farming and

intensive subsistence farming.

denl 3R TgeRr afafaat = a9l wur @ f afafafert = anfior &= § ser
o Tergl i shRon <A1 =ameat ISy | 1x3=3

Explain any three reasons for the banks and cooperative societies to
increase their lending facilities in rural areas.

“GryeRes TSI 38 " Wi Bt @ foh o & wmiioee dHgrEl W
& YR 3 |7 S ol AT gL | 3
“Communal politics is based on the idea that religion is the principal basis

of social community.” Justify the statement.

“g-3eia a3 98 STy 3 AU WHIReR Qe & hRU & T

21”7 U8 3cieHl 8 Fralad SR sl IR hifvy | 3
ST

“grufter aul-STa GUEY YUl STeT TRETUT SR A WUERY & fow Iwat g 1”7

39 JUTTCA <h1 W& Wl & IaTeUll |igd ISR I | 3

32043 5 P.T.0.



“Multi-purpose projects and large dams have been the cause of many new

social movements.” Highlight the concerns related to such movements.

OR

“Traditional harvesting system is a useful system to conserve and store

water.” Highlight the importance of this system with two examples.

15. <iehad H T TaemeE} ferl (vaamed) i mifmi ot Ewreti 1 gedred
HIT |
ST

WA W T ohl FTSER gl 1 HedTeh HIy |

Evaluate the strengths and limitations of local self-government in a
democracy.

OR
Evaluate the power sharing system in India.

16. “TIrhrdi o1 &4 T&T, Alehas shl Therdl shl TaTal <dl 2 |7 3STELul afed e
<l gfee i |

“Complaints are treated as testimony to the success of democracy.”
Support the statement with examples.

17. 3Gl wAmedl o SRH JUUETRET o offe Usgardt WiaATsti @i foehfad & |
FATETE 1 YRl T JUH HIT |
Jrera
BT g1 3TTGIa 1, fooraaTy shi TUseardl JEIgn & ®9 § i i |

Describe the role of Romanticism in developing nationalist feelings among
Europeans during nineteenth century.

OR

Describe Hoa Hao movement as a mainstream nationalism of Vietnam.

18. “3iud ™ ol & foIu Swrft B, wWeg I8 STEHMared i four dewhdt g 17
STH qehl Afgd e i gfse Hifr |

“Average income is useful for comparison but it may hide disparities.”
Support the statement with suitable arguments.

| 32/4/3 6



G
Qs 1
SECTION C
19. Thad H TSI Gl shl Y{HeRT i TI8E HIMT | 5
HAYAT
AR H TSI Al shl ARl o1 SARSAT ST | 5

Explain the role of Political Parties in a democracy.

OR

Explain the necessity of Political Parties in a democracy.

20. DRIATYL & &7 H R 30k TN TN gl 3T FLITq I b Hebfrgd a1 b
IO oh! T HINT | 5

Explain the reasons for concentration of iron and steel industries in and
around Chotanagpur region.

21. I T o SR WRA ¥ ST YAt Aftent i feafa w1 avie i | 5
arera
WA & TRIYeh TR i ST < o # yfieht o1 avia i | 5
arera
ATt T o o § IR e w9t & gy | v (Fres) ® i faee’
gfsha T U ST | 5

Describe the condition of indentured labour that migrated from India
during the nineteenth century.

OR

Describe the role of early entrepreneurs of India in the development of
industries.

OR

Describe the ‘land reclamation’ process in Bombay during the late
nineteenth and the early twentieth centuries.

32043 7 P.T.0.
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22. UNTET % Teh U9 o U H g YHIET o Hawd ohl TS HINT | 5
Explain the importance of Roadways as a means of transport.

23. YNd H TSHId ¥ SIfa’ hi Tl ar= foemanatt =1 aui hifvg | Ix5=5

Describe any five features of ‘caste in politics’ in India.

24, HETeAT et I wfey 1T A F= IR fRAT 2 39 3Tieied 3 <9 i Tl

JehT TSI ? RSN hifoT | 5
AT

HETCHT et 7 ‘STEgA MG FA IE b1 2 39 3eieH 3 ¢ I fohd YR

SeT 2 ST hifsu | 5

Why did Mahatma Gandhi start the ‘Civil Disobedience Movement’ ? How

did this movement unite the country ? Explain.

OR

Why did Mahatma Gandhi launch the ‘Non-Cooperation Movement’ ? How

did this movement unite the country ? Explain.

25. 9Rd H UM 9¢H o foheal Ui aiiehl shl ISR ShifvT | Ix5=5

Highlight any five ways to increase employment in India.

| 32/4/3 8



Ol

26. (A
(B)
(A)
(B)

32043

T AT ‘@’ I

IR Ik T AW 3ok Trfig Tl 78 e w fafge -
(a) 9% TN TET YR TS HiE H1 AREIE g |

wus ¥
SECTION D

b’ o U wRa & TeHiTae W@-AEEE (98 11 |), |
Jferd U U B | 39 Ao 1 fAEfafgd S rl h g 8 yg=nHe

1x2=2

(b) 98 AN Sl mefsh 9 fiad Al @dl v a1l fha il o 981 O 9camig

1x3=3

T fema |
34 feu U WwRa & ToHifaes W@aEtes § FeEfatad O 9 gt diT
I ITYH Faal | guiigy 3R Ik a1 fafaw
(i) dEge —  3TTiogeh el HIA
(i) g™Mg - 99
(iii) WAl —  GFRII TeTATSI dTeh
(iv) el — 9@ 9gg 9ad

(v) §‘liEI

ATET 3TN 3T I

Two features ‘@’ and ‘b’ are marked on the given political outline
map of India (on page 11). Identify these features with the help of
the following information and write their correct names on the
lines marked near them :

(a) The place where the Indian National Congress Session was

held.

(b) The place from where Gandhiji organized Satyagraha in favour
of Indigo planters.

Locate and label any three of the following with appropriate symbols
on the same given political outline map of India :

(i) Tarapur

(ii) Tungabhadra —

(ii1) Mohali
(iv) Kandla
(v) Durgapur

Nuclear Power Plant

Dam

Software Technology Park
Major Sea Port

Iron and Steel Plant

P.T.O.
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Fig:  FHECTRET 397 #acl giRaTaa qhgntederl & o/ 397 61 26 & €& T/
& | fasegt uiwr ol & I forfa

Note: The following questions are for the Visually Impaired Candidates

only, in lieu of Q. No. 26. Attempt any five questions :
(26.1) TGN MGIe ol I o1 ¥ Fefed T w1 9 fafey |

(26.2) WA TS HIE I TS Hal 3T AT ?

(26.3) Sifcrateren a1 w1 fohw Usa H wfed g8 ?

(26.4) TG (VR Hott w97 fohg Tsa # oo B 2

(26.5) 38 TS &1 AW feiftgu, STet digrefl AfFea—R IaTatst qreh e 2 |

(26.6) I8 TS 1 AW [ARGY, &N YL ATET 3TN 89Tq T 6o 2 |

(26.7) HISAT TG I WRA o Toh8 q¢ W @ B 2 1x5=5

(26.1) Name the place related to the calling off of the Non-Cooperation
Movement.

(26.2) Where was the Indian National Congress formed ?
(26.3) In which State did Jallianwala Bagh incident happen ?
(26.4) In which State is Tarapur Nuclear Power Plant situated ?

(26.5) Name the State where Mohali Software Technology Park is
situated.

(26.6) Name the State where Durgapur Iron and Steel Plant is located.
(26.7) On which coast of India is Kandla Sea Port located ?

| 32/4/3 10
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I3 9. 26 & foiw For question no. 26
YA T {T-AHH (TS TR )
Outline Map of India (Political)
68° 72 76° 80° 84° 8g° 92° 96° 100°
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[=] A%
SET-1
Series JMS/5 I .
Code No. 32/5/1
et 4.

wliemefi @ie 1 IW-YEdH & TE@-U8
Roll No. W 3ravd ford |

Candidates must write the Code on the
title page of the answer-book.

o YA FE H A foh 38 Y97 § Gigd I8 10 + 1 THH 3 |

o TH-UA H Fied FTU HI AR T T Shig TR Hl B IT-IEehl o JE@-I8 |
g |

o FYA IE WA 0 I H 26 T 1 |

o HUAT T 1 IW {TEHT & HIH ¥ UgeA, T T THuTeh 99 ford |

o T THUA HI UG o fo1C 15 fiFe o1 Tm fon mn @ | WeA-9F W foaw gatg
T 10.15 51 fpaT IT@W | 10.15 S § 10.30 1 b B shadl IH-UF il Teil
3T 39 AT & GRA o IT-YIEdh! T g I &1 fore |

e Please check that this question paper contains 10 printed pages + 1 Map.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 26 questions.

¢ Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on
the answer-book during this period.

I NS CAERIC]

SOCIAL SCIENCE

giRa a7 - 3 o2 S7feHaTH 3% : 80

Time allowed : 3 hours Maximum Marks : 80

320501 3 1o




[=][=l
[=] &%

Wﬁﬁw:

(i)
(ii)
(iit)
(iv)
(v)
(vi)

(vii)

(viii)

34 Y97-97 %1 TR GUSI H [G97f5id 137 797 & | @V %, @S @, TUS T 3K
U8 7 |

3G Y97-97 H $He726 T 8 |

qyt o7 arfAard & |

Ted% Jo7 & 3 3G% T3 RT T E |

o7 Gegr1 8 7 7% 3T Tg-IF0T J97 & | IAF o7 1 3F BT |

o7 GEIT 8 & 18 T%F FeIF T 3 3F H 2 | FIH & FAPH J¥A H IH

80 og] @ 37feres @7 781 &7 FfT |

J97 G&IT 19 & 25 T % Y97 5 3% F & | 398 & Y9 Y97 &1 FH
100 3753 @ 37fere &7 987 &7 =eT |

J97 G&IT 26 HAIET Y97 5 3% H1 & | 399 31 917 & — 26 (A) 37K 26 (B) |
26 (A) 2 37% T A5G @ 7T 26 (B) 3 37 &7 YT & & | TlGT T 97
7O &4 T 3G 91 FR-GIaHT & 3K 7791 BT |

General Instructions :

(i)
(ii)
(iii)
(iv)
(v)
(vi)
(vii)

(viii)

The question paper is divided into four sections — Section A, Section B,
Section C and Section D.

The question paper has 26 questions in all.
All questions are compulsory.
Marks are indicated against each question.

Questions from serial number 1 to 7 are Very Short Answer Type
Questions. Each question carries 1 mark.

Questions from serial number 8 to 18 are 8 marks questions.
Answers to these questions should not exceed 80 words each.

Questions from serial number 19 to 25 are 5 marks questions.
Answers to these questions should not exceed 100 words each.

Question number 26 is a map question of 5§ marks with two parts 26 (A)
and 26 (B) — 26 (A) from History (2 marks) and 26 (B) from Geography
(3 marks). After completion, attach the map inside your answer-book.
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@vusg <h
SECTION A

1.  H-91 T8 §iY % T % 91 | Shifder] TG € qgam=1 7= 2 1
HAYAT
aMufrafires wrar & wrEeifat grr foaraamanfiat w snyfie foaa & fau e

JhT TcdTiad fopam =T 2 1

Which nation was identifiable in the revolutionary tricolour in Sorrieu’s
utopian vision ?

OR

How were the Vietnamese encouraged by the French to look modern,
during the colonial period ?

2. ‘EEMdEl weg % 31 hl e i | 1

HAAAT
“TaTCTe’ wTeg o e i TR HIfT | 1
Explain the meaning of the term ‘Calligraphy’.

OR
Explain the meaning of the term ‘Epistolary’.

o~

3. YW % ¥gd "YUl ihideh HEHH % €4 H AW SN &, TEHI Th HR

<

IR HIRT | 1
HAAT
g Jd1s o Hgwd i ISR HIT | 1
Highlight the reason for land being known as an utmost important natural
resource.
OR

Highlight the importance of contour ploughing.

4,  AThdlEeh SIIEATS H HAT <hl HTEEH] 1 3T<S! & 2 Ueh hI0T TIL HIfST | 1

Why is power sharing good for democracies ? Explain one reason.

| 32/5/1 3 P.T.0.



5. g1 i 1 wiem i ket S & 2
CC)]

T THTAT Sl GgT o &9 H I a9 1T § ?
Why is money called a medium of exchange ?

OR

Why are demand deposits considered as money ?

6.  SEUSEH HAAT 3N B HHHRI H 3T T HIT |
Differentiate between multinational corporations and domestic companies.

7. UM AT foh smdent veg i U et Wled B | 39! e gHfead S 6
fore 31 - visg fag () <A =E 2
Suppose you have to purchase a bottle of honey. Which logo of quality
would you like to see to ensure its quality ?

Qs @
SECTION B

8. ST % FHE H il a1 foremmeh 61 R 1 9vH HINT |
arerat

o o ‘amrsy forid oTigrem | Afgaatt i fHeht w1 Jui Shifvw |

Describe the role of Otto von Bismarck in the making of Germany.

OR
Describe the role of women in the ‘Anti-Imperialist Movement’ in Vietnam.

9. “Orogdl |¢ AT H EU SHIfd 4 AT 1 Siad dgd a1 |7 39w aehl dlea
39 HYA i gfee HifT |

HAAT

‘Tt 9t & U w3 afgesti % wiva g9 e bk e 17 5|
HYA hI I IeTeN afga gfse i |

| 32/5/1 4
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“Print Revolution in sixteenth century Europe transformed the lives of
people.” Support the statement with suitable arguments.

OR

“The nineteenth century European novels depicted the involvement of
women.” Support the statement with suitable examples.

10.  “THISHU A Sl hl GOVl 1 IGHT 2 | dehl Higd 39 e hl e IR | 3
AAAT

“qui-STet TIEY g, el S GEINAT <hl HHEAT Wl A A T Teh TN 3T
2 1” a  FEEd 38Uy | 3

“Urbanisation has added to water scarcity.” Support the statement with
arguments.

OR

“Water harvesting system is an effective measure to reduce the problem of
water scarcity.” Justify the statement.

11. F=fRed = @l® waal 3R @ waai § arfied i 3
i "
(i)  Hehl
(i) St
(iv) HX
(v) SNU
(vi) I (W)
Categorise the following as Kharif crops and Rabi crops :
(1) Wheat
(i) Maize
(iii) Barley
(iv) Peas
(v)  Bajra

(vi)  Tur (Arhar)

| 32/5/1 5 P.T.O.



12.

13.

14.

15.

16.

“guare’ i forgl o9 fammsarst =1 guiH v | 1x3=3
HAYAT

gifaeter TRNeE, 1992 g LA TR fHhrl i 93rh s & fi 381w

T4 foregl 9 shedi &1 9o HifST | I1x3=3

Describe any three features of ‘federalism’.

OR

Describe any three steps taken to strengthen the local self-governments, by
the Constitutional Amendment, 1992.

“Torfifa 3 gmfes fowrsHl w1 sog | Od qE g1 =E |7 e &
IETd 38T | 3

“Politics and social divisions should not be allowed to mix.” Justify the
statement.

“Sreheitien e sgaeaTd fofay grmmioes fawem! § wmer Sordt & 17 54
e T gfse AT | ’

“Democracies accommodate various social divisions.” Support the
statement.

SAA-AAT AN o I & &g o TR f99 Bid 8 2 IS8 gfed Tose
HIT | 3

How do different persons have different developmental goals ? Explain
with examples.

A RSTel oo o feohegl 9 T I T HIWT | 1x3=3
HAAAT
U7 i T TEEYU W1 <l ST HINT | 1x3=3
Explain any three functions of the Reserve Bank of India.
OR

Explain the three important terms of credit.



[=]~*!
17.  SvdIehur sl 31fYeh AT S & fehedl dfiF SRl o1 fovamor hifse | 1x3=3
AT
A | SgUSER HAHAT (TH.OA.HY. ) T ofvellentor < TwTEl o foveyor i | 3
Analyse any three factors that make globalization more fair.
OR
Analyse the impact of globalization on Multi-national Corporations
(MNCs) in India.
18. 3IUHIHIST o forral @i 31fereprl sl ISR hifsu | I1x3=3
Highlight any three rights of consumers.
Qs 1
SECTION C
19. 3THIRT § 1890 % ¥k H Netuxe’ & WGl &l quH HIfT | 5
HAYAT
‘TR I o TG 0T H ASIGU ol SIS I IUM FHIWT | 5
HAYAT
IEel T o Ay | wed H Ui & oy § wWiysrl 9 gy feh w
YTl < i hIfT | 5
Describe the impact of ‘Rinderpest’ in Africa in the 1890s.
OR
Describe the conditions of workers in FEurope after the Industrial
Revolution.
OR

Describe the efforts made by philanthropists to counter criminalisation in
London in the mid-nineteenth century.

| 32/5/1 7 P.T.O.



20.

21.

22,

23.

24.

25.

“afea 31971 eI bl HHTeT il surE FIfSu | 5
AuaT

ARG 1 AU TR Teifae feafd W Yem fava g’ & qaiomr i =men

%li\ﬁQl 5

Explain the limitations of the ‘Civil Disobedience Movement’.

OR

Explain the implications of the ‘First World War’ on the economic and
political situation of India.

TR 37eIaEd § I8 I 1 TIfTse Agw 1 8 2 T9¢ <hIfu | 5

Why does the textile industry occupy an important position in the Indian
economy ? Explain.

T | Wi & feral gi= @i o1 9uig HifSu | Ix5=5

Describe any five benefits of tourism in India.

‘qrifuear veg W URwING T | wRa § g H Rl @R
Rrryanett < sare hifv | 1+4=5

Define the term ‘Secularism’. Explain any four features of secularism in
India.

AThas ohl THEd i H TSI Gall o fohral UId ST ohl IATR HIMT | Ix5=5

AT
g foru Toifaes ol <l et 1 @ 2 fohegl 9i= STl bl ISR hINIE | Ix5=5

Highlight any five functions of political parties to strengthen democracy.

OR
Why do we need political parties ? Highlight any five reasons.

grifed &5 o Tohegl Uie ATHT bl 3BT Hfgd ISR ST | I1x5=5

Highlight any five benefits of organised sector, with examples.

8
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SECTION D

26. (A) T AFY ‘@’ FR b T T HRA o TSI W@-AERS (98 11 W), §
3iferd fopu U 8 | 39 g W fm=fafgd S i g8 9 gg=ne
3R 3T TE T 3h g G 78 W@redt W ffgu 1x2=2

(a) 9% TN TET YR TS HIE H1 AREIE g |
(b) 98 TAW Tl S 3 Fell fret WGyl o 94 H Heawg oA |

(B) 3! feq U WRA o TSHideh {@-AH § HEfaiad § 8 gt div

I ITYH FaRl | guiigy 3R Ik a1 fafaw 1x3=3
i) TmEE — A gaTE T

(i) ¥gEdt - g 3 T 93

(iil) Ufead STTET T HiFCATR oISl UTeh

(iv) fegd — iy

(v) <H — 3fvees eI I

(A) Two features ‘@’ and ‘b’ are marked on the given political outline
map of India (on page 11). Identify these features with the help of
the following information and write their correct names on the
lines marked near them :

(a) The place where the Indian National Congress Session was
held.

(b) The place where Gandhiji organized Satyagraha in favour of
cotton mill workers.

(B)  Locate and label any three of the following with appropriate symbols
on the same given political outline map of India :

(i) RajaSansi -  International Airport
(i) Bhadravati -  Iron and Steel Plant
(iii) Software Technology Park of West Bengal
(iv) Tehri — Dam

(v) Kaiga —  Nuclear Power Plant

| 32/5/1 9 P.T.O.
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Fig:  FHECTRET 397 @acl giRaTaa qhgntedel & o/ 397 61 26 & €& T/
&1 fagt g 3941 & 3% il :

Note: The following questions are for the Visually Impaired Candidates

only, in lieu of Q. No. 26. Attempt any five questions :

(26.1) 38 T &1 AW foafgu, et fia St @dt v e fhaE 3 aemE
fopam |

(26.2) 38 TSA &1 AW foaftgu, Sgt et 3 F9e ST I el |

(26.3) 38 USF 1 A fAflgu, &l SAfcraiaran S gehe g3 |

(26.4) 39 TF 1 9 Terfau, a7 Tem |t =i gars ue fodra R |

(26.5) W TS 1 9 fafge, &1 I e 3R 399a 3 ford 2 |

(26.6) W TS 1 9W faflge, &1 70w 3nfveaes St ga fod 2 |
(26.7) UfTaq S o AT SaHTATS UTeh okl A0 AT | 1x5=5

(26.1) Name the State where the Indigo planters organized Satyagraha.
(26.2) Name the State where Gandhiji violated the salt law.

(26.3) Name the State where the Jallianwala Bagh Massacre took
place.

(26.4) Name the State where Raja Sansi International Airport is
located.

(26.5) Name the State where Salem Iron and Steel Plant is located.
(26.6) Name the State where Naraura Nuclear Power Plant is located.
(26.7) Name the Software Technology Park of West Bengal.

aaisi 10
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I3 9. 26 & foiw For question no. 26

WA kT WET-HTA T (TR )
Outline Map of India (Political)

63° 72° 76° 80° g4° 88° g9° 96° 100°
I 1 1 1 1 I I 1 1
el T o ﬁ\ a o
36 o " 56
Y e TP
( 4

azek '\&{j\--\r\} 4132

28°

L 4
1

. { i -
T
28° | . ; o6 Ay .
R 7 ! H' “L‘ " —— "-L\"Jr

o 24°

20° 20°

160 160

190 12°

80

kmi100 0 100 306 500 km

40

[ 1 [ 1 [ 1 1
i 16° 80° 84° a4° 92° 96°
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[=] A%
SET-2
Series JMS/5 I .
Code No. 32/5/2
et 4.

wliemefi @ie 1 IW-YEdH & TE@-U8
Roll No. W 3ravd ford |

Candidates must write the Code on the
title page of the answer-book.

o FHUA FE H A foh 38 Y97 § Gigd I8 10 + 1 THH 3 |

o TH-UA H Fied FTU HI AR T T Shig TR Hl B IT-IEehl o JE@-I8 |
g |

o FYA E WA 70 I H 26 T 1 |

o HUAT T 1 IW {TEHT & HIH ¥ UgeA, T T THuTeh 99 ford |

o T THUA Hl UG h (1T 15 fire 1 Tw fon mn @ | WeA-9w o foao gatg
T 10.15 5 5T IT@W | 10.15 ST § 10.30 1 b B hadd IH-UF bl TeTl
3T 39 AT & GRA o IT-YIEdh! T g I &1 fore |

e Please check that this question paper contains 10 printed pages + 1 Map.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 26 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on
the answer-book during this period.

I NS CAERIC]

SOCIAL SCIENCE

giRa a7 - 3 o2 S7feHaTH 3% : 80

Time allowed : 3 hours Maximum Marks : 80

s2i502 3 1o




[=][=l
[=] &%

Wﬁﬁw:

(i)
(ii)
(iit)
(iv)
(v)
(vi)

(vii)

(viii)

34 Y97-97 %1 TR GUSI H [G97f5id 137 797 & | @V %, @S @, TUS T 3K
U8 7 |

3G Y97-97 H $He726 T 8 |

qyt o7 arfAard & |

Ted% Jo7 & 3 3G% T3 RT T E |

o7 Gegr1 8 7 7% 3T Tg-IF0T J97 & | IAF o7 1 3F BT |

o7 GEIT 8 & 18 T%F FeIF T 3 3F H 2 | FIH & FAPH J¥A H IH

80 og] @ 37feres @7 781 &7 FfT |

J97 G&IT 19 & 25 T % Y97 5 3% F & | 398 & Y9 Y97 &1 FH
100 3753 @ 37fere &7 987 &7 =eT |

J97 G&IT 26 HAIET Y97 5 3% H1 & | 399 31 917 & — 26 (A) 37K 26 (B) |
26 (A) 2 37% T A5G @ 7T 26 (B) 3 37 &7 YT & & | TlGT T 97
7O &4 T 3G 91 FR-GIaHT & 3K 7791 BT |

General Instructions :

(i)
(ii)
(iii)
(iv)
(v)
(vi)
(vii)

(viii)

The question paper is divided into four sections — Section A, Section B,
Section C and Section D.

The question paper has 26 questions in all.
All questions are compulsory.
Marks are indicated against each question.

Questions from serial number 1 to 7 are Very Short Answer Type
Questions. Each question carries 1 mark.

Questions from serial number 8 to 18 are 8 marks questions.
Answers to these questions should not exceed 80 words each.

Questions from serial number 19 to 25 are 5 marks questions.
Answers to these questions should not exceed 100 words each.

Question number 26 is a map question of 5§ marks with two parts 26 (A)
and 26 (B) — 26 (A) from History (2 marks) and 26 (B) from Geography
(3 marks). After completion, attach the map inside your answer-book.

320502 2



@vusg <h
SECTION A

1. W U% 950 HEqUl UIh{deh GETE % &9 H A1 ST 8, $HR Th HRUT
ISR IR | 1
arera

T JdTs % HEw i IR SHINT | 1

Highlight the reason for land being known as an utmost important natural
resource.

OR
Highlight the importance of contour ploughing.

2. gl I fafmg 1 Aeaw i haEl AT 8 2 1
YT
HIT JHISAT ! g1 < &9 § FA1 GHST A1 g 2 1

Why is money called a medium of exchange ?

OR
Why are demand deposits considered as money ?

3.  HH-91 Usg T h T o GOR H TR Gl & Tg=mHT T 2 1
arera
Jufafies e § B g foeaamantie =t syl foe o o form
TR icdTiea fekam T 2 1

Which nation was identifiable in the revolutionary tricolour in Sorrieu’s
utopian vision ?

OR

How were the Vietnamese encouraged by the French to look modern,
during the colonial period ?

4.  ‘O9r ° 9rgel’ o1 s Ush oy s i | 1

Explain any one benefit of ‘Power Sharing’.

. 32/52 3 P.T.0.



E5
5. ‘GIHdE weg % 31ef i SRE HIT |
STUaT
“TATcHeR’ 3Tec o 7Y hl SATEAT hifY |

Explain the meaning of the term ‘Calligraphy’.

OR
Explain the meaning of the term ‘Epistolary’.

6. “SAUN TGUYSH hl his Ush 3@ fifigu |

State any one example of “Trade Barrier’.

7. T o SMYYUN W TUIET T HIH-A1 Weg g (<) ifeRd g 7 2
Which logo of quality is marked on the gold jewellery ?

Qs 9
SECTION B

8. ‘“Hicied! ¥ JOU § Ul HIfd 4 AN T Sfed ded T |7 IuYh bl dlgd
39 YA i gfe HIfu |

3AYAT
“Seftaell Tt o U Su=El A AfgensAi & Wit B9 o fafa fen 17 g
HYA hI I IeTEN alga gfse hifv |

“Print Revolution in sixteenth century Europe transformed the lives of
people.” Support the statement with suitable arguments.

OR

“The nineteenth century European novels depicted the involvement of
women.” Support the statement with suitable examples.

9.  “TTRT 7 A I GAHAT I SR 7 |7 TRl Alad 36 HAA I YK HIVT |
eraT

“qui-STet HIEY Ugld, el Sl GEINAT <hl HHEAT I HH hH T Teh TN U
2 1” e[ ol =g 38U |

320512 4

~



- “Urbanisation has added to water scarcity.” Support the statement with
arguments.
OR
“Water harvesting system is an effective measure to reduce the problem of
water scarcity.” Justify the statement.
10. ST o6 THI0T § 31fer aiq forewmen skl yfeRt &1 auiA HIfT | 3
HAYAT
o # TSy foiet sTidie | Afgeatt A et @1 9l Il | 3
Describe the role of Otto von Bismarck in the making of Germany.
OR
Describe the role of women in the ‘Anti-Imperialist Movement’ in Vietnam.
11. ffafed 5 @ waar iR T w8ar § afiehd hIg : 3
i "
(i)  q
(i) =R I FEA
(iv) &
(v) @
(vi) HX

Categorise the following as ‘Rabi crops’ and ‘Zaid crops’ :

1) Wheat

(i1)) Watermelon
(i1i) Fodder crops
(iv)  Mustard

(v)  Cucumber

(vi) Peas

. 32/52 5 P.T.O.



13.

14.

15.

16.

17.

ITHRATSTT o fehrdl fiF ATURRIT I IR HIT | 1x3=3
Highlight any three rights of consumers.

ITATRTUT 1 3T(Uh AFET S o foheal oI heh! o1 fogaiwo T | 1x3=3

HAgAT
RA H IgUSed HEqta (TH.OA. ) TR ovelihtor o JTei o fovawor e | 3

Analyse any three factors that make globalization more fair.

OR

Analyse the impact of globalization on Multi-national Corporations
(MNCs) in India.

“grorferes fadrem q Bl @ W o R A gul s fafmaed 3
N S L e 3

“Social division takes place when some social differences overlap with

other social differences.” Support the statement.

TR e o o fopegl i st ol T hIfSu | I1x3=3
HAAAT
0T <h! fH HEeqUl 3d1 shi ST HIVT | 1x3=3
Explain any three functions of the Reserve Bank of India.
OR

Explain the three important terms of credit.

FTAT-TAT AN o fImrd o e forg yoer f99 g1d 8 2 Sergwn gfea wuse

HIT | 3

How do different persons have different developmental goals ? Explain
with examples.

“Terate’ &Y foheal i femiwaredt 1 avi Hifsu | 1x3=3
S DC]

gifayfies gened, 1992 gRT LT TRl Fer S @3rk s9H & fw 331

T foRegl T heHi o1 JuiF HIfT | 1x3=3

320512 6



Describe any three features of ‘federalism’.

OR

Describe any three steps taken to strengthen the local self-governments, by
the Constitutional Amendment, 1992.

18. “uorifa Mt g fa9=Hl T 39E H WS T8l 8T =Y |7 e i
SATTETA 3N, | 3

“Politics and social divisions should not be allowed to mix.” Justify the
statement.

Qus T
SECTION C

19. YRd § e & foheal uia A1l o1 auid shIfag | Ix5=5

Describe any five benefits of tourism in India.

20. 3THIHT H 1890 % gk B ‘Netuwe’ & g9mEl =l guiH hifvry | 5
JrerEn
‘Hreifieh shifed’ < g U9 W H9IGU <l M I UM FHIWT | 5

AT

Il 9t & 9eg § e § Uit & foty 1 gtuesrl gue grn feeu w
TITET T U shifTY | 5

Describe the impact of ‘Rinderpest’ in Africa in the 1890s.

OR

Describe the conditions of workers in Europe after the Industrial
Revolution.

OR

Describe the efforts made by philanthropists to counter criminalisation in
London in the mid-nineteenth century.

. 32/52 7 P.T.O.



21.

22,

23.

24.

25.

foreft 2o o amfsles foepr @ fafmtor &srer & wg &l sare Hifsw | 5

Explain the importance of manufactoring sector in the economic
development of a country.

QAThdA Sl ASGA i H TSHITdeh Gl o fohral Grel ShTAT bl IJTR hINT | Ix5=5

YT
gAR T Toifaes acl sh Tedd 1 & ? Toheal 9i= RN ohl ITTR it | Ix5=5

Highlight any five functions of political parties to strengthen democracy.

OR
Why do we need political parties ? Highlight any five reasons.

WG H ARG & ToHIdeh AfdHicd sl S o fohral 9ia aiiehl ol TIS

hITTT. | Ix5=5

Explain any five methods to raise the political representation of women in
India.

“afea 3193 3era’ Al HimrsT il saren FifSu | 5
raT

YRd s o7 iR Toifas feafa W vom fova 3’ < uftomdi i samen

i | 5

Explain the limitations of the ‘Civil Disobedience Movement’.

OR

Explain the implications of the ‘First World War’ on the economic and
political situation of India.

Ao & i fohral qid foRivarati sl IR HINT | Ix5=5
Highlight any five features of ‘Public Sector.’



wus ¥
SECTION D

26. (A) T AFY ‘@’ FR b T T HRA o TSI W@-AERS (98 11 W), §
3iferd fopu U 8 | 3 g w1 fefafad St i g8 @ gg=nHe
3R 3T TE T 3h g G 78 W@redt W ffgu 1x2=2

(a) 9% TN TET YR TS HIE H1 AREIE g |
(b) 98 TAW Tl S 3 Fell fret WGyl o 94 H Heawg oA |

(B) 3! feq U WRA o TSHideh @-AH § HEfaRad § 8 gt aiv

I ITYH FaRl | guiigy 3R Ik a1 fafaw 1x3=3
i) TmEE — A gaTE T

(i) ¥gEdt - g 3 T 93

(iil) Ufead STTET T HiFCATR oISl UTeh

(iv) fegd — iy

(v) <H — 3fvees eI I

(A) Two features ‘@’ and ‘b’ are marked on the given political outline
map of India (on page 11). Identify these features with the help of
the following information and write their correct names on the
lines marked near them :

(a) The place where the Indian National Congress Session was
held.

(b) The place where Gandhiji organized Satyagraha in favour of
cotton mill workers.

(B)  Locate and label any three of the following with appropriate symbols
on the same given political outline map of India :

(i) RajaSansi -  International Airport
(i) Bhadravati -  Iron and Steel Plant
(iii) Software Technology Park of West Bengal
(iv) Tehri — Dam

(v) Kaiga —  Nuclear Power Plant

. 32/52 9 P.T.O.
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Fig:  FHECTRET 397 @acl giRaTaa qhgntedel & o/ 397 61 26 & €& T/
&1 fagt g 3941 & 3% il :

Note: The following questions are for the Visually Impaired Candidates

only, in lieu of Q. No. 26. Attempt any five questions :

(26.1) 38 T &1 AW foafgu, St fid &t @dt S 9 fhamE 3 qw@mE
fopamm |

(26.2) 38 TSA &1 AW foaftgu, Sgt et 3 F9e ST I el |

(26.3) 38 USF 1 A fAflgy, &l SAlfcraiaran S gmhe g3 |

(26.4) 39 TF 1 W forRgu, et wen ar raisd gars uae feda ® |

(26.5) W TS 1 9 fafge, &1 I e 3R 399a 3 ford 2 |

(26.6) W TS 1 9W faflge, &1 70w anfvaes St ga fod 2 |
(26.7) UfTaq S o AT SaHTATS UTeh okl A0 AT | 1x5=5

(26.1) Name the State where the Indigo planters organized Satyagraha.
(26.2) Name the State where Gandhiji violated the salt law.

(26.3) Name the State where the Jallianwala Bagh Massacre took
place.

(26.4) Name the State where Raja Sansi International Airport is
located.

(26.5) Name the State where Salem Iron and Steel Plant is located.
(26.6) Name the State where Naraura Nuclear Power Plant is located.
(26.7) Name the Software Technology Park of West Bengal.

aaisiz| 10
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I3 9. 26 & foiw For question no. 26

WA kT WET-HTA T (TR
Outline Map of India (Political)

63° 72° 76° 80° g4° 88° g9° 96° 100°
I 1 1 1 1 I I 1 1
el T o ﬁ\ a o
36 o " 56
Y e TP
( 4

azek '\&{j\--\r\} 4132

28°

L 4
1

. { i -
T
28° | . ; o6 Ay .
R 7 ! H' “L‘ " —— "-L\"Jr

o 24°

20° 20°

160 160

190 12°

80

kmi100 0 100 306 500 km

40

[ 1 [ 1 [ 1 1
i 16° 80° 84° a4° 92° 96°
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[=] A%
SET-3
Series JMS/5 I .
Code No. 32/5/3
et 4.

wliemefi @ie 1 IW-YEdH & TE@-U8
Roll No. W 3ravd ford |

Candidates must write the Code on the
title page of the answer-book.

o YA FE H A foh 38 Y97 § Gigd I8 10 + 1 THH 3 |

o TH-UA H Fied FTU HI AR T T Shig TR Hl B IT-IEehl o JE@-I8 |
g |

o FYA E WA 70 I H 26 T 1 |

o HUAT T 1 IW {TEHT & HIH ¥ UgeA, T T THuTeh 99 ford |

o T THUA HI UG o fo1C 15 fiFe o1 Tm fon mn @ | WeA-9F W foaw gatg
T 10.15 5 5T IT@W | 10.15 ST § 10.30 1 b B hadd IH-UF bl TeTl
3T 39 AT & GRA o IT-YIEdh! T g I &1 fore |

e Please check that this question paper contains 10 printed pages + 1 Map.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 26 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on
the answer-book during this period.

I NS CAERIC]

SOCIAL SCIENCE

giRa a7 - 3 o2 S7feHaTH 3% : 80

Time allowed : 3 hours Maximum Marks : 80
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Wﬁﬁw:

(i)
(ii)
(iit)
(iv)
(v)
(vi)

(vii)

(viii)

34 Y97-97 %1 TR GUSI H [G97f5id 137 797 & | @V %, @S @, TUS T 3K
U8 7 |

3G Y97-97 H $He726 T 8 |

qyt o7 arfAard & |

Ted% Jo7 & 3 3G% T3 RT T E |

o7 Gegr1 8 7 7% 3T Tg-IF0T J97 & | IAF o7 1 3F BT |

o7 GEIT 8 & 18 T%F FeIF T 3 3F H 2 | FIH & FAPH J¥A H IH

80 og] @ 37feres @7 781 &7 FfT |

J97 G&IT 19 & 25 T % Y97 5 3% F & | 398 & Y9 Y97 &1 FH
100 3753 @ 37fere &7 987 &7 =eT |

J97 G&IT 26 HAIET Y97 5 3% H1 & | 399 31 917 & — 26 (A) 37K 26 (B) |
26 (A) 2 37% T A5G @ 7T 26 (B) 3 37 &7 YT & & | TlGT T 97
7O &4 T 3G 91 FR-GIaHT & 3K 7791 BT |

General Instructions :

(i)
(ii)
(iii)
(iv)
(v)
(vi)
(vii)

(viii)

The question paper is divided into four sections — Section A, Section B,
Section C and Section D.

The question paper has 26 questions in all.
All questions are compulsory.
Marks are indicated against each question.

Questions from serial number 1 to 7 are Very Short Answer Type
Questions. Each question carries 1 mark.

Questions from serial number 8 to 18 are 8 marks questions.
Answers to these questions should not exceed 80 words each.

Questions from serial number 19 to 25 are 5 marks questions.
Answers to these questions should not exceed 100 words each.

Question number 26 is a map question of 5§ marks with two parts 26 (A)
and 26 (B) — 26 (A) from History (2 marks) and 26 (B) from Geography
(3 marks). After completion, attach the map inside your answer-book.
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SECTION A

1. GEEEE 1eg W e hl SATEAT HINT | 1

HAAAT
“TaTCHe’ ITeg o A hi TR HIWT | 1
Explain the meaning of the term ‘Calligraphy’.

OR

Explain the meaning of the term ‘Epistolary’.

2. AT TS TG % T & TR H HifahRl 0T & Ig=m=1 7= 2 1
HAAAT
JufAfies wra #§ WrEifERn g faaamante= ot enyfe faea o fau fem

Jeh icdTied fopam T 2 1

Which nation was identifiable in the revolutionary tricolour in Sorrieu’s
utopian vision ?

OR

How were the Vietnamese encouraged by the French to look modern,
during the colonial period ?

3. Wzl ol fafma o1 wreaw w=ii el Sl g ? 1
HAUAT
[T ST 1 g1 o ®9 H 1 THS 11 8 ? 1
Why is money called a medium of exchange ?

OR

Why are demand deposits considered as money ?

4. dfceag o ‘G § @rEiery &1 B T dilehl T T | 1

Explain any one method of ‘Power Sharing’ in Belgium.

13253 3 P.T.0.



5. i 980 HEwUl UThidsh GETEH % &9 H S A1 8, FHHI Teh HRU

IR HIST |

3t
o= JdTs AT i IR HINT |

Highlight the reason for land being known as an utmost important natural
resource.

OR
Highlight the importance of contour ploughing.

6. AR EUYS B o fordl Teh ATH 1 Tqse HIfFu |

Explain any one benefit of removing ‘Trade Barriers’.

7. T8 YR Hi FEgel W e gHTEd o e weg fug (A Tes
3ferd Bl & ?

On which type of commodities is the logo ‘Agmark’ marked to ensure

quality ?
Qg @
SECTION B
8. ‘TR 7 T 1 GEWAT ! TGRIT g |7 Tl Higd 389 HAA ! IS HINT |
T

“qui-STA FUEY TG, TS hl GAWT HI THEAT HT HH HT H TH TN T
2 1” S S = 38se |

“Urbanisation has added to water scarcity.” Support the statement with
arguments.

OR

“Water harvesting system is an effective measure to reduce the problem of
water scarcity.” Justify the statement.

9. ST % FE H 3T A foemmh 61 iRt 1 auiE HINT |
T

foaram o amTsy forid STTgras | Afgatsti hl qHehT sl 9 HifT |

4



Describe the role of Otto von Bismarck in the making of Germany.

OR

Describe the role of women in the ‘Anti-Imperialist Movement’ in Vietnam.

10. “@rctedt Wt G § Jgur shifd I AN T Sitad set fean |7 Sugek el afed
39 HeH H gfee FIfu | 3
YT
“Sadt wdt % U IuTEl | Afgarsti & e gH @ fafa e 17 sw
HYA hl I IeTEN Flgd gfse hifv | 3

“Print Revolution in sixteenth century Europe transformed the lives of
people.” Support the statement with suitable arguments.

OR

“The nineteenth century European novels depicted the involvement of
women.” Support the statement with suitable examples.

11.  Ffafed # wie woal it Sre wear § afied HI 3
(i)  gF ()
i) @M
(iii) =
(iv) <pUH
(v) O Rl wEA
(vi) @l

Categorise the following as ‘Kharif crops’ and ‘“Zaid crops’:

(1) Paddy (Rice)
(ii))  Cucumber
(iii) Bajra

(iv)  Cotton

(v)  Fodder crops

(vi)  Muskmelon

13253 5 P.T.O.



13.

14.

15.

16.

SAT-ITAT AN o T o A& fopm JopR 9 214 8 2 Sergwn afgd T

i | 3

How do different persons have different developmental goals ? Explain
with examples.

A f5d o o fohegl @1 T I T HINT | 1x3=3
HAAAT
U7 i A g It hl ST HIT | 1x3=3
Explain any three functions of the Reserve Bank of India.
OR

Explain the three important terms of credit.

“Tafira Tt gart 0 Wiagfgar foret off el § %e a1 o Tohcl 8 17 e
i gfse =hifo | 3

“Competition among various political parties tends to divide any society.”

Support the statement.

UM & fehrgl o9 STfereprl 1 ISR hIfS | 1x3=3
Highlight any three rights of consumers.

“Terare’ i Topeal o9 fommanett <1 aviF il | 1x3=3
AT

griaetaer TRNEE, 1992 g LA TRt fHhrl i 93rk a9 & fiw 381w

T foRegl T heHi T Jui T | 1x3=3

Describe any three features of ‘federalism’.

OR

Describe any three steps taken to strengthen the local self-governments, by
the Constitutional Amendment, 1992.



17, “oehfy sit amfvs Rl @ areg § O T8 A i s A
YT 38UsT | 3

“Politics and social divisions should not be allowed to mix.” Justify the
statement.

18.  STSToRTUT ohl 3Tfeeh AT S o fehegl I hIh! ol fagdqul Shifvle | 71x3=3

AU
A | SgUSER HAHAT (TH.OA.HY. ) T ofvellentol < TWTEl 1 foveiso e | 3

Analyse any three factors that make globalization more fair.

OR
Analyse the impact of globalization on Multi-national Corporations
(MNCs) in India.
Qs 1
SECTION C
19. 9Nd § WA & fohgl aia ATl ot 9 Shifse | Ix5=5

Describe any five benefits of tourism in India.

20. AIhd I AIET i § ASHITTD ol o Tehral rd BT bl IATR hINT | Ix5=5

ST
gAR fou uerifaes aatt sl Seta 1 8 2 fohegl 9= ShIol sl ISR ShIfT | Ix5=5

Highlight any five functions of political parties to strengthen democracy.

OR
Why do we need political parties ? Highlight any five reasons.

21. 9Rd ® T 3= <kl fopeal ura fomiwareti =1 wuse hifv | Ix5=5

Explain any five features of sugar industry in India.

13253 7 P.T.0.



22.

23.

24.

25.

ST H 1890 o <3k H “NetuEe’ & JHTEl 1 Jui9 <hIfST | 5
AuaT

‘Hreifieh shifed’ < g U9 W HIGU <l SIS <l UM HIWT | 5
AU

Il 9t & geT § e H Uit & fouy § qushrt w9 g fehu e

TATET T U shIfST | 5

Describe the impact of ‘Rinderpest’ in Africa in the 1890s.
OR

Describe the conditions of workers in FEurope after the Industrial
Revolution.

OR

Describe the efforts made by philanthropists to counter criminalisation in
London in the mid-nineteenth century.

TRd H AT SAHHAEAN 929 & hig i HRU T HIIU | Ix5=5

Explain any five reasons for the weakening of ‘Caste Inequalities’ in India.

“afea 3193 eI bl HimrsT il e FifSu | 5
YT

YRd s oA R Toifass feafa W vom fova g’ < uftomdi i samen
HIT | 5

Explain the limitations of the ‘Civil Disobedience Movement’.

OR

Explain the implications of the ‘First World War’ on the economic and
political situation of India.

Troft e’ 1 fopegl urer forsmareti &t 3SR I | 1x5=5
Highlight any five features of ‘Private Sector.’



wus ¥
SECTION D

26. (A) T AFY ‘@’ IR b T T HRA o TSHITGh W@-AFERS (98 11 W), §
3iferd fopu U 8 | 3 g w1 fefafad St i g8 @ gg=nHe
3R 3Tk T A 3 THIT Wit 78 Wreh w e 1x2=2

(a) 9% TN TET YR TS HIE H1 AREIE g |
(b) 98 TAW Tl S 3 Fell fret WGyl o 94 H Heawg oA |

(B) 3! feq U WRA o TSHideh @-AH § HEfaRad § 8 gt aiv

I ITYH FaRl | guiigy 3R Ik a1 fafaw 1x3=3
i) TmEE — A gaTE T

(i) ¥gEdt - g 3 T 93

(iil) Ufead STTET T HiFCATR oISl UTeh

(iv) fegd — iy

(v) <H — 3fvees eI I

(A) Two features ‘@’ and ‘b’ are marked on the given political outline
map of India (on page 11). Identify these features with the help of
the following information and write their correct names on the
lines marked near them :

(a) The place where the Indian National Congress Session was
held.

(b) The place where Gandhiji organized Satyagraha in favour of
cotton mill workers.

(B)  Locate and label any three of the following with appropriate symbols
on the same given political outline map of India :

(i) RajaSansi -  International Airport
(i) Bhadravati -  Iron and Steel Plant
(iii) Software Technology Park of West Bengal
(iv) Tehri — Dam

(v) Kaiga —  Nuclear Power Plant

13253 9 P.T.O.
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Note :

HETfeTRad go7 @acl giearaa qienfeal & o 397 &7 26 & €& T/
&1 fagt g 3941 & 3% il :

The following questions are for the Visually Impaired Candidates

only, in lieu of Q. No. 26. Attempt any five questions :

(26.1)

(26.2)
(26.3)
(26.4)
(26.5)
(26.6)
(26.7)

(26.1)
(26.2)
(26.3)

(26.4)

(26.5)
(26.6)
(26.7)

3G TSY o W fige, SEf fid 6 @dt @ g feem 4 gaag
fopam |

39 TF o1 99 fafign, &t 1iefish 3 = S @ arel |

39 TSF 1 AW TAfay, T8l JAlcriaran S g ks g3 |

30 T 1 AW faRan, SEf ae gl sr=auisd garg uaq oo 2 |

3T T 1 7 faRge, STEf gom A 3 3991 S99 o ?

30 Tsg &1 9 faRgu, st T enfvaes et @u fea B
Ufeem ST o HiFedTR CoIarst UTeh 1 A foAfEy | 1x5=5
Name the State where the Indigo planters organized Satyagraha.

Name the State where Gandhiji violated the salt law.

Name the State where the Jallianwala Bagh Massacre took
place.

Name the State where Raja Sansi International Airport is
located.

Name the State where Salem Iron and Steel Plant is located.
Name the State where Naraura Nuclear Power Plant is located.

Name the Software Technology Park of West Bengal.

10
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I3 9. 26 & foiw For question no. 26

WA kT WET-HTA T (TR
Outline Map of India (Political)
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SET-1

Series JMS/3 awa. 42/3/1

IS &9d

Candidates must write the Code on the
title page of the answer-book.

fagqur J9d fadlye a9 ®= fg fen yas U39 3 80 J¢ 6 Us + 1 &3H
I5 |
W@H%@Wﬁﬁﬁﬂﬁ%ﬂ%%%.émgwyﬁsw%
Hy U 3 wgg f8ue |

faqur 993 =¥ B2 1 for yHs U39 f=9 26 YHe I5 |

faqur a9a €739 foue gg 295 3 Ufost, yis & ix (Hifows &99) #g9
f&u |
fgﬁrl{ﬂ?;ﬁga§u3?§€88°r15ﬁ4€?wf€?ﬁmrau{ﬂ?§u3€
ALY 10.15 T &3 A= | 10.15 3 3 10.30 T 3 I3 YIS
@Smmmmléﬁ%vddmﬁgaﬁ@?ﬁﬁ

gz((

Please check that this question paper contains 6 printed pages + 1 Map.

Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

Please check that this question paper contains 26 questions.

Please write down the Serial Number of the question before
attempting it.

15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on
the answer-book during this period.

A fefamrs

(dreft G=a)
SOCIAL SCIENCE

(Punjabi Version)

HH™ HIHT : 3 W2 YIE e : 80
Time allowed : 3 hours Maximum Marks : 80

420311 1 P.T.0.




[a] 5

@) FoH yFE Y37 3 TT YT T e fapdT T | ¥S o, ¥F 8,
45 H w3 Y5 € /

(i) TOH YHS Y39 129 58 26 YHS IS |

(i) H'T YHS AFI IS |

(iv) JII 1&F YHE € FHE BF € »a g3 I8 I3 |

W YHE HwT 1 37 39 993 52 B39 @8 YHS I& | II &
YHE 1 e T J |

(vi) YHE HIGHT 8 F 18 37 IT 18 YHE 3 #a € I | 1857 €9 IT
foa ymE €7 839 80 HEE™ 3 [T 31 I TdeT T/

(vii) YHE AT 19 3 25 35 IT od YHE 5 »ad €7 T | 537 &9
JT o YHE T 37 100 FEE” 3 [T 37 I TIeT I

(viii) YHE HIT 26 H'BId3T HIGT YHE 5 #a &7 J | BH € €
T — 26 (A) #3 26 (B) I | 26 (A) 2 W € IFTH 38 W3
26 (B) 3 Wd € B 3B HEGI I& | MG € YHS YI7
Jad WSl 837 YHIT 3% 397 J9 |

SER|
1815 feg fie3d ‘gdled wHs yudh’ & eI Joidt &8
73 gnft I FHadt 3 Iy Jue © e HAIhY € feud fag
gITE ?

ey
1907 fe9 feuzaH feg ‘Sfds <t nas’ fag™ 88 ae 2
EUEl (HEd) WdT 3 ufgst 993 feg srg=a <f ydgl =33 fag
&t St 7t A 2

oy
993 o9 Jodl Aet © ved Todfan feg femdhd™ w3 dfert §

528 YIS 3 =9 fag” Ater Ht 2

fal fal

ECHGIGEET)

I3 feg vt &t yordt €@ AW fa= §-wilardt (wah
et gHed TG 2

7
IAIT3 feg TUJ Ugg9s g-mUdidt € B fas dreg J 2

42/3/1 2



T T 2

S o9 THId "aaa (AHBfadt aedahc) fa= It
~ fa) n a_

Hfagd = »Hlg ufgeg &t feqd 830 © St foaw o J97 I
1

J?
ol
w9 farst € st fegm = d97 ot § Aaer 9 2
yEfHa »3 StHd »rafeg u3a o feg feq Gorgge 849 | 1
fo<H w3 feeHt focm feuw g9d mume &9 |
CER
¥ U feg Ju feg wifenr o fanrfanr
3

fges fa< fed gHeI-I=
q
feu3a™ fog A8 fae JHBI3d W3 Afedgad HWIH & w3t
3

al

|
feg 9= 1T 2 fourfipdT 99 |
Baldt vt feg gou feg fac gfont, ferdhd™ w3 I (HagdT)
eaﬁmesc‘rﬁm?ﬁq?ﬁwm@?wwde' Afa3 o fpr
| 3
Fr'r

wiufeefad (gAdte<t) AdaT & ATsd T3t feg foy aest feg ot
mmﬁmwmgﬁﬂm?qawms fde &Hd
nfem 2 Gergas Afas fenrfunT 33 |
oH & »iafag fegm &t Az © gy fe9 fagr=-Badar &t Hasar =7

(L])(

ab

N 2

II&E A9 |
Cu
3l T feaw feg GTuWar © Waw's T TJ&6 a9 |
11.  “Aus "I & Wased! fea digsed yfafonr I 17 S@E @ F
fon 96 § § 93 3fgTE |
THSIE feg A3 (S9<) fa= »iea U & Had J 2 BEgae A3

10.

=N

J

fal

12.
fenfimr 39 |
ol
A8 9 feg ot fug ferdhr &t wener feg fag |
J 2 Gogast wfaz feurfymr 39 |
3

420311




14.

15.

16.

17.

18.

19.

20.

“Badsdt feemgr &t =St ATH3T fauH »igAd W3 foady ga=t feg

J 17 fen qus T fendne a9 | 3
“8I337  HAY3 dI5 & g J9 B33t feeHET & AHS faH &
fan gu feg I 1”7 Begae Afa3s 95 <t yndt 99 | 3
H$ d2d3 A6 A3 & fawydad »3 Adt 21 &8 =93 98" J9a]
gt I 2nmyE fe99 § WuHe 49 | 3
feas ot gt 439 feg ft =09 IAarg fa= U= i3 77 Aae Is ?
far 135 3dtfan™ &t fonrfir™ a9 | 1x3=3
oy
9793 feg gdardt &t mifir § fag g9 o3 77 waer J 2 fan f3s
Itfa &t faumf™ 99 | 3
“Bug AAIIHA FHA MeT I HaeT J |7 8IS © o fen J8s §
893 sfaaG | 3
Cu
“Gug sIISHA IHAT iET I AT J 17 BB € J fon I8 §
893 sfaaG | 3
393 feg feodt Hed™ (fa=w) § M3 J96 © S ded W3 I
IS It 9o T fan 38 I=HT T 968 a9 | 1x3=3
CES)
HIBHT Jridt € fegd™ w3 AedH & U9a € 99 fI9 USHG
Hagg o oyt A9 fa< oY 2 formfim 99 | 5
Cu
g93 & [ Y IO feg famas w3 wifeed & ‘aiHs<dss
niass’ feg fag famr foum ¢ fonrfipm a9 | 5
1920 ¥ SUW © HES AH © <976 Il nidufeenmy fa: 3t &
334t I96 Bt ? Gugae wiaz fenfinr a3 | 5
Hr

42/3/1 4



S At © 2976 R8s © 999 o9 Haegdl & 99373 T HAgd
&t fAedft Sua fad fagr »ma Ifenr 2 Begas Afgs farfimr a3 | 5
oy
SIS Aet © 983 © wI w3 Foufen feg d8 € <& yu9 3
feH3Hs a96 Ids fag didla mifmre’ U=r I It ws 2
Segde Afg3 fefimr 39 | 5
21. 93 o9 Qo wre Td8 @ yHY JEET SRS & &H &Y |

U397 &7 TIES d9 | 1+2+2=5
22. ““fan oW € »i3ggwmed! U9 § wafax SoHted fagr @ I 1”7

oBIBT 2 o fon 9895 § B 93 3foa§ | 5
23. I93 I I3 oF feu 35 A3t Adad <t HI33™ T <[RS A9 | Ix6=5

7

Awee It far 7 fedas=' T <968 99 | Ix5=5
24. I3 89 =5 &t gHedt w3 93¢t uadt T QU o9 vEe I9 w3 gt

g9 - 5

() BHES dTBSIH
Gi) THIHST W=t €%
Gii) ST.oWH.3. (DMK)

(iv) OH&S JOIgH Ut

(v) IId 79637 UTI
vi) fHE= A

(vi)) <S'I<SIS g8
(viii) H63T €8 (U)

(ix) JTHII 763" &8

(x) HAHHSE yTdd

25. ‘‘gq9 fog Tobusar (Fme) It Ui feg dvr 9 17 fanrfimm a9 1 5

420311 5 P.T.0.



CEE)
26. (A) © Bg< @ M3 P I3 IT 93 T TIARISA JUT HKI39
(J&r 7 3) feg »ifaz I3 92 g5 | fegt Sg=t § J& fIst
Aeadt & Hew 3% yEe w3 fegt @ At &, Hald39 few
o It Juet Gug oY . 1x2=2
(a) GI & 78 3733t Iwedt Jiaon = wiAs™H Jfew Ht |
by ST 7 fiE 35 &t ot 996 TV famas’ T »i<ss HY
Jfenm Ht |
@B) fen Fft fe3 IT 993 € IHSI3T U™ Hafusa feg JIs fafimt
fed @A 33 § ga< fogs’ It 29§ w3 8g' € v &Y : 1x3=3

i) d9as — gy (3H)

i) o ~  YHY AH=d! g

(i) HSH — BT 3 AAS T T
(iv) dJed¥= -  HEIIWJ JA&BH Uad
(v) &JdT - feGdfeng u=g uge

3<: I3 18l yuS Je5 fgut feas o YifmadinT & &1 yHE Ay
26 € ¥ gEB< YHE I | R YT YHST € § 39 16
(26.1) ©7 34 = s 84, e aferies g9 & wesr It |
(26.2) ©7 wWEs ¥ &H fou, g otz &t vt © s fams &

HAfmargfa <37 H |

(26.3) JAI3 < B WEs T &H &8, Hy fams’ & Af3wmaefa
3T H

26.4) ©F g7 T aH f88, g ssidt Sg-adt a3 It gy
HE3 36 |

(26.5) ©F I7 T &H 8, fAg It miedt degarg Afas T |
26.6) ©F g7 T W 88, fAg &J77 fsCafen =g use AfE3

Jd |
26.7) ©F Iw T aH 88, g TIamyd Jo-As qayTsT AfE3
J I Ix5=5
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SET-2

Series JMS/3 s 42/3/2

IS &9d

Candidates must write the Code on the
title page of the answer-book.

fagqur J9d fadlye a9 ®= fg fen yas U39 3 80 J¢ 6 Us + 1 &3H
I5 |
W@H%@Wﬁﬁﬁﬂﬁ%ﬂ%%%.émgwyﬁsw%
Hy U 3 wgg f8ue |

faqur 993 =¥ B2 4 for yHs U39 f=9 26 YHs I5 |

faqur a9a €739 foue gg 295 3 Ufost, yis & ix (Hifows &99) #g9
f&u |
fgﬁrl{ﬂ?;ﬁga§u3?§€88°r15ﬁ4€?wf€?ﬁmrau{ﬂ?§u3€
HSJ 10.15 2 &3 7=dl | 10.15 @7 3 10.30 2 3 I3 YIS
@Smmmmléﬁ%vddmﬁgaﬁ@?ﬁﬁ

gz((

Please check that this question paper contains 6 printed pages + 1 Map.

Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

Please check that this question paper contains 26 questions.

Please write down the Serial Number of the question before
attempting it.

15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on
the answer-book during this period.

A fefamrs

(dreft G=a)
SOCIAL SCIENCE

(Punjabi Version)

HH™ HIHT : 3 W2 YIE e : 80
Time allowed : 3 hours Maximum Marks : 80

421312 1 P.T.0.




[a] 5

@i) f%FQHdﬂU%’déld’dH?fi%VE%WW3/UT§’%H%SC
45 H w3 Y5 € /

(i) 1EF YHE Y3 [eF IS 26 YHE I3 |

(i) H'T YHS HAFd IB |

(iv) JII 1&F YHE € FHE BF € »a g3 I8 I3 |

W YHE AT 1 3 7 39 993 &2 B 99 @8 YHE I& | II &7
YHE 1 W &7 T |

(vi) YHE HIPHT 8 F 18 37 IT I8 YHE 3 #a &7 I | 1857 €9 IT
o7 ymE €7 839 80 HEE™ 3 [T 3d] I TdeT T

(vii) YHE AT 19 3 25 35 IT od YHE 5 »ad €7 T | 1537 &9
JT &7 YHE €7 §37 100 HFE" 3 fawreT 3d] J&T gdier I

(viii) YHE HIWT 26 H'BI93d HEGT YHE 5 #a & J | FH € €
I — 26 (A) 73 26 (B) I | 26 (A) 2 W & FIFTH 38 W3
26 (B) 3 Wa € FAB IS HEGI I& | MBI & YHE YIT
Faad Wyl €37 YyHIT 3% 391 J9 1

CER|
afag € »iflg ufgeg <t feg 83t € st feam o A9 ft I Aa=T
J?

cy
wig fars™ @ st fegm o A9 &t T A= T 2
g3 feg vt &t yordt © dH fa= §-niardt (uadt feu fagr=e)
Fdt gHed TG 2

ey
IMIT3 feg TUJ Ugg9s g-miaidt € Bt fag dieg J 2
EUTEl (HEd) WdT 3 Ufgst 993 o9 sz <f ydgl =33 fag
&t it At Ao 2

ol
g93 few ot vt @ yed =gfadt feg ferd® w3 dfow’ §
5E% YIS 3 9T fag wier HY 2

421312 2



10.

11.

12.

H Sar feg wag v ddft (fHesg @9) a8 §g J¢t 2 1

1815 o9 fmre3d ‘FEe<t WHs Yo & SIHIHT J973l &7
73t gnft I FHadt 3 Iy Jue © BE HAIhY © feud A€

g ? 1
ol
1907 fe9 fewza™H feg “Sfas et Ags’ g ¥ Jre 2 1
THJ Y39d &7 wafed AIagHT & € Bergde feb | é+é=1
g9 JHSIT qUET fd2 gRdT udhT &8 T I 2 1
s g

393 feu feort vegm (foew) & »radfiz d96 € Set dgd M3 I
IS I 9o I fan 35 IeH T <966 99 | 1x3=3

“BUd AIIIHA FHAT »ET J9 A= J I’ SIS @ o fon I §

893 afaa 6 | 3
Har

“Qug sIIIHA IHAT iET AT AT I I BB € J fon I8 §

893 sfaaG | 3

ffas ot gt 39 feg It =09 Irara fag U= i3 a7 Fae Is ?

fan 35 3Tt &t fonmfmm 33 | 1x3=3
Cu

3793 feg gdardt &t mHfm § fag g i3™ & Waer J 2 fand 35

Ittt ot fanmiemrm 39 | 3

“go3 feg gt I T 9 Y9 I g-nrfgddt fHsdEh

I& | 35 Begde © & 398 & 8§93 3faaG | 1x3=3

H§ d2d3 U6 A3 & famiydd »3 Adt 891 &8 =93 98" Il
T I 2mmye fe99 § AuEe 99 | 3

421312 3 P.T.0.



14.

15.

16.

17.

18.

19.

fges fa< feq Imeg-gv & gy feg Je feg »rfenm 2 fonrfinr
coll

ou
f[Ta3eH feg Ag® fae IHSISd M3 Afe=da HWTH © nrftfanf
feg 928 9 ? fourfam™ 99 |
“fafar3g AEUZ 893391 feerge’ ¥ AHE 89339 ¢ feAsT &t
IS T 17 BTgas € J qus o yudt 99 |
Balst vt feg gou feg fac gfonr, ferdhd™ w3 Il (HaEd')
< T3 ISt faret feg &2 uaa =u 2 Gugas Afgs fenrfimr

ey
niyfeefia (SASie<t) Adad § Aaed 93t fog 8y aest fog ot
Hles w3 ATt foed &% a3 Acadl T [BHS™ A3 fa< &@d
e 2 Berade Afgs fefipm 39 |
oH & »iafag fegm &t Az © gy o9 fagr=-Badar &t Hasar =7
<I66 99 |

o
vt © feam feg BTWar © WS T <968 o9
IreE feg 73 (IJ<) fa= widsd’ gu & Wa<t J ? S¥ade Afgs
fenrfipd 93 |

oy
A8 on feg wmaet g ferdh & wener fe9 fa? mug Jfenr
J 2 Gugas Afaz forfonT &3 |
“BaI3dt feemgr dt =St ATH3T fauH »igAd W3 faady ga= feg
J 17 fon 996 T fendue d49 |

CERC|

93 2991 @3 o fog 35 A3dt Aaad ot HI33™ €7 2966 d9 | Ix5=5

Cy

A dho fan Jg feRaser @ @988 d9 | Ix5=5

421312 4



[8aw
20. HISH Irdt © fe99 W3 HAedH < U9s’ © ¥4 fe9 USTHG
Hagd" o iyt A9 fac Y 2 fenrfanT 9 | 5
C
I3 @ [ | Iar fe9 faas’ w3 wifeed it & ‘TfHS=I3E
news’ feg fag faar four 2 fanrforr 33 | 5

21. 993 w3 feg AUT fonre © St 9793 AdAT I 13 IE fan
a JU9rst (29681 Hedt w3 HArges (fendicunss) muar &

<I&55 I9 | 1x5=5
22. 1920 ¥ €99 € HES AH ¥ T96 mHdldl miggfeeny fac 3+t &%
331 FI& Bt ? Curgas’ AfT3 farmiorT 33 | 5
oo

S 7t © ©976 R8s © 909 feu Hugdt & 9933 T HAgd

<t fi=aft BuT fad faa™ »mg JIfenr 2 Begos Afg3 fewrfimr a3 | 5
ol

SIS At € fEo¥s © w3 w3 Iquien feg 3% & <[ Uug 3

fersHs a9 I9s fde JMdd mHfmmer Ugr 3 e W 2

Segas Afg3 fanrhind™ 33 | 5
23. ““fan oW € »i3ggmed! T § wIfex Soied fagr wer I 1”7
o8IgT 2 o fon 9895 § B 93 3foa§ | 5

24, J& o3 gWISd €8T € I foua’ w3 Heu3 g & gt 568 . 1x6=5
()  TAHST »iaet €%
(i) HAHHSET U
(i) €. S e,

(iv) TIeH® J9I9H

(v) JTHII 79563 &8

25. “‘QUIIRET § aEWY HogHl w3 HEe © 93U aans o IguTE =
wfgag I 17 qEs & yEd 9 | 5
421312 5 P.T.O.



CEE)
26. (A) © Bg< @ M3 P I3 IT 93 T TIARISA JUT HKI39
(J&r 7 3) feg »ifgz 3 92 g5 | fegt Sg=t § J& fIst
Aeadt & Hew 3% yEe w3 fegt @ At &, Hald39 few
o It Juet Gug oY . 1x2=2
(a) GI & 78 3733t Iwedt Jiaon = wiAs™H Jfew Ht |
by ST 7 g 35 &t 4t 996 =B faAs’ T »i<ss HY
Jfenm Ht |
@B) fen Fft fe3 IT 993 € IHSI3T U™ Hafusa feg JIs fafimt
fed @A 33 § ga< fogs’ It 29§ w3 8g' € v &Y : 1x3=3

i) d9as — gy (3H)

i) o ~  YHY AHed! g

(i) HSH — BT 3 AAS T T
(iv) dJed¥= -  HEIIWJ JA&BH Uad
(v) &JdT - feGdfeng u=g uge

3<: I3 18l yuS Je5 fgut feas o YifmadinT & &1 yHE Ay
26 € ¥ gEB< YHE I | R YT YHST € § 39 156
(26.1) ©7 I = W 84, e aferies g9 & wesr It |
(26.2) ©7 wWEs ¥ &H fou, g otz &t vt © s fams &

HAfmargfa <37 H |

(26.3) JAI3 < B WEs T &H &8, Hy fams’ & Af3wmaefa
3T H

26.4) ©F 7 T aH f88, g ssidt Sg-adt a3 It gy
HE3 36 |

(26.5) ©F I7 T &H 8, fAg It miedt degarg Afas T |
26.6) ©F g7 T W 88, fAg &J37 faCafen =g use AfE3

Jd |
26.7) ©F IH T aH 88, g TIamyd Jo-As aayTsT AfE3
J I Ix5=5

421312 6



(=] 1 [=]
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YHG H. 26¢ B
93 T IYT H'af939 (TABIER)
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SET-3

Series JMS/3 awa. 42/3/3

IS &9d

Candidates must write the Code on the
title page of the answer-book.

fagqur J9d fadlye a9 ®= fg fen yas U39 3 80 J¢ 6 Us + 1 &3H
I5 |
W@H%@Wﬁﬁﬁﬂﬁ%ﬂ%%%.émgwyﬁsw%
Hy U 3 wgg f8ue |

faqur 993 =¥ B2 1 for yHs U39 f=9 26 YHe I5 |

faqur a9a €739 foue gg 295 3 Ufost, yis & ix (Hifows &99) #g9
f&u |
fgﬁrl{ﬂ?;ﬁga§u3?§€88°r15ﬁ4€?wf€?ﬁmrau{ﬂ?§u3€
ALY 10.15 T &3 A= | 10.15 3 3 10.30 T 3 I3 YIS
@Smmmmléﬁ%vddmﬁgaﬁ@?ﬁﬁ

gz((

Please check that this question paper contains 6 printed pages + 1 Map.

Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

Please check that this question paper contains 26 questions.

Please write down the Serial Number of the question before
attempting it.

15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on
the answer-book during this period.

A fefamrs

(dreft G=a)
SOCIAL SCIENCE

(Punjabi Version)

HH™ HIHT : 3 W2 YIE e : 80
Time allowed : 3 hours Maximum Marks : 80

421313 | 1 P.T.0.




[a] 5

@) FoH yFE Y37 3 TT YT T e fapdT T | ¥S o, ¥F 8,
45 H w3 Y5 € /

(i) TOH YHS Y39 129 58 26 YHS IS |

(i) H'T YHS AFI IS |

(iv) JII 1&F YHE € FHE BF € »a g3 I8 I3 |

W YHE HwT 1 37 39 993 52 B39 @8 YHS I& | II &
YHE 1 e T J |

(vi) YHE HIGHT 8 F 18 37 IT 18 YHE 3 #a € I | 1857 €9 IT
foa ymE €7 839 80 HEE™ 3 [T 31 I TdeT T/

(vii) YHE AT 19 3 25 35 IT od YHE 5 »ad €7 T | 537 &9
JT o YHE T 37 100 FEE” 3 [T 37 I TIeT I

(viii) YHE HIT 26 H'BId3T HIGT YHE 5 #a &7 J | BH € €
T — 26 (A) #3 26 (B) I | 26 (A) 2 W € IFTH 38 W3
26 (B) 3 Wd € B 3B HEGI I& | MG € YHS YI7
Jad WSl 837 YHIT 3% 397 J9 |

CERY|

g3 feg vt &t yordt € dH fa= §-wiardt (uadt feu fagr=e)
Tt gHed TG 2

oy
IM9T3 o9 =09 Ug996 F-wiadt € B fa< dHeg J 2

afag € »iflg ufgeg <t feg s3dt €@ &t fegm = S I T Aa=r
J?

A
niig fars™ © &t fegm = d97 ot I Aaer 7 2
1815 feg fe3g ‘gie<t W Yo’ & SIHIHT 9t 575
73 gnft I FHadt 3 Iy Jue © e HAdfy © feud fa€
g ?

ap

e
1907 fe9 fewza™H feg “Sfas et A’ g ¥ Jre 2

421313 2



10.

11.

12.

39 M3 99 8 T8 Jq o 8fmH feg ‘WHHa’ Fdag fog

FHTE fae i3t aret 2 1

Ul (Hede) wal 3 ufagt 993 fog gnzda o el =93 fag”

&1 St At Ht 2 _ 1
Hr

g93 few ot vt @ yeEd =gfadt feg ferd w3 dfow §

&2 UFs 3 3t faQ” e Ht 2 1

HI ydd & u33d It fonidhd ardher fan @ ys A=l @

Sergde &y | é+é=1

fan © I g9t U™ © aH 88, fagdhd™ ggdmedt uah

T gy feg G I5 | é+é=1
CER:

AT gad! AUS HIST o fawyad »3 Adt €91 578 =93 a8 33l

gt I 2nmyE fe99 § WuHe 49 | 3

feas ot gt 439 feg f =09 grarg fa= U= i3 77 Aae Is ?

fan 35 3Tt &t fonmfmm 33 | 1x3=3
Y

9793 feg gddardt &t mfmr § fa< g9 o3 77 waer J 2 faw f3s

ISttt ot fanmiemrm 39 | 3

“Qug HAIIHA FHA MeT I HawT J |7 IS © o fen I8 §

893 afaa 6 | 3
Hr

“Bug FAISHA FHAT mET I HAET I |7 €FST € o fen J96 §

893 afaa 6 | 3

“Hodt FggoH™ & gadt (3) © feralads feg vy gfHar fagmet

Jd 1”35 B¥gde © & fon 9596 § 93 3096 | 1x3=3

393 feu feomt veg™ (foem) § »aafis J96 © BT ded M3 I
AISgT It 9o I fan 35 qeHT T 2966 d9 | 1x3=3

421313 | 3 P.T.0.



14.

15.

16.

17.

18.

19.

JHSIE feg 93 (S9<) fa= »isar U & Hadt J 2 Begae A3
forfp 99 |

y
A8 o feg vt g ferdh &t wemrgr feg fad w9 Jfenm
J 2 Gugast Afaz forforT &3 |

“I46 g I IASIET § HUGS of HY o fuses It It 9

Ig& o yrdt Begas < 337
“BaI3dt feemgr dt =St ATH3T fauH nigHd w3 faady ga= feg
J 17 fon 998 = fendue 949 |
<& fa< fed IwHeg-3w © gy feg Je fe9 wrfenr 2 fenrfr

—

dd |

pw

oy
fTusa™H o9 7gs fa< Imalf3d w3 Afg=ad RugH © myrfanT

feg gox g 2 feurfauT 39 |

@ﬁwmmmmm ferdt™ w3 Ffiof™ (HAEd™)
%ﬁweﬁﬁwm?ﬁm@?wwd@ AfI3 T
9 |

ey
nifeefia (SASie<t) AT § Aaed 93t fog 8y aest fog ot
Hles w3 St fooa &% gt Acadl @ [BHS™ A3 fae &7
et 2 Bergde’ Afg3 fanrfnd™ 9 |
on ¥ oafeg fegm & i3 € gu feg fogHre-Betwar &t vaz3sr =
TIES dJ |

Y
3t T feaw feg GTuWar © Waw's T IJ&6 a9 |

CER]
“far €7 € ni3ggmedt U9 § wiafaxy SdHie fagr Awr 9 17
oBI% © d fen 9896 § §93 3fa96 |

421313 4



21.

22.

23.

24.

25.

93 =J91 23 °F feg 35 A3t Agdg &t HI33™ @7 =966 49 | Ix5=5

a
Aw=e I fan g fedms=r @ 2966 39 | Ix5=5
UTgd gt dhe fan Ua fermas=r = =968 d9 | Ix5=5
HISHT ardt & fegra’ w3 Hedw of U9’ &€ 949 feg s cHs
Hagg' of oyt A9 fa< oY 2 formfimr 99 | 5
q
gI3 & 29 24 Jar fag famas’ w3 wifaed e & ‘afH®S=d38
Wows’ fag fas foar feur 2 formfyn a9 | 5
1920 € T € HES WH © <96 W wigafeeny fa 34 53
331 FI& Baft ? Cugas’ AfT3 farmiorT 33 | 5
q

S 7t © ©976 R8s © g0 feu Hugdt & 9933 T HAgd

EPr fieaft Qua fgd fAg™ »wiAg Ifenr 2 Begas Afg3 faforr a3 | 5
C

SIS At € %3 © W™ w3 Iquien feag 3% & <[ Uug 3

fom3H™® 996 d96 fa= d8id AHf= U=r J e A ?

Segac Afd3 femimT 99 | 5
Ud I & 3H I8 fa3 9re g5 | fegt feg 99 feq g < fan feq
Y3t I3 €% § OF © I fous Afos 8y | 1x5=5
() HY o3 Il

) 3fHBE3

(iii)) HJIJHTI

(iv) WMHH

v) §3ITyw

“QuaasT § T @ feuss (Hadlfdar) w3 Aeer & yudt @
fegu gaftmz Ifas @ wifgerg Jer T 17 dEs &t gt 9 | 5

421313 | 5 P.T.0.



CEE)
26. (A) © Bg< @ M3 P I3 IT 93 T TIARISA JUT HKI39
(J&r 7 3) feg »ifaz I3 92 g5 | fegt Sg=t § J& fIst
Aeadt & Hew 3% yEe w3 fegt @ At &, Hald39 few
o It Juet Gug oY . 1x2=2
(a) GI & 78 3733t Iwedt Jiaon = wiAs™H Jfew Ht |
by ST 7 g 35 &t 4t 996 =B fams’ T »idss HY
Jfenm Ht |
@B) fen Fft fe3 IT 993 € IHSI3T U™ Hafusa feg JIs fafimt
fed @A 33 § ga< fogs’ It 29§ w3 8a' & aH &Y : 1x3=3

i) d9as — gy (3H)

i) o ~  YHY AHed! g

(i) HSH — BT 3 AAS T T
(iv) dJed¥= -  HEIIWJ JA&BH Uad
(v) &JdT - feGdfeng u=g uge

3<: I3 1Bl yuS Je5 fgut feas o Yt adinT & &1 yHE g
26 € ¥ gEB< YHE I | R YT YHST € § 39 156
(26.1) ©7 34 = s 84, e aferies g9 & wesr It |
(26.2) ©7 wWEs ¥ &H fou, g otz &t vt © s fams &

HAfmargfa <37 H |

(26.3) dIAI3 < B WEs T &H &8, Hy fams’ & Af3wmaefa
3T H

26.4) ©F @ T aH f88, g Ssidt Sg-adt a3 It gy
HE3 36 |

(26.5) ©F I7 T &H 8, fAg It miedt degarg Afas T |
26.6) ©F g7 T W 88, fAg &J37 fsCafen =g use AfE3

Jd |
26.7) ©F IH T aH 88, g TIamyd Jo-As aayTsT AfE3
J I Ix5=5

421313 6
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SET-1

. 48/1/1
A

Roll No. Candidates must write the Code on
the title page of the answer-book.

Series JMS/1

Ay

Code No.

e P 146 gL (LIS EEy

el FUL R A G I L e e

- 26 )lﬂJéulré‘ﬂ,g4Jifiéélg .

A2 I I L gyl b SIS e

AP FE 1030 10,15 bWEZ. 10.15 Glo g Lee Mlcibe 15 L Loy 26y .
_E S A Lol g g Bl S Ly 24

e Please check that this question paper contains 6 printed pages + 1 Map.
e Code number given on the right hand side of the question paper should be written on the title page of the
answer-book by the candidate. '
e Please check that this question paper contains 26 questions.
e Please write down the serial number of the question before attempting it.
e 15 minutes time has been allotted to read this question paper. The question paper will be distributed
at 10. 15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the question paper only and will not

write any answer on the answer-book during this period.

VP
SOCIAL SCIENCE

(Urdu Version)
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: _-,.l:l,?rl;

e VYA D= ol Co ioB oA o 2llede Wi
i 26 St Wi

_U gt

-@Zé,;/iwavédv.gﬂ

30 Iz Lire Solke 67 1 et bzl sfenf 1o 1 Ay
-n,:«a;.l_./'c,uﬂ

sembie Ut 80 L8 Ll 3 F 18 < 8 Al
ssmbie U 100 26 e Loyl ? 5 F 25 = 19

26 326(B) se e $PEA 2 26(A) Gt 2nl e b 5 ¥ 26 A
e L YRR G ERL L Sk E e

A- 2
(liberalisation) ‘ A =% (sphere) % b»ut..;/wu»zidyg 2
1 -’cf:( ¢k (interpret) S
L

-éuy.fduiuﬂ.l}uﬁéffvd/?_wé (Mekong delta) l‘f.LJ..f;..&

1 | $in sl (3IF) GBS0 Autull
L
Shal Sy de pluti JL L St dew

u’db.‘:»%(uﬁj (over irrigation uﬁ.‘L.b.«T)d;tifu&)c;:auﬁuﬁ*Lf‘?
1 \ ?‘a/'w}éécﬁ (land degradation) )
l

?‘aﬂ:.dd:éﬁ (land degradation) .b;l/j;ldb&d/uﬁj /l".:):.‘

(a)

(b
©)

(d)
(e)

(9
(g)
(h)

S

48/1/1



Er Sgh G‘C b de (democratic reforms) b ol($m?2 /3L Uy f._:él,/?/}u' 4
AW@}J:&}.TJUQ,L (landless rural labourers) (Jas37(§es s jé— 5.
1 ' ?r‘_CCn,vi"”
L
S (Bl a2 e P
1 _ZE EOAE (U2 Uk $i  der e
1 S Sud LSl a L P e Pin 1.
B..>»
3x1=3 LB AL T AT LI 8.
b
-’cf:fwl)w’bfﬁu)f‘”g! (barriers) ui%uﬁ’»:’éé@]vﬁbﬂfftq:
U L b ft P LIPS (a1 2155 el SELE 0.
3x1=3 LB Y AL IS GG A
| &
?é’_‘Lm'Jllpc—(}l/"g_ﬁu:@(/}gfa;tufu:Z:dMu:rflu:?/g
LB YL AL U
3x1=3 -’:{uya.l:ar"ufﬁléfd/ (Rabi crop season) * (r‘éd’d@‘/ 10.
L

‘ -éuyc,gw’(nj&ﬁf (Kharif crop season) * (’rﬁJ‘Lég]"
3x1=3 2wk i e Frad IS UV T Frmmlien ot 1L

ERE
[=]

PO, 3 48/1/1




3x1=3

itl=3
2 L

3

3x1=3
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